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3| =RE I A 7 0.2 ERRT 5,991 [ 100.0% [E#:3E [Elhd 15,352 100.0%
AEIT 2EH 23 0.2 1 HET 2,452 | 100.0% [E&:3E NBH 6,377 100.0%
HEEET = [ BT 50 0.2 1 FEg 1,238 | 100.0% E#:3E JENGg 21,988 100.0%
e &AM 30 0.3 1 RERT 101 | 100.0% B3 EXn 5,012 100.0%
1E5 2 |5 EH 13 0.3 1 G 1,074 | 100.0% [E#:3E P 11,128 100.0%
8|ZRE [SZCHIES] 6 0.3 1 BRET 5,717 | 100.0% B3 LT 12,471 100.0%
9|REARIR EEJH’ 47 0.3 1 LEEH 4,369 [ 100.0% E#:3E S8R 287 100.0%
10| R AR By i 11 0.3 1 R 193 [ 100.0% B3 & RiRT 5,991 100.0%
1|EEE FHUEFS 133 0.3 1 ST 145 [100.0% [E#:3E HET 2,452 100.0%
12|Z2E 8 ﬁ%UJ/I\qﬂ;c&%ﬁA 19 0.3 1 FAET 427 ] 100.0% B3 P 1,238 100.0%
13| AR B S 30 0.4 1 AT NET 175 [100.0% [E#:3E NG 13,299 100.0%
14|BEEE EEEs 25 0.4 FE BT AT 249 [ 100.0% B3 EIEG 1,046 100.0%
15|88 R SEHT 136 0.4 1 FRET 980 [ 100.0% 1[dbEE =Rl 576 100.0%
16|ZRE @i 55 0.4 1 NE 1,064 | 100.0% B3 STRITH 8,654 100.0%
17| SHE B EFH1 121 0.4 1 K 5 ERET 285 [ 100.0% [E#:3E poan 455 100.0%
18|dLimiE HARiTET 253 0.4 1 STEHT 401 | 100.0% JIE#::3C AT 1,266 100.0%
19| =HE + 4 fEET 61 0.4 1 [ iR AT 234 [ 100.0% [E#:3E =Em 526 100.0%
20| 5512 ZEAL 60 0.4 1 Z ERET 206 | 100.0% 1[dEiEE BEm 1,624 100.0%
21|22 pyET) 42 0.4 1 B 5 BT 182 [100.0% [E#:3E Fikh 8,074 100.0%
2|25 E =BT 52 0.4 1 SHa 60 | 100.0% 1]dbiEE )il 975 100.0%
23|ZRE LA 35 0.4 1 Z ER AT 188 [ 100.0% [E#:3E I 1,074 100.0%
24[3tiE5E PIMES 53 0.4 1 B F A 196 | 100.0% [ E%:3Ed ERHH 1,488 100.0%
25| =508 pIIES 27 0.4 1 7% BIET 113 [100.0% [E#:3E ZRIH 3,020 100.0%
26|ZRIE & BH 51 0.4 1 TRABHT 214 | 100.0% B3 BT 5,717 100.0%
PSS [2EIED] 40 0.4 1 [ERER ] 1,191 [ 100.0% E#:3E FET 2276 100.0%
28[EME PN 109 0.5 1 & FHT 146 [ 100.0% B3 LEEH 4,369 100.0%
29[ @R BESRELEEREES 100 0.5 1 [ N 240 | 100.0% [E#:3E E=Eohi 4,592 100.0%
30[FEE 17 AT 273 0.5 1 FFHNF 95 [ 100.0% 1]dbiEE B[ 3,645 100.0%
31| =12 = BT 110 0.5 1 EA IR ET 434 [ 100.0% 1{dtimiE EVILN 846 100.0%
FANETSS FHE WA 24 0.5 1 ZFiTHT 288 | 100.0% B3 R 193 100.0%
33 hHEIE FE R R 98 0.5 1 5 JI[ET 118 | 100.0% 1{dtimiE B SRT 145 100.0%
34|EEE I 38 0.5 1 E{Z AT 294 ] 100.0% [E#:3E SN ET 427 100.0%
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46[LE HEATH 101 0.5 1 AT 659 | 100.0% 1]dLimE F T 188 100.0%
47]dtimE 8 )1 ET 118 0.5 1 = BEPET 802 [ 100.0% [E#:3E EENGLD 204 100.0%
48| ZRE L7 208 05 1 SEA 49 1100.0% 1]dbiEE B AL AT 286 100.0%
VERSE [ZBH 77 0.5 1 FNZHT 215 [ 100.0% [E#:3E =T 441 100.0%
50| 4k 58 XL 156 0.5 1 1] BT 244 | 100.0% 1]dLimE B 240 100.0%
51|dLEE FFNF 95 0.5 1 T JIIET 212 [ 100.0% [E#:3E B A4 196 100.0%
52|BEE KB IR AT 324 0.5 1 BT 133 [ 100.0% 1]dLimE R 113 100.0%
53[REARE T # 361 0.5 1 oh )1 T 83 [ 100.0% 1[dEmE SABET 214 100.0%
54| HHE E[ANES 75 05 1 5.0 R T 121 [ 100.0% 1]dbiEE BERET 1,191 100.0%
55[FXH 2 J\ I ET 326 0.5 1 HEEH 229 | 100.0% [E#:3E HEFNET 401 100.0%
56|dt:EE B HR AT 384 0.5 1 INFRT 167 | 100.0% [E#:3E S RET 751 100.0%
57[dtiEE |1& E /T 229 0.5 =& A BT 186 [ 100.0% [E#:3E pEED] 99 100.0%
58[fAEHE EEL 140 0.6 1 EINTGES] 53 | 100.0% 1]dLiEE wE RN 45 100.0%
59| L2 - RAET 94 0.6 1 32 7| BT 162 [ 100.0% 1{dtimiE TRFHET 93 100.0%
60|ESE & R ET 51 0.6 1 R 230 | 100.0% [E#:3E & AT 146 100.0%
61|FILIIE fmRIH 1,950 0.6 1 S E Bl BT 207 | 100.0% [E#:3E = RHET 240 100.0%
62| FLLIE A 64 0.6 1 o 8 51 B 91 | 100.0% 1]dbiEE Eil 1,150 100.0%
63|dLEE iz I 1 162 0.6 1 F R = T BT 177 [100.0% 1]dEEE FFFIIF 95 100.0%
64[dtiEE FlR =LA 177 0.6 1 S 3IE BT 177 | 100.0% B3 A 5 AT 434 100.0%
65[F 52 FRHET 175 0.6 1 | £ 1R BT 1,318 [ 100.0% [E#:3E ZFHITH 288 100.0%
66|25 A2 BRAT 249 0.6 1 BT 839 | 100.0% B3 L&D JI[ET 118 100.0%
67[ESE ECINIT:53 164 0.6 1 SEEE 301 [ 100.0% [E#:3E R {Z BT 294 100.0%
68| Ff L& KT A A 83 0.6 INEIKET 334 | 100.0% 1]dbiEE RIiBHT 719 100.0%
69[ILFIIE FEEERT 318 0.6 1 B FE 162 [ 100.0% [E#:3E EJNH 735 100.0%
70[f0RILIE [ AHhET 124 0.6 1 BT 499 [ 100.0% [E#:3E B i HT 134 100.0%
T FNFLE [ EE)IET 175 0.6 1 EETET 266 | 100.0% [E#:3E SEETRT 120 100.0%
2|EHE EEAR 42 0.6 1 A EER A 60 | 100.0% 1]dbiEE 42 )1 BT 462 100.0%
73| =02 BEH 201 0.6 1 EFHT 290 [ 100.0% [(E&:3E 55 4 BT 164 100.0%
IAGETSY EA=1ES] 124 0.6 1 Z2HT 587 | 100.0% 1]dbiEE T RIET 128 100.0%
75| ZEE R ET 442 0.6 1 1 568 AT 415 | 100.0% [E#:3E R 142 100.0%
16|ZRE +2)IE 145 0.6 1 FRAUET 237 | 100.0% B3 LR 95 100.0%
77| mEAF HERAEBES 320 0.6 1 FOEHET 1,549 [ 100.0% [E#:3E 38 E BT 147 100.0%
18| EEE + ST 312 0.6 1 IR HET 661 | 100.0% 1]dbiEE i 45 T 548 100.0%
IEHE KEEH 33 0.6 1 - iRET 352 [ 100.0% [E#:3E 2 FRET 424 100.0%
IIEFE BR A RBA D ERE S 72 0.6 1 FEBET 474 1100.0% JIE#::3C e AT 231 100.0%
81[dtimE 4 5 287 0.6 1 EOKET 658 [ 100.0% [E#:3E % 7| BT 156 100.0%
2|EEE =S 233 0.6 1 EET0i 1,719 [ 100.0% 1[dEiEE £ JITET 165 100.0%
83| REFIE EAH 335 0.6 1 AL A 343 [100.0% 1{dtimiE EIILN 691 100.0%
84[dtiEE F LR 108 0.6 1 T 2,104 [ 100.0% 1]dbiEE = R R 398 100.0%
85[dtimE 12 ST 145 0.6 1 ALl 184 [100.0% 1]dEEE F= R EHAT 180 100.0%
86| dL:EE ESE30] 659 0.6 1 2 B BT 395 | 100.0% B3 SR 49 100.0%
87[dtimE ZHT 587 0.6 1 EZFHT 479 [ 100.0% [E#:3E FNZHT 215 100.0%
88|ZE 35401 379 0.6 1 SH AT 285 | 100.0% 1]dbiEE 1] BT 244 100.0%
89[REFIE EXo] 63 0.6 1 £ 2% BT 1,307 [ 100.0% E#:3E TIINET 212 100.0%
90[dtiEE SE7KET 658 0.6 1 =L Li 384 | 100.0% 1]dbiEE = RET 270 100.0%
ot [EHE B 243 0.6 1 JIN=] 16,391] 100.0% [E#:3E BETFREH 133 100.0%
[AE#:3E] R 230 0.6 1 +FEH 4,094] 100.0% 1]dbiEE oh || BT 83 100.0%
NESE EIES 220 0.6 1 5 R BT 70[ 100.0% 1[4t imE #5250 PR BT 121 100.0%
94[dtiEE A NHET 175 0.6 1 5} 4 M 212] 100.0% 1]dbiEE EER 229 100.0%
BIERE JEH 33 0.6 1 BEEH 67]100.0% [E#:3E /BT 167 100.0%
96| Z 512 2iEH 51 0.6 1 EES L 534] 100.0% B3 = AT 186 100.0%
97|ZRE = FHT 274 0.6 1 5 FH BT 843] 100.0% 1{dtimE IR ET 442 100.0%
98|t 8 ELERET 266 0.6 1 tFH 929] 100.0% B3 PG 53 100.0%
99[dtimE #E N 45 0.6 1 N7 FE 688[ 100.0% E#:3E 32 7| BT 162 100.0%
100|=RE Ty 220 0.6 1 B E A 92] 100.0% B3 KiGHT 203 100.0%
101]dbE5E EHIES 243 0.6 1 AL 111] 100.0% 1{dtimiE EEE7RTH 230 100.0%
102|BEEE A 239 0.6 1 EFE 26,420( 100.0% 1[dEiEE SEE BIRT 207 100.0%
103| =i I8 LI ST BT 684 0.6 1 AT 2,507] 100.0% E#:3E LEH 254 100.0%
104| FEE MEERAEE 43 0.6 1 —PFm 1,707] 100.0% B3 FL3CHT 159 100.0%
15[ 88 ST 3,189 0.6 1 J\IEFH 1,438] 100.0% [E#&:3E Fi| 5L ET 108 100.0%
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17| RELE & {5 d R ET 678 0.6 1=HE + ~ HET 61] 100.0% B3 Z2HT 587 100.0%
118[dLimE SEERT 285 0.6 1 EHWE Af B ET 730] 100.0% [(E&3E 2 HET 206 100.0%
119[AER IR SKINBT R G Tl ch SRR A 122 0.6 1=2HE 45 A AT 2,801 100.0% 1]dbiEE AT 225 100.0%
120| REHE EEN 27 0.6 1 EHWE FI| FF BT 3,362] 100.0% E#:3E B Z By 771 100.0%
121]db 58 RN 193 0.6 1| =HE £ R 533] 100.0% B3 [EER 362 100.0%
122|db /B8 KIGHT 203 0.6 T JIET:N 1,579] 100.0% 1{dtimiE e 5% o T 432 100.0%
123| EHE VLS 129 0.6 1=ZHE EXELH 1,693] 100.0% 1]dbiEE = 498 100.0%
124|5F8 EEPET 956 0.6 1S FET 21,091] 100.0% [E#:3E T AVDET 460 100.0%
125|ZE 2 Z AT 1,113 0.6 1| E KEET 4,355] 100.0% 1]dbiEE = AT 855 100.0%
126 [dLiEaE T AMDET 460 0.6 1S BEm 1,218] 100.0% 1]dEmEE S Hy BT 364 100.0%
127[deiEE e taal 164 0.6 1|BEE BRI AT 5,089] 100.0% 1]dbiEE 3 AT 415 100.0%
128|Z R I8 SR ILHET 577 0.6 1S BEW 2,126] 100.0% E#:3E S AT BT 801 100.0%
129|5F 8 BEE 292 0.6 TS [SANES: 1,551] 100.0% [IE#:3E HRALUET 237 100.0%
130[RER T{= HET 249 0.7 1|FEE /NS BT 246 100.0% [E#:3E ZY HHET 459 100.0%
131[EEARE =E[A:0] 1,096 0.7 1|BEE EELS 140( 100.0% 1]dbiEE FOTHET 1,549 100.0%
132 | 4D | 58 % EEEY 215 0.7 1S ERA=L0 408[ 100.0% [(E&3E 3 iR ET 352 100.0%
13| HEE AN 998 0.7 1|#EE J\ B ET 304] 100.0% 1]dbiEE B HT 474 100.0%
134|F030ILIE | EFET 132 0.7 1|FEE FHI1ET 245[ 100.0% E#:3E FISHT 374 100.0%
135 | KBR FF S HERT 867 0.7 1| EE Kt 247] 100.0% B3 B KET 658 100.0%
136 [ILfiZ 12 EEJNLE] 463 0.7 1S SIERET 1,208] 100.0% E#:3E EE] 1,719 100.0%
137]dt 38 SLEAT 184 0.7 1| E Y% Lol 139] 100.0% B3 o LR 343 100.0%
138 FER ZILIET 443 0.7 A A 18,672] 100.0% s EEs 243 100.0%
139| RIGE ik ind 1,827 0.7 A= T 3,238] 100.0% 1]dbiEE NG 402 100.0%
140| REFE NAF 168 0.7 IR ﬁu.lru 1,465] 100.0% 1{dtimiE YL 2,104 100.0%
1M|EEE 4 70  [5 AT 485 0.7 A EHm 1,837] 100.0% 1]dbiEE sth R BT 338 100.0%
142| X578 |3E & 41 92 0.7 A RIRH 3,943[ 100.0% E#:3E SLEET 184 100.0%
143[F LR [dE LA 25 0.7 1Lz 8 EfEiR®T 9941 100.0% 1]dbiEE 2 BT 479 100.0%
144| B EE EHEN 204 0.7 IR o 1L BT 747 100.0% [E#:3E i 71| BT 142 100.0%
145| EEE )1 BT 806 0.7 [INEASY 74 [ BT 310] 100.0% 1]dbiEE SR AT 285 100.0%
146 [t iEE e 196 0.7 A EIIL} 368[ 100.0% E#:3E S| 2% BT 1,307 100.0%
147 | HATH HESH 167 0.7 1z g & EAT 577] 100.0% B3 EEHT 614 100.0%
148|dLimE 1k = T 342 0.7 A EEJI 463[ 100.0% E#:3E EEN] 569 100.0%
19| EHE FIRERM 217 0.7 1R E PN 229]100.0% B3 o F JE BT 426 100.0%
150|818 D5 EFH 411 0.7 [NEAS fiE )1+ 241( 100.0% 1[dLiEE EEFR 202 100.0%
151 EHE B EA 92 0.7 IMEASY FiR# 245] 100.0% 1]dbiEE =L i 384 100.0%
152| REFIE AEH 59 0.7 1{u oLl 1,828] 100.0% 1{dtimiE 122 8T 381 100.0%
153|=RE Fe 1,725 0.7 1 & FE BT 963] 100.0% B3 FEETAT 343 100.0%
154|#FJIIE | EERHET 307 0.7 1 AL 24,461] 100.0% 1 EHRE EHE 26,029 100.0%
155[ S %082 EESd 1,561 0.7 1 — AT 3,745] 100.0% 1 EHE Eih 19,382 100.0%
156 [JLiEaE EF3i 270 0.7 1 EXil 797 100.0% 1 EHRE BL BT 10,325 100.0%
157| S EE T I BT 123 0.7 1 = R AT 528] 100.0% 1| EHRE N 16,391 100.0%
158|F0FRILIE |42 K Er T 394 0.7 1 R A 38] 100.0% 1 EHRE 2RH 2,039 100.0%
159|BEE R 11544 260 0.7 1 FaRERT 290] 100.0% 1| E5HE E N 3,276 100.0%
160 | B4R KX 4,758 0.7 1 K2R THT 1,060| 100.0% 1| EHRE =R 3,148 100.0%
161 EHFE b A ET 536 0.7 1 HIE AT 199] 100.0% 1| EHRE Lo 3,848 100.0%
162|XB 8 | fE Al T 1,250 0.7 1 = 52| 100.0% 1 EHRE 2h BT 1,916 100.0%
163| FEE B R FHET 1,384 0.7 1 [ZEED 40] 100.0% 1| EHRE F)IIh 2,074 100.0%
164 L iEE = KHET 240 0.7 1 7 A 1,655| 100.0% 1| EHRE T R ET 617 100.0%
165|BE RIS F17K BT 613 0.7 1 P EH 418] 100.0% 1| EHRE 4 BIET 70 100.0%
166| = L2 B T 616 0.7 1 F H A 4291 100.0% 1 EHRE LS 187 100.0%
167 #EIE EX0 126 0.7 1 AL 490] 100.0% 1| EHE 5% 47 SEET 212 100.0%
168|212 o= AT 290 0.7 1 L 382] 100.0% 1 EHRE £8 o JRET 477 100.0%
169 [t iEiE SHETRT 120 0.7 1 =& 1,189] 100.0% 1| EHRE ZRIHAT 348 100.0%
170[dLmaE S FNET 401 0.7 1 /NEFET 699[ 100.0% 1 EHRE 7 EEH 67 100.0%
MEEE J\EEHRT 662 0.7 1 TR E7 T 2221 100.0% 1| EHE KEZET 405 100.0%
172|%@H#HE FA RS AT T 752 0.7 1 RIEE 136 100.0% 1 EHRE A & fE 534 100.0%
173[4LiEiE e AT 442 0.7 1 EEL 50] 100.0% 1| EHRE ARAIET 817 100.0%
174|EEREE | KIFHET 897 0.7 1 JUA#E 711 100.0% 1 EHRE fE=Ll 843 100.0%
175|BE K2 KEFE 177 0.7 1 A REHT 12] 100.0% 1| EHE o A BT 536 100.0%
176 [dLimE L R ET 424 0.7 1 pYET) 42[100.0% 1 EHRE 2710 3th BT 782 100.0%
177|188 iz BT 792 0.7 1 BEH 13] 100.0% 1| E5HE tFH 929 100.0%
178[dLimaE B8 I BT 207 0.7 1 T 624 100.0% 1 EHRE TR 248 100.0%
19|BEER R 320 0.7 1 fREEHT 65 100.0% 1| EHE ] 1,112 100.0%
1804t 8 W) 182 0.7 1[2 FE/7 I T 5,488] 100.0% 1| EHRE 7N & Akt 688 100.0%
181|BEEE A 588 0.7 1[3 TEh 3,291] 100.0% 1| EHE HLV S EHET 2,085 100.0%
182|RERIE s E YR 1,303 0.7 [IE R FH 6,765] 100.0% 1| EHRE B 428 100.0%
183k B 18 =TIIES 114 0.7 1]3 2L IEH 21,243] 100.0% 1| EHE R A 92 100.0%
184[REAR IR EHET 468 0.7 [E AP 7,356 | 100.0% 1| EHRE {EHH 84 100.0%
185 | L2 HEM 2,682 0.7 1]3 SRR T 3,955[ 100.0% 1| EHRE =FHr 595 100.0%
186 [dLimiE EVILN 846 0.7 1]3 NETHHS 5T 2,987( 100.0% 1| EHRE E=ll 963 100.0%
18715 FE f. L] 426 0.7 1]2 IAm 2,198] 100.0% 1| EHE P& _E BT 800 100.0%
18835 EE 2 FEET 2,079 0.7 [E RIRHET 2,164]100.0% 1| EHRE FAT 111 100.0%
189| REFE IR AT 105 0.7 1]3 5, BT 1,140] 100.0% 1|EFE EFR 26,420 100.0%
1908 [Z R R ET 234 0.7 1[2 FEN 3,468] 100.0% 1E5FE BEfE 21,778 100.0%
191 [EEE B S AN BT & 147 0.7 12 $a] A BT 420 100.0% 1=F2 A 2,188 100.0%
1924 iEE & 5 &AL 285 0.7 1]3 hE 519/ 100.0% E=E) it 6,807 100.0%
1934t 38 FEER AR AL 60 0.7 1 EH 8,212] 100.0% 1=F2 AT 2,507 100.0%
194[4& 2 Pl 273 0.7 1 XHET 5,314] 100.0% 1E5FE =B 1,736 100.0%
195[F08ILIR [5G EET 862 0.7 1 P i 2,181]100.0% 1|5FE —Bih 7,808 100.0%
196| SRR EZT:0 343 0.7 1 < 3,782[ 100.0% 1| 5F8 [l = H T 1,066 100.0%
197 | RIGE /IMiE 2 BT 126 0.7 1 THh 4,765] 100.0% 1|5FE ZAH 1,948 100.0%
198|RERIE FR A BT 845 0.7 1 25 FHT 1,727] 100.0% E=ESY —_F 1,707 100.0%
199|F0FLIE | & ARHET 767 0.7 1 FER 1,242] 100.0% 1=F2 J\E 1,438 100.0%
200[#2 (2 ) 1,235 0.7 1 FAH 3,089] 100.0% 1|5F8 B T 8,304 100.0%
201 [t S| AT 244 0.7 1 &S HT 655] 100.0% 1=F2 R 4,825 100.0%
202| REHIE NI E A 256 0.7 1 BB T 4,693| 100.0% 1|E5FE BAH 292 100.0%
203|EiR 2 FAEF T 206 0.7 1 =5 AT 2,072] 100.0% 1|5FE ST 763 100.0%
204[5F 2 PRl 5 F 1 1,066 0.7 1 L B4t 631 100.0% E=ESY SIRET 2,551 100.0%
205[EWME FriE st 331 0.7 1 R AT 44]100.0% 1|5FE & By 2,170 100.0%
206 | @ 1112 K AT 862 0.7 1 T{—EHEL 249[100.0% 1E5EFE 7 1% BT 251 100.0%
207|dbimE T EHE 479 0.7 1 At 25(100.0% 1|EFE £ /7 I BT 1,170 100.0%
208[E 52 H)E AT 199 0.7 1 EE1 901[ 100.0% 1E5FE SR BT 538 100.0%
209 EiE 12 FHSH 4571 0.7 1 T 588] 100.0% 1|EFE £ HET 265 100.0%
210| REHIE =+ RHET 1,102 0.7 1 EZET 320[ 100.0% 1E5FE AHEHT 718 100.0%
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212|RNE JIEA:] 720 0.7 1 JI5H 260] 100.0% 1|EFE = RAT 492 100.0%
213|FNERILIE  [mymasmrhysEs 171 0.7 1 (RS 512[ 100.0% E=E) R 25 1A+ 228 100.0%
214]4818 Bt 969 0.7 1 FFTET 2,569] 100.0% 1| EFE R 147 100.0%
215[= B2 FEREA 92 0.7 1 BAF0ET 839( 100.0% E=ESY K 535 100.0%
216[BF 2 BRFIAL 512 0.7 1 BEE 118,995 100.0% 1|&5FE [G1=ES 278 100.0%
217|438 B = B 855 0.7 1 THM 5,516] 100.0% 1E5FE AEH 358 100.0%
218|HJIE M 629 0.7 1 PR 24,203] 100.0% 1|&FE EETET 956 100.0%
219[RE AR DTS 698 0.7 1 EaT 10,936[ 100.0% 1|5F8 —FHr 710 100.0%
22054812 5 38 [ BT 2,160 0.7 1 tE® 16,784 100.0% 1 =HE =HE 41,589 100.0%
221|EE 2 #FH 2813 0.7 1 Bath 26,349] 100.0% 1 EHWE =il 80,562 100.0%
222|=F 12 BAhH 1,103 0.7 1 B’ 4,415] 100.0% 1=HE a&h 10,121 100.0%
223 =R 2 H Z 22 BT 247 0.7 1 FHTH 11,666 100.0% 1 EHWE ST 3,521 100.0%
224 |4t imE ST 401 0.7 1 EELd 10,826 100.0% 1=ZHE SALBT 3,665 100.0%
225[RERIR it 3925 0.7 1 Ep it 6,185] 100.0% 1 EWE =kt 2,251 100.0%
226 | KR AT AFHT 988 0.7 1 =t R 8,438 100.0% 1=HE % B 7,534 100.0%
227[1ZE R BRh 4,387 0.7 1 =l 6,542] 100.0% 1 EWE A HETH 2,035 100.0%
228 RER mdhb LhmNATHEE 438 0.7 1 E=T: 2,045] 100.0% 1 =HE EXCt A 4,968 100.0%
229|fEE IR EXG30) 167 0.7 1 5 A T 668 100.0% 1 EHWE P=hehinl 3,840 100.0%
230 Jt i S 1,624 0.7 1 2 LU BT 1,071] 100.0% 1|=HE FREM 4,288 100.0%
231 [fZ)IIE | FEARHT 442 0.7 1 VLS 1,602] 100.0% 1 EWE RS 3,103 100.0%
232|=RIB RIEET 408 0.7 1 = RHET 1,042] 100.0% 1=HE pNGL 9,665 100.0%
233| EEIR Bk 2,156 0.7 1 8 LLI BT 643[ 100.0% 1 EHWE EAT 5864 100.0%
234|FNIE NN 815 0.7 1 (i L 583] 100.0% 1| =HE EBEH 789 100.0%
235|402 EA0] 228 0.7 1 & EPHT 651 100.0% 1 EHWE K ju] JER BT 1,979 100.0%
236|112 =EH 1,732 0.7 1 =510 426] 100.0% 1=2HE +f EH BT 730 100.0%
237[E5FE =Eh 1,736 0.7 1 /NEE B ET 806 100.0% 1 EHWE =L 2,801 100.0%
238|dbimiE EJEG 1,046 0.7 1 RERXH 126] 100.0% 1=HE JI1 0 T 525 100.0%
239 EER EHhbolh 3,059 0.7 1 - B H 2,403] 100.0% 1 EWE A FRHT 751 100.0%
240 | AL RT BEfm 2,109 0.7 1 HFER 2,079] 100.0% 1|=HE B IRHT 2,499 100.0%
241|fEE R G 450 0.7 1 = AHET 2,197] 100.0% 1 EWE LLi 5T BT 684 100.0%
242X EHIE JTE[As: 1,537 0.7 1 FEM 71,867] 100.0% 1=ZHE [NELN 800 100.0%
23[ERBE  |BmAMTE 2,352 0.7 1 skFh 4,160{ 100.0% 1 EHWE + & iERT 1,331 100.0%
244| =R FIIES 66 0.7 1 Nt 50,603] 100.0% EET I 7F BT 3,362 100.0%
245| R B 25 547 0.7 1 *E;?.Fﬁ 10,704 100.0% 1 EHWE K FNET 2,589 100.0%
246 RBFE B 448 BT 725 0.7 1 [ 782] 100.0% ETY A 527 100.0%
247|ZRBIE A - SR TR 339 0.7 1 LT 16,380[ 100.0% 1 EHWE £ FRET 533 100.0%
248|ZIE 12 BRh 2,666 0.7 1 NFHRT 15,491] 100.0% EET pIET] 1,579 100.0%
249 |4t im8E | 1 e RT 661 0.7 1 FtrFH 9,069] 100.0% 1 EWE AAE 1,012 100.0%
250[F0FULE  [HhD 5 FHT 1,057 0.7 1 - S it 8,136/ 100.0% 1=HE EXLH 1,693 100.0%
251|dbimE S ] T 801 0.7 1 ENFE M 9,619]100.0% 1 EWE 21 BT 299 100.0%
252| REFI2 FRAEAL 147 0.7 1 W A 2,177] 100.0% 1| =HE = BT 750 100.0%
253|dbimE | #L B T 1,266 0.7 1 AHEEET 3,365] 100.0% 1S FET 21,091 100.0%
254| EHE T (R HiT 617 0.7 1 AT 1,070] 100.0% TS R 3,009 100.0%
255 I 212 BIh 3,747 0.7 1 X1 856 100.0% 1|FEE it 5,695 100.0%
256|dbiEE [RCL0) 474 0.7 1 B FE BT 861] 100.0% 1|BEE KEET 4,355 100.0%
257 IO R WOg 24,572 0.7 1 = ILIET 443]100.0% 1[FEE Bt 1,218 100.0%
258 | BUIR AR BX 12,009 0.7 1 —=HT 975] 100.0% 1| EE SR 2,440 100.0%
259|408 %0 BT 284 0.7 1 B AT 432[ 100.0% 1|FEE EAT 1,996 100.0%
260|fE 52 —RHTh 3,745 0.7 1 BN 909] 100.0% 1|BEE BRAET 5,089 100.0%
261|=IFE VR 3417 0.7 1 B FH 643 100.0% 1|FEE MLt 2,126 100.0%
262 A )IIE BEZHT 781 0.7 1 EARET 344]100.0% 1| E Kl 5,092 100.0%
263[ FEE B T 432 0.7 1 REAT 377] 100.0% 1|FEE L FkETH 1,678 100.0%
2641 B 12 £ RET 193 0.7 1 SER AT 346 100.0% 1[FEE [ENES 1,551 100.0%
265|FER — =T 975 0.7 1 RS 43| 100.0% 1S /MR ET 246 100.0%
266 [ A 2 %B«E%mm 1,674 0.7 1 FRHEKX 4,758] 100.0% 1| EE N A 84 100.0%
267(8 52 ZEHT 1,189 0.7 1 R X 9,144] 100.0% 1R =T 834 100.0%
268 EHE E=li 963 0.7 1 BX 12,009] 100.0% 1|[fEE J\IEHT 326 100.0%
269| HHE BmEEN 67 0.7 1 XX 11,963] 100.0% 1|FEE 35 B BT 408 100.0%
269| =012 B[R BT 201 0.7 1 SHK 14,143] 100.0% 1| E J\BR R ET 304 100.0%
271|438 il 498 0.7 1 PEFX 13,285[ 100.0% 1S EINLN 245 100.0%
22| EER P i) 2,969 0.7 [EFE it X 27,929] 100.0% 1| RS ikt 247 100.0%
273| EER N 2,947 0.7 1| R EB FIX 12,214]100.0% 1|FEE S IERET 1,208 100.0%
274|R1LIE EL 301 932 0.7 1| ER IR 49,327] 100.0% 1|BEE Pl ET 903 100.0%
275|REARIR EXEMR 1,705 0.7 1| R EB NEFH 39,877| 100.0% 1S EG% Lol 139 100.0%
276|FE'R B2 [RF{HHT 1,010 0.7 1| ER =R 12,633] 100.0% A A 20,761 100.0%
27T7|RHE A4EH 195 0.7 1| R EB EEL 13,560 100.0% A ikl 18,672 100.0%
278|1BFE /B B BT 806 0.7 1| ER Bl 10,820] 100.0% 18 KR 5,958 100.0%
279|dbimE 35 HRET 188 0.7 1| R EB Bl 4,492] 100.0% A B 8,944 100.0%
280|582 RIBF 557 0.7 1| ER Eth 10,075] 100.0% 18 SEMA T 6,825 100.0%
281 |FNERILIE  [HEm 3,138 0.7 [ESS H 1,534] 100.0% A EmiTh 3,238 100.0%
282 [#FiR 2 BAT 1,970 0.7 1 76] 100.0% [AMEA Ll 1,821 100.0%
283|{£AH 2 EEE 20,718 0.7 1 215( 100.0% A i 1,465 100.0%
284|548 12 EARM 129 0.7 1 32| 100.0% [AMEA EHm 1,837 100.0%
285| HHE = FHT 595 0.7 1 167]100.0% [NEAS XEM 4,857 100.0%
286| iR 12 FwEh 8274 0.7 1 110] 100.0% 1R e HiRH 3,943 100.0%
287|dbimE {E51 2T 1,191 0.7 1 30] 100.0% IR EitRT 994 100.0%
288|F I 2 EEd) 514 0.7 1 11] 100.0% [AMEA o 2234 100.0%
289 1L 12 FHHSET 345 0.7 [lEES 51,476] 100.0% [MA 1L BT 1,133 100.0%
290|dtimE FZERT 215 0.7 1]# 27,773 100.0% AR o Ly BT 747 100.0%
291| B ERIE £ SEHT 736 0.7 1|4 11,864] 100.0% A SAT AL BT 1,290 100.0%
292(E5 8 EXil 797 0.7 1] 10,600] 100.0% A 75 ) 1B 310 100.0%
293|dbimE SN 142 0.7 1|4 9,253] 100.0% [MA L 389 100.0%
204| B PETH 1,300 0.7 1] %4 3,101] 100.0% 18 A G HET 423 100.0%
PEHE S A F BT 1,094 0.7 1|4 3,846] 100.0% A & LLIET 368 100.0%
296 | BIR AR 285K 11,484 0.7 1] 1,348] 100.0% 18 & EAT 577 100.0%
297 IO 2 £ 1,393 0.7 1|4 631] 100.0% [MmA Fit#s 345 100.0%
208[HZ)IIE  [chHAT 626 0.7 1% 442]100.0% A EEIN] 463 100.0%
29[ REFE TAH 24 0.8 [E® 1,644] 100.0% A AEH 229 100.0%
299 K2 ASFH 327 0.8 1] 33 2,843] 100.0% A [EINES 241 100.0%
299|EIREIE  [FIABRAT 414 0.8 [ET 5,684] 100.0% A FiRH 245 100.0%
302|dtifEiE AL A 343 0.8 1|53 2,954] 100.0% AR =8 1,828 100.0%
303[fXEHE [SNESH 1,551 0.8 [ 2,321] 100.0% IR J11 7 BT 1,034 100.0%
304[ S ERE BER 815 0.8 [ET 1,970] 100.0% 1R e /MNE T 484 100.0%
3053t NE 1,064 0.8 = 713[ 100.0% IR £ S BT 963 100.0%
306[ILfZ 12 FiR# 245 0.8 ET 480] 100.0% [INEASY S8 506 100.0%
307|FEE REH 909 0.8 [ET 251( 100.0% [NEAS = I 601 100.0%
308|HJIE o BB 2 AT 1,322 0.8 HET 504] 100.0% [INEASY FERET 1,464 100.0%
309U IR FEINESH 241 0.8 [E® 337/ 100.0% [NEAS 3 {2 BT 803 100.0%
310|153 F 8 [E Ll 583 0.8 1[303 317] 100.0% = 'ET 18,976 100.0%
31[FIFKILE  [Fr=h 1,851 0.8 HET: 30 100.0% 1ESE KEFNT 8,608 100.0%
312|BkEHIE /MR ET 246 0.8 [ 2,778] 100.0% 1|ESE ALl 24,461 100.0%
313|IF B8 BERNFRERRETES 200 0.8 HEN 2,809 100.0% 1ESE WhEh 24,372 100.0%
314 RHE EiEHRT 471 0.8 1= 1L 2,475[ 100.0% = =hokit 4,668 100.0%
315| AR FEFX 13,285 0.8 1= 3,088] 100.0% 1EEE BBIH 6,118 100.0%
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BEEANIELN FRICETHELICTIRIEDEMINR (1)
OHEBERAIVEL—I1EHT-YDIREEEH RISIIRIE QT BEHEDEMLANE R RIJIRE R F—Fyb (30MbpsLlt) R33IIRTE
G |ER BRI [BREER RELEH] AE [ER [BEFES [FE REEREH % | JEf | BRE R4 (B EE R REEFH%
316[RIIE A BT 2,191 0.8 &l [ i 3,909 100.0% 1|EEE E%AH 3,255 100.0%
317|252 ZIR 2,836 0.8 [T INEERTH 1,908] 100.0% 1|ESE HET 2,829 100.0%
318|=HRIZ +f FH BT 730 0.8 1| &L gtk 7,310] 100.0% 1ESE . Nt 3,745 100.0%
319| R J\CHT 479 0.8 1A SFIVET 1,300] 100.0% 1|ESE [EESi 2,416 100.0%
320[SiRE ALl 334 0.8 [EST Famhm 4,842]100.0% 1ESE Lk 3,189 100.0%
321|BEAR EZEL 552 0.8 fE=T JIAL BT 720] 100.0% 1|ESE RET 3,899 100.0%
322|ZRIE EEEL: 361 0.8 [EST LT 3,255( 100.0% 1ESE =T 2,536 100.0%
323|KHE R 2573 0.8 fIE=T FiE G KA 777] 100.0% 1|ESE EXil 797 100.0%
324|FNERILIE  [HDH 5,200 0.8 1Al HRE B ET 1,322] 100.0% 1ESE =] 5 BT 528 100.0%
325| RHR /NEET 159 0.8 1B INUKET 388/ 100.0% 158 JIZ AT 696 100.0%
326[=F 2 K S LB ET 414 0.8 1EHE BHT 20,071] 100.0% 1|ESE KEH 792 100.0%
327|RBE T ImEARHT 1,341 0.8 1|EHE PN 2,204] 100.0% 1|ESE ERET 1,076 100.0%
328| EER ELN 1,392 0.8 1|48 Bt 6,459] 100.0% 1ESE EEH 368 100.0%
329|EER AT By 780 0.8 1[3E# fid 7,608 100.0% 1|ESE T ERET 335 100.0%
330| k38 1R 381 0.8 1[EH 752] 100.0% 1[EEE TER IR AT 38 100.0%
33| RHFE L+ At EAAT R RAS 210 0.8 1 768] 100.0% 1|ESE HRHT 239 100.0%
332|IX B8 Bt 8,004 0.8 1 706] 100.0% 1|ESE S o0 947 100.0%
333| EEIR FHE T 4,748 0.8 1 1,177] 100.0% R LG R4 188 100.0%
334|REARIR /NEN T 421 0.8 1 2,072] 100.0% 1ESE i3 d000 290 100.0%
335| EH 2 WLy / RET 669 0.8 1 96] 100.0% = A RRET 249 100.0%
336| SR I2 MR 39 0.8 1 318( 100.0% 1|ESE AT 910 100.0%
337| M2 HEh 3,494 0.8 1 855/ 100.0% 1|ESE £ERTH 1,060 100.0%
33| REFE ST F} AT 437 0.8 1 355[ 100.0% 1|ESE LR 251 100.0%
339| KRR AF EEIT 15,993 0.8 1 145] 100.0% 1|ESE HIE AT 199 100.0%
340|128 FH 12 = T 768 0.8 1 48] 100.0% 1ESE = BHT 52 100.0%
341| KR AF BAMH 4,303 0.8 1 3 F 24]100.0% 1|E8E £ 1LAT 48 100.0%
342\ KRS iR 2,181 08 1 *"Lr A O 9 P A A 546 100.0% |Ess [ZEES] 40 100.0%
343 4timE L= REHT 802 08 1 EHE & 2 71 3,556 100.0% 1|EBR SIEXEHRT 1,323 100.0%
344 1LAE JEIPN=T:] 618 0.8 1| R%HE SR 7,990( 100.0% 1ESE 7 A 1,655 100.0%
345[ILFE BEHH 855 0.8 1| EHE FHm 4,390] 100.0% 1|EEE SR # 557 100.0%
346 [t iiE Il 1,074 0.8 1EHE BRT 4,950[ 100.0% e FEH 418 100.0%
347|5F 8 SR ET 538 0.8 1| E%HE N RT 159] 100.0% 1|ESE &R BT 1,350 100.0%
348U IR EBAEiRM 994 0.8 1 EHE B 217/ 100.0% 1ESE =L 1,109 100.0%
34912 i 2 At 86 0.8 1 EHE JeEARH 53] 100.0% = REET 390 100.0%
350 Ix 212 B 1,833 0.8 1 EHE {E ATERT 745| 100.0% 1|ESE 5 575 100.0%
351 [ REHE BEH 619 0.8 1 EHE =L RAT 1,102 100.0% = fRINE 220 100.0%
352| FEIE FEM 71,867 0.8 1| R%HE [GE5i 656 100.0% 1|ESE E=il1 992 100.0%
353|FIE %1 BT 1,653 0.8 1| EHE REFHET 1,304] 100.0% 1|ESE EJNES 522 100.0%
354 LEE AEEFHET 1,930 0.8 1 EHE HERHET 2,036] 100.0% 1ESE F H A 429 100.0%
355 TR AL AT A {0 LLI BT 1,128 0.8 1| EHE L] 649] 100.0% 1|ESE AL 490 100.0%
356 [#TiR 2 #eth 5,684 0.8 1| R%HE EAH 241 100.0% 1ESE o R AT 382 100.0%
357| kIR 2 AFH 847 0.8 1| EHE [EELS 381 100.0% 1|28 =& 1,189 100.0%
358 | ki SUBHET 214 0.8 1 EHE FEAH 43[100.0% 1ESE [LEF BT 222 100.0%
359[IF B2 EEH 1,436 0.8 1| EHE XEEH 33 100.0% = FRZERT 136 100.0%
360| R AB BEKX 12,744 0.8 1| EHE BAH 538/ 100.0% 1|EEE = [ BT 50 100.0%
361[IFFE 78 LI BT 643 0.8 1| EHE REEH 59]100.0% 1|ESE JIAH 7 100.0%
362| FRE 12 R T 2 R 381 0.8 1 EHE AtH#H 195] 100.0% 1|ESE K HERT 12 100.0%
363|512 /l\ErEﬂT 699 0.8 1|EHE & 27]100.0% 1|ESE P EN 42 100.0%
364[FTRE BEMH 2,954 0.8 1| R%HE AZ 179]100.0% 1|ESE JRITHT 27 100.0%
365|EREE ﬁwin 1,646 0.8 1EHE A EH] 651] 100.0% 1{EEE5E BEEHM 13 100.0%
366[BEE 2 BHETH 3,261 0.8 1 EHE E3 105] 100.0% 1|ESE T 624 100.0%
367[HEE EEET 1,042 0.8 1| EHE WA 469] 100.0% = EREERT 65 100.0%
368 |3 R et 1,644 0.8 1 EHE EIEES 207[ 100.0% 1| REWE KETH 19,526 100.0%
369[ESE BREEFL 65 0.8 1| EHE BRI 219]100.0% 1R e Eid 11,803 100.0%
370212 KREHR/NBR/\ETHEE 308 0.8 1| R%HE [NIIES 708] 100.0% 1| REWE TiE™ 10,069 100.0%
371| R ZER 110 0.8 1| EHE A 168] 100.0% 1 RFE ok 10,314 100.0%
372|FEE jL'f’jLEET 833 0.8 1| R%HE AESFH 327( 100.0% 1| REWE E=Ttaki 4,944 100.0%
373 | @k 2 EfiGd 1,736 0.8 1|EHE FIRUERA 217] 100.0% 1 RFE #EEh 3,896 100.0%
374|dbimE FEH 455 0.8 1 EHE ERET 471]100.0% 1| REWE e /7 IR T 5,488 100.0%
375|HARE e AR ET 731 0.8 1| EHE INIIES 129] 100.0% 1| ZE TEh 3,291 100.0%
376 [ X2 f&HT™ 3,117 0.8 1| R%HE it 631 100.0% 1| REWE BT 4,644 100.0%
377[EH#HE EHE 16,703 0.8 1 EHE A EHET RS 210] 100.0% 1| xBE HEEARAT 2818 100.0%
3IB[=FE BA FOET 1,790 0.8 1 EHE REELER AN PR S 120{ 100.0% 1| REWE EFxh 1,814 100.0%
379[dt i ARy 1,150 0.8 1| EHE AT B AR B 435] 100.0% 1| ZE Bl 35411 2,883 100.0%
30[ERBE [EEINAT 7,949 0.8 1 EHE ER T RGE DA S 72]100.0% 1| REWE E3ih 5,368 100.0%
381 LE R T 3,909 0.8 1EHE BRI AR EEA R bR 124]100.0% 1 RBE WFEH 6,765 100.0%
382[REARIR Fa A 604 0.8 1IRERE I B2 18 42,850( 100.0% 1| REWE FAH 6,919 100.0%
383| =R I2 aEh 10,121 0.8 1IREE KiEH 12,649] 100.0% 1 RFHE 2<IEH 21,243 100.0%
FEAGET] iR 2,582 0.8 G E¥-hd 1,436| 100.0% 1| REWE [0y YAV 12,506 100.0%
RERMTET] LS 53 0.8 1IREBE Tk 4,237] 100.0% 1| RFHE BEIETH 4,925 100.0%
386|[LER =R 6,340 0.8 1IRERE EX il 2,926(100.0% 1| REWE B 1,898 100.0%
387|=ZRE L BT 1,438 0.8 GETE i 2,359] 100.0% B SEAH 6,084 100.0%
388|HH AR = FHT 1,727 0.8 1IRERE gk 7 BT 2,048] 100.0% 1| REWE BRI th 3915 100.0%
389|EiR 2 HARITET 2,538 0.8 GETY FFHET 2,277]100.0% 1| RFHE HATET 7,356 100.0%
3904t 358 BT 839 0.8 1IRERE 4 = H 1,452] 100.0% 1| REWE IR 3,955 100.0%
391 IR E3 Pk 3,238 0.8 GETY .2 NET 864 100.0% 1 RFE TEEH 2,337 100.0%
3925412 M(Zl?ﬁﬁﬁhlﬁ%&#ﬂ“ 238 0.8 1IRERE %= J\HT 1,151] 100.0% 1| REWE NEHHS 5T 2,987 100.0%
393 KRR TEH 321 0.8 IR 8 REFHET 2,006] 100.0% B GG 2,797 100.0%
394X B I8 R 2,359 0.8 1IRERE ;th EH BT 1,965| 100.0% 1| REWE feling 7,651 100.0%
395[REAR IR B 109 0.8 AGETE = SnfT 356] 100.0% 1| e TAm 2,198 100.0%
396|BE 2 o BT 382 0.8 [ACE] £ RET 193] 100.0% 1| REWE ST 3,117 100.0%
397| =R IB = FERT 750 0.8 1IREBE =ML S 429] 100.0% 1 RFHE 2K IEH B LT 4,596 100.0%
398[AIIIE BEET 4,494 0.8 IR E EA=1IIES 124]100.0% 1| REWE MEFEH 3,734 100.0%
399 Jt i ERHH 1,488 0.8 AGETE KiE%/\ B/ \BTAE & 308 100.0% B FRIRET 2,164 100.0%
4004t 3338 R BI BT 128 0.8 ] B R R AR A 170] 100.0% 1| REWE KIS HT 1,067 100.0%
401 |#=)IE  [EERH 9,253 0.8 1| E5 2 =5 8,533] 100.0% 1|xBE P LN 1,140 100.0%
402[dt ;8 Il 975 0.8 1| E EEHH 4,165] 100.0% 1| REWE BN 3,468 100.0%
403 Jt i A IRAT 434 0.8 R VA I T 2,123] 100.0% 1| ZE AFHT 847 100.0%
A ESE EHKX 14,143 0.8 1| B )l H 3,953] 100.0% 1| REWE EJLEo 964 100.0%
405|Fn8RILIE [ AJIAT 1,975 0.8 1| FRE 2 [NGL 311] 100.0% 1| xBE el 5 T 3,665 100.0%
406 EE R K 1,598 0.8 1| B AR Z R 359/ 100.0% 1| REWE SA A ET 420 100.0%
407 (=512 ERE AT 766 0.8 R Ll 2,715] 100.0% B J\FHHET 1,541 100.0%
408 | RIKIZ J\FHRET 1,541 0.8 1| B2 K RHET 4,029] 100.0% 1| REWE hE 519 100.0%
409 [FXHE HF AT 5,089 0.8 1| E5 RS /MLIET 1,338] 100.0% 1R HEAT 1,873 100.0%
410|F3E 18 FEBRET 1,655 0.8 T e 289( 100.0% 1| RWE FI 1R T 883 100.0%
411 (M2 FER 3,375 0.8 1| E5 2 iz B T s 238] 100.0% 1IEARE AR 39,992 100.0%
412[REARE BREEAL 232 0.8 T R 2 F R A 381[ 100.0% 1iEA R FHEH 40,091 100.0%
413[FHE SR ET 1,112 0.8 HE HEEH 174,993 100.0% 1IEARE EFH 10,045 100.0%
414 =52 EXL) 1,693 0.8 HETT i) U5 77 33,184[ 100.0% 1{IEARE AT 11,286 100.0%
415[FFE )il 2,074 0.8 1|Z5mE INg 12,640] 100.0% 1IEARE EEadid 8212 100.0%
416 | KB FF R 64,565 0.8 ] e 7,134] 100.0% 1{IEARE BB 7,235 100.0%
N pNGLl 2,006 0.8 HE HN3L T 5,895[ 100.0% 1[#EARE Bt 4,988 100.0%
418|=F 2 EXE 575 0.8 ] A 8,832| 100.0% 1{IEARE AT 13,178 100.0%
419|F 52 =2 FIET 148 0.8 1| Z5E tEEER 7,284] 100.0% 1[HEARE B 6,634 100.0%
420| KRB [T 1,351 0.8 1| Z5E #H& L 5,630] 100.0% 1{IERE KHIRTH 5314 100.0%
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REHMNRC FRICEITIEDICTIRIEOBMHRE (1)

OHEBERAIVEL—I1EHT-YDIREEEH R33.1BRE QEBEBHREDEMLANE [FER RIJIRE R F—Fyb (30MbpsLlt) R33IIRTE
IEf BB RS [REES RELEH] AE IEST [BRERFE R [REER REEREH % | NEf |BRE R IE% [BREE R REEEH%
21FFR FEART 10,936 0.8 ) £ LT 1,540( 100.0% 1[IEARE F iR 2,181 100.0%
42| IIR  |BRIR 33,930 0.8 HE REH 412] 100.0% 1HEARE AR R T 9,227 100.0%
423 | KB FF METT 7,542 0.8 1R EF 1,518] 100.0% 1{IEARE < bl 3,782 100.0%
424[BHE bbbt 1,904 0.8 NS FEHT 175] 100.0% 1[#EARE PBESLT 1,674 100.0%
425| LU IR [E BT 1,464 0.8 1 SR 51 100.0% 1{IEARE THH 4,765 100.0%
426|153 F 12 AREM 5,593 0.8 1 Eh 20,121] 100.0% 1[HEARE =JIET 2,623 100.0%
427 [ REL AT W5 5416 0.8 1 AR T 12,317] 100.0% 1{IEARE 28 FHT 1,727 100.0%
428 [t iiE ZAET 204 0.8 1 HEET 16,007] 100.0% 1IEARE EARL 731 100.0%
429| EEIR jEeYoYid 5923 0.8 1 BT 4,191] 100.0% 1{IEARE h B BT 845 100.0%
430[IFHER FEES:N 668 0.8 1 R 1,000 100.0% 1IEARE FHE 1,242 100.0%
43| XA R HHEM 5,110 0.8 1 WENRTH 3,497] 100.0% 1 #E*Ln T AHT 3,089 100.0%
432[ FHE +HEH 4,094 0.8 1 = LRET 414] 100.0% 1 BT 1,839 100.0%
433[HJ)IIE MELTH 2,779 0.8 1 B BT 3,516] 100.0% 1 BT 655 100.0%
434]dtimE EEAT 3,886 0.8 1 ES5101 1,348] 100.0% 1 SR RET 2,167 100.0%
435| =R = B BT 446 0.8 1 ERET 575[ 100.0% 1 HRIEHT 1,406 100.0%
436| R E 4,492 0.8 1 KAZHET 416] 100.0% 1 BRE )1 BT 892 100.0%
437 =R s 1,102 0.8 1 S A TAMETEREE 405( 100.0% 1 HER 37,802 100.0%
438 dtiE JENIE: 21,988 0.8 13 RiEH 27,210] 100.0% 1 itk 24,657 100.0%
439[EiE 2 I\ 2,053 0.8 1] ST\ T 6,949] 100.0% 1 fitl 29,855 100.0%
440 | )IIE  [KIFHAT 1,348 0.8 113 T 4,427] 100.0% 1 i 7,463 100.0%
441 |F08RILIE = M ET 1,307 0.8 1] = ¥ BT 1,048| 100.0% 1 FRIGH 17,705 100.0%
AT el 1,389 0.8 13 £ AT 699] 100.0% 1 i 19,430 100.0%
4431 218 I B 12 42,850 0.8 1] E2-101 609 100.0% 1 i 3,261 100.0%
444|352 Bl 9,796 0.8 1 RERT 94,510 100.0% 1 i 5593 100.0%
445|638 HEM 2,452 0.8 1 AT 14,141] 100.0% 1 fid 5,041 100.0%
446|BEE R PR T 4,693 0.8 1 i 996 100.0% 1 i 4,693 100.0%
447 | R EB XHER 11,963 0.8 1 Efh 2,109{ 100.0% 1 i 3,482 100.0%
448| K Bx FF WER ET 813 0.8 1 AZ)Ih 7,831] 100.0% 1 i 3,694 100.0%
409[RIINE 52T 1,128 0.8 1 FIEET 99] 100.0% 1 #HEYTH 3,978 100.0%
450[ B2 £ MET 1,589 0.8 1= AERAAHES 320 100.0% 1 BEM 1,143 100.0%
451[EER E=FH 3311 0.8 1 S 31,735| 100.0% 1 5 R BT 2,072 100.0%
452 K12 =<5 3,782 0.8 1 st 7,542] 100.0% 1 T{= HET 249 100.0%
453 REFE a5t 3,337 0.8 1 Ea=kitl 8,745] 100.0% 1 B 25 100.0%
454| KBR FF ;7] e T 1,117 0.8 1 KA 23,810] 100.0% 1 EEL 901 100.0%
455 | FBFE 12 Himth 1,429 0.8 1 BE)IH 15,993] 100.0% 1 R ¥ IRET 324 100.0%
456 |t 8 42 )[BT 462 0.8 1 ARARETH 6,499] 100.0% 1 EEET 320 100.0%
457 | SIRE REM 2,852 0.8 1 NNl 8,429] 100.0% 1 IS 233 100.0%
458| =R I2 45 FHEY 2,801 0.8 1 R 15,856 100.0% 1 [ 763 100.0%
459 KB FF kil 30,822 0.8 1 PR 7,859[ 100.0% 1 ] 239 100.0%
460[ILFLE BB i T 2,109 0.8 1 PO B 4,274] 100.0% 1 260 100.0%
461 (A LLIE EHH 4014 0.8 1 PR 7 i 3,901{ 100.0% 1 512 100.0%
462| IR I2 AT 5488 0.8 1 RESAET 467] 100.0% 1 T 998 100.0%
463|FiRIE [z W] 713 0.8 1 HE ERET 3,663] 100.0% 1 BT 2,569 100.0%
464|252 EE Yl 3,255 0.8 1 A 7 BT 743] 100.0% 1 ET 1,010 100.0%
465l £ 12 .2 NET 864 0.8 1 \WEH FT 813 100.0% 1 BT 839 100.0%
466 I B 12 FEFHE 2277 0.8 1 AFH 988] 100.0% 1 L 851 100.0%
T EXNCTit 3,103 0.8 1 F B R 290( 100.0% 1 BT 2,996 100.0%
468| 48 I ER AT 1,307 0.8 1 EER 91,583] 100.0% 1 El 1,884 100.0%
469 | f@fE 12 BiE™ 3,958 0.8 1 IR T 45516/ 100.0% 1 BHEPRES 440 100.0%
40| EE EEm 9,239 0.8 1 BT 39,731] 100.0% 1 [} 118,995 100.0%
471 ENR + FEHET 792 0.8 1 PLENit] 2,811]100.0% 1 SWFH 102,814 100.0%
472| R EHIE BERRT 3,009 0.8 1 EEmH 6,203] 100.0% 1 i 27,367 100.0%
473| RIRIZ FEEH 2,337 0.8 1 FEH 17,164] 100.0% 1 i 13,850 100.0%
474|EEREE [HERAT 588 0.8 1 ERh 6,221]100.0% 1 i 45,272 100.0%
HEFRT SN 21,572 0.8 1 Pkl 3,404] 100.0% 1 i 5516 100.0%
476 | KRR AT BREE 1 3,901 0.8 1 FiEH 17,426] 100.0% 1 i 4,387 100.0%
477 | AR AF FHEEHT 3,243 0.8 1 JIFEH 11,653] 100.0% 1 fitl 24,203 100.0%
478| KI5 2 E 5T 3,481 0.8 1 hnFEd 2,947] 100.0% 1 i 5267 100.0%
479[REARE KIMET 1,126 0.8 1 FHE#Z LT 2,971]100.0% 1 i 8,204 100.0%
480| IR 12 TEH 3,291 0.8 1 X 1,598] 100.0% 1 i 5593 100.0%
481 | RIRIZ DLIEH B LV 4,596 0.8 1 FHR® 4,748] 100.0% 1 Ly 6,567 100.0%
482|388 PUERES 337 0.8 1 mbhh Ll 3,059] 100.0% 1 B 15,816 100.0%
483|512 2 |LIET 1,540 0.8 1 Bk 2,156] 100.0% 1 i 9,889 100.0%
484[ILO 2 LIS /)N85 R 71 4,691 0.8 1 REM 2,770] 100.0% 1 i 3,710 100.0%
485|5F 8 & 47 B BT 1,170 0.8 1 YA )BT 2,761(100.0% 1 fitl 8,504 100.0%
486 | KR AT W 7,922 0.8 1 ZaE] 1,392] 100.0% 1 il 10,936 100.0%
487[HER BRAET 5267 0.8 1 Gl 806 100.0% 1 i 16,784 100.0%
488|ZIE 12 HEES 9,217 0.8 1 12 I T 1,615] 100.0% 1 il 18,191 100.0%
489 |1E [ 12 ALLIET 912 0.8 1 #6038 BT 780 100.0% 1 i 26,349 100.0%
490[FEE BEH 5,351 0.8 1 AFHT 3,228] 100.0% 1 4,415 100.0%
491 | RIFIE B i T 2,572 0.8 1 - ERET 916] 100.0% 1 g 11,666 100.0%
492 218 Tk 4,237 0.8 1 & FART 968] 100.0% 1 il 10,826 100.0%
493[fz I8 |i5 A [ ET 1,314 0.8 1 FEHT 1,158] 100.0% 1 i 5776 100.0%
494[BE 5 o2 SEHT 949 0.8 1 EHbh LiNATHEE 438] 100.0% 1 At 6,185 100.0%
495[ K72 FiEH 4,045 0.8 1 BESRLGERES 100 100.0% 1 fitl 13,090 100.0%
49652 B 4,668 0.8 1 AFNERLLTH 6,016] 100.0% 1 i 5,420 100.0%
497|F3E IR A B & R BT 387 0.8 1 Fnd 3.471] 100.0% 1 T 10,558 100.0%
498| RHFI2 Al 219 0.8 1 FREh 1,725] 100.0% 1 i 4,264 100.0%
49[=F 8 WA 3,497 0.8 1 LA 208| 100.0% 1 fitl 6,474 100.0%
500| Ik 212 1H3E) || BT 1,307 0.8 1 = 1,670] 100.0% 1 B 8,438 100.0%
501|i# %12 Skl 4,427 0.8 1 BENS BT 2,375] 100.0% 1 i 10,382 100.0%
502|Z 518 ELd 35,803 0.8 1 T IEET 408] 100.0% 1 i 4,298 100.0%
503 | A B FF XEHmH 6,015 0.8 1 JIIEiTT 403[ 100.0% 1 B 7,827 100.0%
504 | KX B FF A®EH 8,429 0.8 1 EHT 280] 100.0% 1 i 3,311 100.0%
505(Z)IE |FEET 7,171 0.8 1 ﬁﬂifiﬁ 35] 100.0% 1 By EhH 5,005 100.0%
506 =& FEH 6,357 0.8 1 = BT 446 100.0% 1 4,386 100.0%
507|FIIE X Ead 2,268 0.8 1 BEEH 361 100.0% 1 i 6,542 100.0%
508| EEE 12 I HT 1,615 0.8 1 TR 3,060{ 100.0% 1 A5 L HE 8,952 100.0%
509 (=12 = 80,562 0.8 1 KB 1,165] 100.0% 1 B 3,887 100.0%
AN EET REZH 763 0.8 1 T T 220] 100.0% 1 SN 4,295 100.0%
511 (@2 % [ th 3,013 0.8 1 2EH 23] 100.0% 1 =FHT 3018 100.0%
SI2(EREE [Eim 2,424 0.8 1 EIIES 661 100.0% 1 LLI BT 2,045 100.0%
513[IF B8 % J\ BT 1,151 0.8 1 25381 6] 100.0% 1 BT 668 100.0%
514[REAR IR EXiH 4,976 0.8 1 +, JIIES 145] 100.0% 1 BT 1,788 100.0%
515|REFE FAR S 297 0.8 1=RE NEAIES 7] 100.0% 1 BT 1,071 100.0%
516|#=)IIE [K#h 17,285 0.8 1| =RE JILE# 33 100.0% 1 BT 1,602 100.0%
S17[EER E0 376 0.8 1=RE B Ld 51]100.0% 1 BT 1,243 100.0%
518| %12 NTHAS b 2,987 0.8 1FgLe  |FAM 1,887] 100.0% 1 BT 1,042 100.0%
519|# &2 Z1RT 9,365 0.8 B E Tl 7 1,449| 100.0% 1 BT 643 100.0%
520| EEE OEET 2,781 0.8 FgILE [EHH 4,360] 100.0% 1 HET 620 100.0%
521 [#E A2 AR R ET 2,167 0.8 1{FIFRILE [ #SSEPET 394[ 100.0% 1 BT 583 100.0%
522| =R I2 NG 9,665 0.8 1[FFLE [ ILET 243]100.0% 1 BT 651 100.0%
523|REFE R4t 656 0.8 HEE TR 862 100.0% 1 BT 426 100.0%
524|BEARIR ﬁl‘ﬁﬂﬂ 4,437 0.8 1FIRILE  [R)IET 535] 100.0% 1 /N BT BT 806 100.0%
525[ = IR B 4,968 0.8 TS EF ) 437] 100.0% 1 & 126 100.0%
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BEEANIELN FRICETHELICTIRIEDEMINR (1)
OHEBERAIVEL—I1EHT-YDIREEEH R33.1BRE QEBEBHREDEMLANE [FER RIJIRE R F—Fyb (30MbpsLlt) R33IIRTE
G | BB E T2 & SR E RELEH] AE IESE [BBBERFE R [BREER REEREH % S %‘lﬁéﬁﬂ%% HREESL RELEH|%
526 B HNE 412 0.8 FIFRILE [ASHT 734 100.0% [E 767 100.0%
527 | KB FF 7,088 0.8 1FPLE  |[BRE 330] 100.0% 1 936 100.0%
528 | X2 7.651 0.8 HEE TS L 609] 100.0% 1 2,403 100.0%
529 SRARFF 7,831 08 FBRE  [F BT 963] 100.0% 1 2,079 100.0%
530[EEAR R 3910 0.8 1FIFILE B IET 613[ 100.0% 1 2,197 100.0%
531 | FJIE 1,658 0.8 1FIERILE | FE AT 1,307] 100.0% 1 3,173 100.0%
532|BE 2 490 0.8 1F0FLE | S AHET 206 100.0% 1 2,149 100.0%
533|212 2,901 0.8 1F0FRLE | FR%S A AT 874] 100.0% 1 98,487 100.0%
534[BE R 6,654 0.8 F0FLE [ RHhET 124]100.0% FEE FEH 71,867 100.0%
535|REFIE 649 0.8 1F0FbE | & EE)IET 175] 100.0% 1 FEE k¥ 4,160 100.0%
536 SR 2 309 0.8 AT S EATTE S 25( 100.0% FEE )il 31,412 100.0%
537 EE 5,092 0.8 FAFLE  |eyhamierseges 171]100.0% 1 FEE Yl 50,603 100.0%
538|IF 212 2,048 0.8 1| SEE ESEHT 736] 100.0% FEE fE L 2,933 100.0%
539 IR BB i 2,926 0.8 1| S]E = hc AT 126] 100.0% 1 FEE AFEEH 10,704 100.0%
540| A IR Ni 9,207 0.8 1{SHRE EeaRT 415] 100.0% 1FEE [N=kin 34,487 100.0%
54115 %12 6,474 0.8 1| S]E 4L S By 1,160] 100.0% 1 FEE (31 6d 11,656 100.0%
542| EiRIE 5,864 0.8 1| SEE EEEZS 204 100.0% FEE xR 5827 100.0%
5432 2,860 0.8 1| S]E E5 ERET 820] 100.0% 1 FEE AEA 10,753 100.0%
544[REARR 4,669 0.8 1| SEE B BT 206 100.0% 1FEE EAT 12,326 100.0%
545|512 4,906 0.8 1| S]E EEL 121]100.0% 1 FEE i 3,930 100.0%
546| X RIZ 1,760 0.8 1| SEE ST T 123]100.0% FEE JB 4,672 100.0%
547 | EEE 3,404 0.8 1|BEE KT AR 468] 100.0% 1 FEE BEHH 13,974 100.0%
T 3,482 0.8 1| SR ES:S 184] 100.0% FEE #amh 32,884 100.0%
549 B ER 2 463 0.8 1{SRE ESL0 343] 100.0% 1|FEE [ 782 100.0%
550|[LE IR 2,560 0.8 1| SR8 SZFNEFET 392[ 100.0% FEE GitlGd 19,611 100.0%
551 | KRR AF 7,142 0.8 1| SRE L E 152] 100.0% 1 FEE s 16,380 100.0%
552|{£ &2 1,510 0.8 1| SR8 7/ SHET 147]100.0% FEE NFHRT 15,491 100.0%
5532 A1 7,284 0.8 1| SR8 EXS 39] 100.0% 1| FEE EBRFH 9,069 100.0%
554 |4t 38 93 0.8 1| SRE [EGToY=L01 983[ 100.0% FEE [5G 1,948 100.0%
A 2,499 0.8 1| FE LS FE LI T 54,670] 100.0% 1 FEE S ath 8,136 100.0%
556 |4t iE8 719 0.8 1[ELE EHm 4,014] 100.0% 1FEE BEZm 5,351 100.0%
557[ILFZ IR 1,465 0.8 AENE HRET 3,185[ 100.0% 1| FEE =T 2,530 100.0%
55812 7,134 0.8 1R LR EOmh 2,335] 100.0% 1FEE SHRH 12,631 100.0%
559 FEE 8,136 0.8 1ELE LT 1,185] 100.0% 1| FEE & EH 7,591 100.0%
560 | F0FRILIE 4,360 0.8 =T K HHET 862] 100.0% FEE WAy ET 5,093 100.0%
561|= L2 1,265 0.8 AENE FEH 64]100.0% 1 FEE I\ 4,333 100.0%
562 iR IR 113 0.8 1R LR | 855 27 BT 972[ 100.0% FEE ENFE M 9,619 100.0%
563| RFE 2,036 0.8 1| FE LS R 420 100.0% 1 FEE B 5,966 100.0%
564| = LLIIE 1,877 0.8 =T TaRAF 120] 100.0% FEE =BMm 3,396 100.0%
565 = 112 11,355 0.8 [N 2 fi oSBT 678] 100.0% HFER BE#AT 2,154 100.0%
566 b8 180 0.8 =T o M T h A A 83] 100.0% FEE [ BT 2,389 100.0%
567|M=IIE [i8 3,703 0.8 1ESE =FEh 6,340] 100.0% 1 FEE BT 4,561 100.0%
568| RIFIE E 10,961 0.8 HESE =R 3,736] 100.0% 1FEE W 2,964 100.0%
569 | FJIE 1,482 0.8 1ESE REEHAM 1,890] 100.0% 1 FEE W Hh 2,177 100.0%
50| EER 8,882 0.8 NETY R = AHET 305] 100.0% FEE PN =it 3,365 100.0%
571 KRR AF 7,501 0.8 fIM=T=Y &M 2,074] 100.0% 1 FEE R FHET 1,384 100.0%
AT 5,630 0.8 hag - BE BT 941 100.0% FEE KHET 1,070 100.0%
573| KRB 4,374 0.8 [N} ] X BT 192] 100.0% 1 FEE IR BT 326 100.0%
574| R AR 32,581 0.8 1|ESE mEE 18,018] 100.0% 1FEE EX=1 856 100.0%
575| EEE 3,228 0.8 1|EEE EET 18,049] 100.0% 1 FEE ﬁrm 861 100.0%
576|dbiEE 417 0.8 1EEE EHIH 2,488] 100.0% 1FEE A+ A EHR 833 100.0%
577/ F R 3,710 0.8 1HESE Ba] 31 T 2,413] 100.0% 1| FEE = LT 443 100.0%
578|XRIE 6,016 0.8 1|ESE EShd 1,792] 100.0% 1FEE T2 e RT 1,561 100.0%
579 |[HARE 3,089 0.8 1|EEE =W 1,339] 100.0% 1 FEE — =y 975 100.0%
580 4t 358 5,991 0.8 1|ESE B 75 BT 288] 100.0% FEE REH 909 100.0%
581 [LIUFIE 3,447 0.8 1|ESE _t BHT 51] 100.0% 1 FEE B FHT 643 100.0%
582|XRIE 1,165 0.8 1|ESE & AR A N AL 118] 100.0% 1FE2 RARET 344 100.0%
583 | K Bx FF 1,264 0.8 1|ESE A FET 1,914 100.0% 1| FEE KA 377 100.0%
584 [fE 1112 420 0.8 1|ESE 26 LI BT 164] 100.0% FEE X% =R/ 489 100.0%
585| A Bx Ff 6,274 0.8 1|ESE AR % BT 376] 100.0% 1| FEE HETEET 273 100.0%
586 [ EE R 4118 0.8 1|ESE EXCTN 167]100.0% FEE SEEIRT 346 100.0%
587 Jt 8 290 0.8 1|ESE = IRET 292] 100.0% 1 FEE HEEREE 43 100.0%
588| = LLIIE 1,908 0.8 1|ESE AL 450( 100.0% [EEET FHREKX 4,758 100.0%
589|512 33,184 0.8 GEE EA=L08 2,045] 100.0% ESR hRX 9,144 100.0%
590|=F 2 1,267 0.8 1|ESE e 3,128]100.0% [IESR BX 12,009 100.0%
591 [t 8 212 0.8 GEE L iR AT 792] 100.0% [EEET FEX 12,476 100.0%
592[ILL R 577 0.8 1|ESE 25 FH 411/ 100.0% [EEET XX 11,963 100.0%
593 EIEE 2,129 0.8 EEES B & LHAT 981] 100.0% [EEET ABHKX 9,282 100.0%
594 [fE 1|12 7,878 0.8 IS E@SFh 2,268] 100.0% 1| R AR EHX 14,143 100.0%
595 S ER IR T 1,094 0.8 HEIES SHhETH 3,109] 100.0% 1| ER IHRX 33,144 100.0%
A ETE 1,185 0.8 1ENE + FEHT 792]100.0% [ESS FINK 21,572 100.0%
597|EEE i 6,203 0.8 1HENE NG SHET 815] 100.0% [EEET AHX 40,538 100.0%
598 [ [ LLIIR 1 1,742 0.8 I FLIEA 1,482] 100.0% 1| R EB HEAX 49,035 100.0%
599 | SRER AT I 6,140 0.8 AEIE} SETRESTERAS 348] 100.0% 1| ER FEFX 13,285 100.0%
600/ 4t 58 BT 338 0.8 1| EiRE BER 28,192[ 100.0% 1| R EB X 27,929 100.0%
601[ESE BT 696 0.8 e M 3,115[ 100.0% [HEFE E[A= 17,380 100.0%
602| IR AB BEm 3,391 0.8 HET Lo 2,666] 100.0% [IESR FINX 12,214 100.0%
603| K512 Ed=kiil 2,185 0.8 1|ZEE +E#T 312]100.0% [EEET RAEX 32,581 100.0%
604 [ B 18 Ik B 30,458 0.8 HET FARITET 2,538 100.0% 1| R AR HEX 46,652 100.0%
605 | f@ 12 INERTH 5,122 0.8 HETY FAHE 4421 100.0% 1| ER EILX 44,602 100.0%
606 |FN&ERILIE [F1FRLIE 22,574 0.8 HET ZEET 1,113] 100.0% 1| R AR BEX 29,231 100.0%
607|[LE2 EYNEY 16,133 0.8 NS R 19 100.0% [EFE IR 49,327 100.0%
608 k338 £ BRET 2,055 0.8 1S58 2= 3 FIET 148] 100.0% [ESH INEFH 39,877 100.0%
[ CET ;th FH T 1,965 0.8 1|E5HE FA 7 BT 144]100.0% 1| ER bl 12,375 100.0%
610]|HF AR R 2 BT 655 0.8 1S58 ZHT 109 100.0% [EEET RBEh 8,008 100.0%
611 | KBxFF J\ET 19,273 0.8 1|E5E TIERT 228] 100.0% [(IES:E =M 12,633 100.0%
612|HJI[IE Bl 9,555 0.8 T KIF 27]100.0% 1| R EB ELiang 8,979 100.0%
613[IHEE B, BhH 5,005 0.8 1|&=08 == )IET 224]100.0% AESE i 19,332 100.0%
614|3FF 8 S 4,386 0.8 =58 b+ BT 349] 100.0% [ES =N 8,108 100.0%
615|212 H 2,119 0.8 1|58 B 5N AT 2841 100.0% 1| ER Fiki 15,430 100.0%
616[Z 52 i 9,614 0.8 [ B IR BT 201]100.0% [EEET BT 31913 100.0%
617[IFEE 12,019 0.8 1|E5E EEELE 201]100.0% [(ESE NEHT 7,732 100.0%
618| b8 980 0.8 1|S%E 3101 379[ 100.0% 1| R EB INETH 14,155 100.0%
619| KRR AF 23,810 0.8 1|18 ZEH 60] 100.0% 1| ER EELq 13,560 100.0%
620|H IR 771 0.8 1S58 HEfiik )| BT & 147]100.0% [IESR Bl 10,820 100.0%
621 | K Bx FF 4,834 0.8 1]4EME 2 T 124,472] 100.0% [AESE BEoFh 8,039 100.0%
622 REFE 4,950 0.8 1|1EE S kit 1,736] 100.0% 1| R AR Bl 4,492 100.0%
623 &2 3,648 0.8 e HEFHH 9,059] 100.0% 1| ER BEm 3,391 100.0%
624|512 3,737 0.8 1|1EE S EBH 11,105] 100.0% 1| R EB BT 4,911 100.0%
625|#BE 59,267 0.8 T ABHH 9,372] 100.0% 1| ER BEAMH 6,478 100.0%
62613 F 2 5776 0.8 1|1EE S S EEH 2,313]100.0% [ESS BT 5,455 100.0%
627| SERI2 1,287 0.8 e (XN 2,859] 100.0% 1| ER RABRT 8,078 100.0%
628 (B2 2,569 0.8 1|1EE S JAEHT 2,928] 100.0% 1| R AR HEA LT 6,246 100.0%
629|i# %12 6,949 0.8 1|1& 2 ALLIBT 912] 100.0% [ESR ZEH 10,075 100.0%
630[IIOE 718 0.8 ] i 2 B 1,562] 100.0% 1| R EB Pt 4,204 100.0%

6/18




REHMNRC FRICEITIEDICTIRIEOBMHRE (1)

OHEBERAIVEL—I1EHT-YDIREEEH RISIIRIE QT BEHEDEMLANE R RIJIRE R F—Fyb (30MbpsLlt) R33IIRTE
G |ERE R [BREER RELEH] AE | JEf | R ERFIE [BREE R REEEH % | NEf |BRE T E4 [BREE R REEEH%
631|IFF R E = ILET 2,045 0.8 1 #E 2 ) BT 972[ 100.0% [EEET HE=HHH 6,302 100.0%
632| =B E = AT 1,670 0.8 1 HIEF 133] 100.0% [EEET FEERAi 13,959 100.0%
633[ FEE /7 Eh 5,093 0.8 1 KET 1,381] 100.0% [ES:E I i AT 2,305 100.0%
634 L2 B BT 975 0.8 1 7% BT 619] 100.0% [EEET B o H BT 1,534 100.0%
635[ILO 2 K 3,345 0.8 1 S EHET 738] 100.0% [EEET HEEA 76 100.0%
636 ZRIE N 3,060 0.8 1 At 273] 100.0% [EEET pNEL 457 100.0%
637 K& 2 | B A 538 0.8 1 =T 388 100.0% [ES:E B 174 100.0%
638|FiRI2 ESIIES| 317 0.8 1 %J—_mr 1,235] 100.0% [EEE [ d=tol 167 100.0%
639[E 12 FHEET 4,187 0.8 1 RS — RS 318( 100.0% [EEET =EH 110 100.0%
640[183H 82 fETH 6,175 0.8 1 EE.—,%%M‘H”’ 657] 100.0% 1| ER S 30 100.0%
641|805 JII SEiRH 18,611 0.8 1 Ath 1,365| 100.0% 1| R EB J\SCHT 479 100.0%
642|112 ah 40,512 0.8 1 R 3,987] 100.0% [EEET By 51 11 100.0%
643|=F 2 EXGH 4,191 0.8 1 1% T 2,518] 100.0% ETR INERA 258 100.0%
644 =B E =B 23,726 0.8 1 E 2L 1,510] 100.0% 1 )2 128,367 100.0%
645 | IR AR B O i BT 1,534 0.8 1 2511 BT 1,249] 100.0% 1 HAEET 51,476 100.0%
646 | I B 15 By 1,452 0.8 1 X iERT 438] 100.0% 1 BEES 27,773 100.0%
647| = HRIZ F FF BT 3,362 0.8 1 # HET 1,589| 100.0% 1 TiFH 18,611 100.0%
648|212 7 AT 619 0.8 1 K HETHT 401]100.0% 1 BERm 33,930 100.0%
649|FiE I8 PO [E dr R 6,440 0.8 1 A RHET 577/ 100.0% 1 MART 13,115 100.0%
650 E 402 21im 31,984 0.8 1 g 1,827] 100.0% 1 ¥ i 19,089 100.0%
651|F#FE 12 K RHET 4,029 0.8 1 RE5H 3,481(100.0% 1 P it 3,703 100.0%
652|FAH 2 B 1,996 0.8 1 B2 T 2,572] 100.0% 1 =@M 2,348 100.0%
653[ XS 2 NIRHET 1,050 0.8 1 EX a0l 534/ 100.0% 1 EHH 11,864 100.0%
654| HJIE EEET 3,255 0.8 1 JIETLSH 1,085] 100.0% 1 [ERNGH 16,932 100.0%
655 = UG 12 P9 )11 BT 1,506 0.8 1 iR 4 B BT 1,241] 100.0% 1 PN 17,285 100.0%
656 (B 52 =B 1,884 0.8 1 £ R BT 1,386] 100.0% 1 FBET 7,171 100.0%
657 |4t ifEE 15250 P9 T 121 0.8 1 AT 9,305] 100.0% 1 BELZH 10,600 100.0%
658| HEHE N At 688 0.8 1 E&H 4,976] 100.0% 1 FERSTH 9,253 100.0%
659 |t Z=)IE  [ILdbET 578 0.8 1 %t 3,925( 100.0% 1 BT 3,101 100.0%
660| R IFE AHth 9,143 0.8 1 Tt 3,102] 100.0% 1 EEH 7,009 100.0%
661|402 EREH 7,193 0.8 1 FHH 4,669] 100.0% 1 ESIN:S 2,596 100.0%
662| Rk 12 Bk 1,814 0.8 1 B &% T 1,746] 100.0% 1 EINLSH 3,846 100.0%
663[fZ)IIE  |BAAKET 1,647 0.8 1 aim 6,944] 100.0% 1 A REHET 2,307 100.0%
664[1H F B AZEH 10,558 0.8 1 EEHT 552] 100.0% 1 —=HT 1,821 100.0%
665 | A B FF [t 26,197 0.8 1 T AT 468| 100.0% 1 o FHET 626 100.0%
666 [ 212 E[%a1.01 1,566 0.8 1 RIMET 1,126] 100.0% 1 K FEET 1,348 100.0%
667[FF R F G 5,420 0.8 1 FNIKET 613] 100.0% 1 [PN=LN 631 100.0%
668 | K Bx FF PR 7,859 0.8 1 [EDNEL] 264] 100.0% 1 LI L BT 578 100.0%
669 [fE 11112 #Bttth 5,931 0.8 1 PNEL) 421( 100.0% 1 B Ak BT 1,647 100.0%
670[#=)IIE  [#AMET 631 0.8 1 = 7RHET 4481 100.0% 1 FE AR BT 442 100.0%
671 AR AF SFOm 8,745 0.8 1 i BT 1,383] 100.0% 1 ETE) 307 100.0%
672|#=)INE  [FJIAT 3,846 0.8 1 LI ZRET 8441 100.0% 1 i im] [ BT 1,314 100.0%
673|BE 2 B h 18,976 0.8 1 == 4] 1,096| 100.0% 1 )1 HT 2,860 100.0%
674| EEE AT 24,547 0.9 1 SR AT 952] 100.0% 1 EIA 193 100.0%
675[=F 8 BT 23,497 0.9 1 % RAHT 713] 100.0% 1 HinR 44,614 100.0%
676| R 2 )1 G ET 403 0.9 1 S BT 271] 100.0% 1 i 59,267 100.0%
677| b8 i B2 AT 1,336 0.9 1 7k £ # 177]100.0% 1 IELd 20,041 100.0%
678| KRR AT BRHFH 4,649 0.9 1 1B 4 312[ 100.0% 1 =& 6,935 100.0%
679[IF B 12 FEZH 2,106 0.9 1 FAH 47[100.0% 1 FElGnd 5,398 100.0%
680 #2 e 12 e A 70,623 0.9 1 WST# 361] 100.0% 1 AT 7177 100.0%
681| AR AT A 14,141 0.9 1|8E2 HSEYHR 1,303] 100.0% 1 IMNFRTH 2615 100.0%
682 =FE K ECHT 416 0.9 1 EIEGd 5,110] 100.0% 1 o 1,644 100.0%
683[EE R HET 2,063 0.9 1 [iE il 2,041]100.0% 1 + BETH 3,552 100.0%
684 | AR AT e R BT 3,663 0.9 1 Fikth 4,045] 100.0% 1 Rt 2,843 100.0%
685[#1iR 2 Rt 2,843 0.9 1 i 2,573]100.0% 1 Ei 3,494 100.0%
686|EiE 12 SATH 10,788 0.9 1 EEX 1,599] 100.0% 1 #E 5,684 100.0%
687 %I I2 AT 2,198 0.9 1 |6 & 4% 92/ 100.0% 1 F - Wkt 2712 100.0%
688|[L &2 i S BT 4,207 0.9 1 B HHT 2,405] 100.0% 1 wEH 2,096 100.0%
689| FEI2 IR 5827 0.9 1 TLEHET 617 100.0% 1 RRH 3,253 100.0%
690| REFI2 4% EET 1,259 0.9 1 AIEHT 1,050] 100.0% 1 = 13,510 100.0%
691[Z512 SEART 6,090 0.9 HEE AR T 13,963] 100.0% 1 e % B i1 2,954 100.0%
692| =ik I2 & 7,534 0.9 EES Bt 3,730] 100.0% 1 kT 3,270 100.0%
693[=F 8 X 20,121 0.9 T EIohid 1,277] 100.0% 1 fBH 2,321 100.0%
694|512 RAFH 6,263 0.9 EES ZUDH 1,343] 100.0% 1 mAAEh 4,353 100.0%
695 | iBIE SREH 7,507 0.9 T = R HT 663[ 100.0% 1 [k 1,970 100.0%
696|=F 12 2kt 5,970 0.9 S AT 653] 100.0% 1 IR EEMT 1,264 100.0%
697| FEE T 16,380 0.9 T = HRET 1,662] 100.0% 1 BRER 625 100.0%
698[B¥E 2 2 e BT 2,072 0.9 EEE =T 1,440] 100.0% 1 7] 25 BT 480 100.0%
699|112 Rt 3,987 0.9 HEE FRBH 92] 100.0% 1 ZIRET 251 100.0%
700 %qu.l 2 |ENEaAEy 609 0.9 S A AT 4771 100.0% 1 &R ET 455 100.0%
701 [ERET AR Fam 7,674 0.9 HEE [l 1,506| 100.0% 1 el 504 100.0%
702| = 512 = [ BT 663 0.9 =58 EIZEH 93] 100.0% 1 PUBEES 337 100.0%
703 | R AR IR 12,214 0.9 HEE HZEH 182] 100.0% 1 B8 I # 317 100.0%
704 REFE Z2rH 612 0.9 EEE BZzg 2471 100.0% 1 RE5EM 30 100.0%
705 | KB F RREH 5,637 0.9 1ERBE [EREM 51,005] 100.0% 1= =R 22714 100.0%
706|252 HAH 2,416 0.9 1EESE [MARS 1,313] 100.0% 1 G 29,887 100.0%
07| FEE ENFE T 9,619 0.9 1ERESE |[HKH 4,792{ 100.0% 1 = b8 T 11,355 100.0%
708[F0FLE  |[FnELT 24,915 0.9 1EEEE |WEZREAHH 2,002] 100.0% 1 i 2,778 100.0%
709| =S M 182 0.9 1ERBE |[mEDOFh 2,292] 100.0% 1 kR 2,809 100.0%
710 ERR &R =Eh 12,633 0.9 1EESE |Em&h 2,608 100.0% 1 BT 2,475 100.0%
711[dtEE Erz\ﬁ 12,471 0.9 1EREE |Ffkh 1,646] 100.0% 1 i 3,088 100.0%
AT N 4,153 0.9 1EESE [=5# 77]100.0% 1 i 3 T 3,909 100.0%
713 | RBRF R 4,801 0.9 1ERSE [SDOFHAT 1,474] 100.0% 1 S i 1,908 100.0%
T14|=HWE A FOHET 2,589 0.9 1EESE |ESRT 855] 100.0% 1 iR 3,316 100.0%
71563858 2 BT 362 0.9 1ERSE [HRRBH 588 100.0% 1 gtk 7,310 100.0%
716 | X E SR 1,873 0.9 1EESE [fRTH 483] 100.0% 1 FHEH 331 100.0%
I EEE JIFam 11,653 0.9 1ERSE [EAMBE 414/ 100.0% 1 Lt BT 1,265 100.0%
18| AR e 6,634 0.9 1EESE |PiErFET 586] 100.0% 1 37 (LIET 1,877 100.0%
RIS XN 1,674 0.9 1ERSE [EASH 1,047 100.0% 1 | A E BT 1,580 100.0%
720|=EE ShEET 16,007 0.9 1EESE |[Xi 81] 100.0% 1 =L 616 100.0%
721 | KR AF o {EE B 4,274 0.9 1ERSE |{FLET 673 100.0% 1 &R 34,767 100.0%
722|212 ERET 4,529 0.9 1] hEBE SERT 11,559] 100.0% 1 tEH 3,437 100.0%
123[IFER ARh 10,698 0.9 1[hfBE oA 4,607] 100.0% 1 IV T 9,207 100.0%
724|EEE BmEH 18,049 0.9 HETEE it 126] 100.0% 1 HET 1,260 100.0%
71253 E 8 hnZEth 8,204 0.9 AT EEIL 1,391 100.0% 1 ZEM T 629 100.0%
726 ZBE g 7,356 0.9 1B LA ET 3,051] 100.0% 1 nEH 4,577 100.0%
727X EE AfETH 4,355 0.9 HETE 78 [ BT 3,419] 100.0% 1 PET 1,300 100.0%
728 SEE EEL 206 0.9 1[h4BE EESA 86] 100.0% 1 MNMEL 2,779 100.0%
129| BB 3L 5,895 0.9 T EEH 48] 100.0% 1 =T 9,555 100.0%
730X EHE 3 JIBT 245 0.9 1B L XEA 51]100.0% 1 BEETH 4,494 100.0%
731[fBHE I 7,608 0.9 T BEEH 136 100.0% 1 &t 4,842 100.0%
12| EEE MATH 2,811 0.9 1P 4BE % B 113] 100.0% 1 JIEA:H 720 100.0%
733 | L2 fiE] LI 77 54,670 0.9 1]iEE 5 H E BT 185] 100.0% 1 SEORET 3,255 100.0%
734 | R &R A 15,430 0.9 734| KBR AT R 64,565| 99.9% 1 PR BT 2,191 100.0%
135[fBE 8 AT 1,655 0.9 735| 4k JENGE 21,988 | 99.9% 1 EEHT 1,128 100.0%
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OHEBERAIVEL—I1EHT-YDIREEEH R33.1BRE QEBEBHREDEMLANE [FER RIJIRE R F—Fyb (30MbpsLlt) R33IIRTE
EGL |ERERFE 2 [BREER RELEH] AE IEGE [ZRERF R [REES REEREH % JEGL [ERERFE 4 [FREE S REEEH|%
736 MFINE |EHH 11,864 0.9 736| =R =B 23,726] 99.9% 1[BINE F3E S IKET 777 100.0%
737|BHE f =kl 10,140 0.9 137X FE KE 19,526] 99.9% HESITSY i BE T 1,322 100.0%
738 RME Bl 5 BT 3,665 0.9 T38| RIINE [F~IGH 19,089] 99.8% HESITS 77K BT 388 100.0%
739 B 12 i)l 6,107 0.9 139|FER [N =k 34,487] 99.8% HAENE AEB AT 781 100.0%
740| EHE N 16,391 0.9 740 [ R fE 19,332] 99.8% 1{EHE BHE 16,703 100.0%
741 [ BHE EBHFH 25,653 0.9 741 [ KR N 13,178] 99.8% 1[fEHE B 20,071 100.0%
742 | R AR B H 31,913 0.9 142|@=NNE  [ERT 33,930] 99.8% 1|{EHE HEH 5253 100.0%
T43|BEE =55H 3,018 0.9 743| FEE Ef=hd 11,656 99.8% 1|EHE IAVET 2,226 100.0%
744 |13 12 S E(FH 2,313 0.9 744 | KBRAF RABRT 33,173| 99.8% 1EHE N 2,204 100.0%
745 tEE F T AT 415 0.9 7458 8 2Em 11,893] 99.8% 1|EHE T 6,175 100.0%
746 | 12 12 £ 5H 8612 0.9 7461 EE AETH 10,558| 99.8% 1|{EHE HH o 1,904 100.0%
747 ZBE RIAET 2,164 0.9 747|BIIE ENGd 9,555 99.8% 1|EHE BT 6,459 100.0%
748 |13 12 A ET 2,928 0.9 748 |54 12 #Ilm 9,796] 99.8% 1|{EHE RHT 7,608 100.0%
749| R I5IE JIET LN 1,085 0.9 7149 EEE =@M 8882 99.7% 1EHE sth FR BT 116 100.0%
750 AJIE &k 4,842 0.9 750 [ K B FF PIEM 7,411] 99.7% 1|{EHE it BT AT 752 100.0%
751 | BEE ®iBh 5,437 0.9 751 |F0FLE  |AAH 5,200] 99.7% 1|EHE A AITHT 1,607 100.0%
52| RBE HEENTh 10,101 0.9 752[;h5RIE 2 R 7,507 99.7% 148 EY 584 100.0%
753| KB AF EL 31,735 0.9 53| RER =& 5,405] 99.6% 1|%& Sha 768 100.0%
754 |#BE AR 3,253 0.9 754 |42k 12 1TH™ 5.674| 99.6% 1 t 5 706 100.0%
755 B 2 XiEH 12,649 0.9 755| FEE =E.ait 5.966] 99.6% 1|EHE 5 PRET 1,177 100.0%
756 FEE WEM 34,487 0.9 755 | AR AF 5T 5416] 99.6% MET:] B fF i1 12,650 100.0%
757 |#2E 2 HBh 5221 0.9 757 F0FLE  |[BAH 4,153 99.6% IET:Y ELrEHMAT 3,447 100.0%
758 [ &= L2 28h 3,088 0.9 758|HE R SREETH 5,267] 99.6% IMET #RBR T 2,072 100.0%
759 | ZRBME X Fh 6,765 0.9 758 | 1@ 2 FHE AT 5,022| 99.6% IMETSY ETH 2,442 100.0%
760[#@=)IE  [HEERT 51,476 0.9 76012k 2 /NER T 5,122] 99.5% MET:] EWFTH 2044 100.0%
761 [EEE h B4 418 0.9 761[3mEE FETH 13,090 99.5% AMET Em7IVTRH 5,748 100.0%
762|ZRE EH 5 A< T 2,346 0.9 762|HIIE InEH 4577] 99.5% IMET bkt 3,368 100.0%
763 | KPR F PN G 4,774 0.9 763 |12 12 N&dh 4,406] 99.5% AMET EE 5,894 100.0%
764 | 1R 2 Eakiciitl 5674 0.9 764|#FEE AR 10,698] 99.5% IMETS BN 2,109 100.0%
765| REFIE SR 7,990 0.9 765|=ZRE KEH 4,006] 99.5% AMET R 2,398 100.0%
766| RE 2 Bh 3471 0.9 766 | 5% 2 AT 4,584] 99.5% IMET i Il = SERET 1,001 100.0%
767 | REBAF EREMH 6,721 0.9 767 | XBR AT Hmh 12,483] 99.4% [IET:Y LSS 53 100.0%
768| FEE GGk 19,611 0.9 768 | = IFIE /NATH 3417] 99.4% IMETS 5 LT 463 100.0%
7169 EE Bl 9,889 0.9 769| EEE N 4,118] 99.4% IET:Y FaER AT 399 100.0%
770 R AR end 8,108 0.9 10| REHE E%HH 28,045] 99.4% IMETS =+ )IET 1,046 100.0%
171 |fEE 8 fEmEh 124,472 0.9 | RIBE NSk 9,143] 99.4% AMET BA F0 AT 1,867 100.0%
2| EEER 78 i 2,938 0.9 T72|HER PEMH 3710] 99.4% IMET BER 96 100.0%
1R HEE M 4,334 0.9 73|I B8 Dk 8,215 99.4% ET:Y FaEE AT 318 100.0%
774[EWLE AZEHT 1,580 0.9 774 ER B&h 4,386] 99.4% IMET BEH 855 100.0%
775| & 508 =3I 224 0.9 775 ZINE ] 52 BT 3,665] 99.4% [MET:] 1L AL 355 100.0%
776| EHE HEER 534 0.9 776| KH 8 R 23,450] 99.4% MET:] ISR A 145 100.0%
77| E 8 Al B 8,215 0.9 777| XBR AT NEH 19,273] 99.3% METSY FHE LA 24 100.0%
18| FEE ERFH 9,069 0.9 R P=hehiil 3,840] 99.3% 1| R%HE EHR 47,996 100.0%
79| EEE [T 38,184 0.9 179| SR E SRE 15,942] 99.3% 1|E%HE i 28,045 100.0%
780 | KRR F EmEm 12,483 0.9 7804k EUN G 13,299 [ 99.3% 1| R%HE fitl 11,893 100.0%
781|422 A AKRHET 1,381 0.9 781 | FEE afriE 7,591] 99.3% 1| EHE i 3,556 100.0%
AT HWis™ 2518 0.9 782| 4k kR 7,917 | 99.3% 1| R%HE T 7,990 100.0%
783 [I% B 12 AR H AT R A 170 0.9 783|EZiRE ik 2,429] 99.3% 1| EHE i 3,648 100.0%
784 | R AR AERRX 9,282 0.9 784 |2 EiRH 9,365] 99.3% 1| R%HE il 3,932 100.0%
785 SR 2 WiTh 15,839 0.9 785| RER TR 2,938] 99.2% 1 EHE G 3,150 100.0%
786 |{E[E 2 i 28 B 1,562 0.9 786|BHE &I 6,175] 99.2% 1| R%HE fitl 5,401 100.0%
787 | RAE BB 4,925 0.9 786| EHE AT 11,893] 99.2% 1 EHE B 2,622 100.0%
788 RIME KEH 19,526 0.9 786 | 1@ 12 AFERFH 6,421] 99.2% 1| R%HE fitl 3,337 100.0%
789|wZ)IIE  [#EdAT 7,009 0.9 19[EREE [EE)IAT 7,949] 99.2% 1 EFE il 1,661 100.0%
190|LEE HHEmmH 9,099 0.9 7904k 3E ER%HH 1,488 | 99.2% 1| R%HE il 1,351 100.0%
9[=FE AR T 12,317 0.9 91| EEER W 32,715] 99.2% 1| EHE i 4,390 100.0%
AN XEH 4,857 0.9 792| =T =k 2251] 99.2% 1| R%HE EHRT 4,950 100.0%
1N EEE e 115,458 0.9 793 | LR f&Epit 1,950 99.2% 1 EHE T 4,374 100.0%
794 [ihEBIE T 4,607 0.9 793 lLOE FEH 11,614] 99.2% 1EHE ZEHH 7,331 100.0%
795| X2 g 6,977 0.9 7958 H E ET 2226] 99.2% 1 EHE N E# 256 100.0%
796 [Ix B 2 JI1 0BT 770 0.9 795| IR B 12 B 2,582] 99.2% 1| R%HE B 217 100.0%
797|ELE R 3,316 0.9 797|db & LRI 8,654 | 99.1% 1|E%HE AR 42 100.0%
798| FEE BiEh 2,530 0.9 197 ER Bl 9,889] 99.1% 1| R%HE JeAEARA 53 100.0%
19[EFE ¥ BET 265 0.9 799[IBEE AEH 5593 99.1% 1| EHE X EET 1,259 100.0%
800[REFE L HEH 11,893 0.9 800| FHEE JETH 4,672 99.1% 1 EHE I FLET 437 100.0%
801 FEE KE.2m 10,704 0.9 801 | =2 =R 2,499] 99.1% 1| EHE EAM 335 100.0%
802|EE 2 JITES 71 0.9 802| &R IR [NITE] 38,184] 99.1% 1| R%HE RFNAT 219 100.0%
803|E 12 AR 3,103 0.9 803|408 AETHT 2,836] 99.1% 1|E%HE T mEhET 1,341 100.0%
804|dbifEE AL 3CHT 159 0.9 804 B3 FE 12 BREL T 11,624] 99.1% 1 EHFE =t RET 1,102 100.0%
805|F 12 NB T 12,715 0.9 805| =i 2 PNGh 0,665 99.1% 1 EHE B 656 100.0%
806|FJIIE HH 3,365 0.9 806 | FHEIE #ah 32,884 99.1% 1 EHE REFHET 1,304 100.0%
807| R NEFH 39,877 0.9 807|[LE R EET 9,239 99.1% 1|E%HE HERHAT 2,036 100.0%
808|37iH R EIn 5,398 0.9 808 | FEfE R BEH 24547| 99.1% 1 EHE RS HT 649 100.0%
809|F I 2 fSi NG 34,354 0.9 809 | B &R E2EX 11,484] 99.1% 1| EHE m E AT 1,501 100.0%
810| @ f 12 J\#&h 4,406 0.9 810| FHEFHRE 2h BT 1,916] 99.1% 1 EHE LS 419 100.0%
811|AEAR BaI &% T 1,746 0.9 FIEES] EAT 5776] 99.0% 1 EHE = B A 814 100.0%
812|F1FILIE | HHS 1,887 0.9 811|[#= k2 KIH 2,119] 99.0% 1EHE ENIIES 985 100.0%
813[IFEFE T 27,367 0.9 813|RIME et i 4,644] 99.0% 1|E%HE ] 7 T 279 100.0%
814| AR FF PIE 7.411 0.9 813| R HET 2,063 99.0% 1 EHE [DEES 547 100.0%
815| EE IR REh 2,770 0.9 815|3RE A 5,398] 99.0% 1|E%HE TAH 24 100.0%
816| REFE KHET 1,661 0.9 816 | &% 2 R 10,555] 99.0% 1| R%HE TEH 321 100.0%
817[dt i iR &R AR AT 432 0.9 817|F1FLE  |FiEm 1,851 99.0% 1 EHE FEAH 43 100.0%
818|ZNIR T 12,640 0.9 818 |G #R K h 8,008] 98.9% 1| R%HE XEEH 33 100.0%
819[IF B 18 PEhH 5,529 0.9 819 =2 SBEHH 4,968] 98.9% 1 EFE B A4 538 100.0%
820[REE AT 18,027 0.9 819[IHFIR BrBhH 5,005] 98.9% 1| R%HE Z2rH# 612 100.0%
821[FFEE SEEIAT 346 0.9 82115 F 8 AN 6,567] 98.9% 1| EHE PN 59 100.0%
YA BEN 3,521 0.9 822| FHEIE R 19,611] 98.9% 1| R%HE E A ET 297 100.0%
823| K12 B HET 2,405 0.9 AR = B ET 2,373 98.9% 1 EHE AEH 195 100.0%
84| EER BT 32,715 0.9 824|=F 2 BAF0ET 1,790| 98.9% 1 EHE EEH 27 100.0%
825[REARIE Er3 5401 3,270 0.9 825 | [ ILIIE #atth 5,931] 98.9% 1| EHE REH 179 100.0%
826| X RI2 A BT 4,396 0.9 826 R IE LNl 6,919] 98.9% 1 EEHE = 651 100.0%
827|ZHE E=y-linl 3,481 0.9 827 | ZiH 2 00 1,873] 98.9% 1 EHE ity 147 100.0%
828 FE2 J\fiith 4,333 0.9 827|212 EEST) 1,604] 98.9% 1 EHE HIRA 105 100.0%
829|;h#HI2 J\ = FERT 3,489 0.9 829|H)IIE BEET™ 4,494] 98.8% 1|E%HE Lz 4 469 100.0%
830[EER YE4 )| BT 2,761 0.9 830|HEAE RAE R T 9,227| 98.8% 1 EHE =] 207 100.0%
831|Z4E 18 AN 3,115 0.9 831|= %12 =T 22,090 98.8% 1| EHE it 219 100.0%
832| R #B BHEX 46,652 0.9 832 | SR JaiTH 4911] 98.8% 1 EHFE it B 633 100.0%
833| M2 ERh 20,041 0.9 833|HE AR PBAESLT 1,674] 98.8% 1| EHE BEH 619 100.0%
834|IX B IR IR ERET 642 0.9 833| LT HESTHT 1,930| 98.8% 1 EHE INEH 168 100.0%
835 RBFE [NIIES 708 0.9 835|Z 518 E/lH 35,803| 98.7% 1| E%HE 3 35 BT 1,075 100.0%
836 B A2 ELhd 5243 0.9 836 | KB AF [=Eha 26,197] 98.7% 1 EHFE /N B ET 904 100.0%
837|RER Z%m 4,390 0.9 837|FEIREE [FEAMT 2,352 98.7% 1 EHE W/ ET 669 100.0%
838 |t Z ERET 206 0.9 838|&JIIE Ehhb 1,658] 98.6% 1 EHE ABFH 327 100.0%
839|212 H AT 5,022 0.9 839| KX P8 EI#5h 2577] 98.6% 1| EHE FIRUERA 217 100.0%
s40[IllOE B RF T 8,996 0.9 840 |FAFHIE Kl 5,092] 98.6% 1 R%HE EIRET 471 100.0%
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REHMNRC FRICEITIEDICTIRIEOBMHRE (1)

OHEBERAIVEL—I1EHT-YDIREEEH R33.1BRE QEBEBHREDEMLANE [FER RIJIRE R F—Fyb (30MbpsLlt) R33IIRTE
IEGL |BRERFIE R [BREER RELEH] AE IEST [ZRBERFE R [REES REEREH % |IEfE | B E AT IR |SREE S RELEH (%
EE BER 37,802 0.9 841 [IFEE EFFH 3,311] 98.6% 1| R%E IVIES: 129 100.0%
BEEm 11,893 0.9 842|MZ)INE |~ =HT 1,821] 98.6% 1| EHE i 63 100.0%
ERmBET 5,189 0.9 843 EFEE iR R AT 968 98.6% 1 EEHE A EHET R E A 210 100.0%
&8t 3,840 0.9 844 | IT &R A= 21,572] 98.6% 1| EHFE EHEE R/ N EREE 120 100.0%
¥ 2By 1,242 0.9 845[#Z=)IIE %I AT 2,860] 98.5% 1 EHE BT AR H AR S 435 100.0%
ZEHT 3,173 0.9 846 B ERIE J\BERT 1,226] 98.5% 1 EHE SR RGE RS 72 100.0%
i 10,826 0.9 s471llO0g o 2,709] 98.5% 1 EREHE BB R A B A 124 100.0%
FER BT 364 0.9 848 & 12 REM 9,748] 98.5% 1|l 2182 I B2 12 42,850 100.0%
BEZAET 467 0.9 849U 212 EXN:] 1,674] 98.4% [T AfEH 12,649 100.0%
ALY 183 0.9 850 k.35 3E EJEGH 1,046 | 98.4% 1|l 212 =G 6,895 100.0%
851 | R #B EARX 8,744 0.9 8501 E IR ZEH 3,173| 98.4% G ZaRT 7,934 100.0%
852 AR 2R 27,929 0.9 852| R#FI2 B 4HIRET 1,327] 98.4% GETE B 8,004 100.0%
853|122 S EHET 738 0.9 853|ZRIZ ES N 10,101 98.4% 1[IRERE i)l 6,107 100.0%
854|F 112 #iFEh 2,778 0.9 854|=F 8 EEBT 1,028] 98.4% GETY EFinl 1,436 100.0%
855 FE R BB 1l 1,948 0.9 855| 5 F I8 =B 1,736] 98.3% [T i SR T 2,582 100.0%
856| FEE PO #7381 7,591 0.9 856 | REFI2 FHim 4,374 98.3% GETE PBH 5,529 100.0%
857[dtimiE U2 HET 1,549 0.9 857 FEE BT 2,530] 98.3% [T e 3,747 100.0%
858| A JIIIE & 4,577 0.9 858|IHEIE SV =FEH 102,814 98.3% 1IRERE EF I 5,189 100.0%
859| AN NEHR 617 0.9 859 |F 4N PN A 8441| 98.3% 1|IRERE Tk 4,237 100.0%
860 K Bx FF PN 33,173 0.9 859 | ZIEE JLRT 577] 98.3% 1|l 212 BHEET 12,019 100.0%
86131 E L0 504 0.9 861 |LLIIE KR 5958| 98.3% 1[I 212 AR 8215 100.0%
AT BEM 2,251 0.9 862 | ZIEE HEEh 9,217] 98.2% 1[IREBE R 1,833 100.0%
863 | FhEH R FET 21,091 0.9 863 | FEE IE f-o0nm 5923| 98.2% [T i 5,186 100.0%
8644t ifEiE HAH 2,240 0.9 864|i# % 12 SFITH 8512] 98.2% GETY FREET 1,603 100.0%
8654 A 2 E%m 8212 0.9 865 | AR AT A gL BT 1,128] 98.2% 1[I 212 AEH 2926 100.0%
866| &8 12 KHM 7,893 0.9 865[ILOE FA % 1t BT 1,102] 98.2% GETY L 3,049 100.0%
867|422 = 2,052 0.9 8671 E 2 RN 8,504] 98.2% [T TEH 2,228 100.0%
868|BEAE AT 61,458 0.9 868 | =2 Al 2,035] 98.1% 1[IREBE i 2,359 100.0%
869 | K Bx FF FEHET 15,958 0.9 868 | B R #B EBRX 8,744] 98.1% [T gk ey T 2,048 100.0%
870|ZRE [ 4,034 0.9 868| 12 HREET 2,901] 98.1% 1IREBE & HART 1,674 100.0%
871 | KB FF AR 6,499 0.9 871 | KB FF ENGR 7,922] 98.1% [T EEET 2,106 100.0%
872| FEE EE® 12,326 0.9 872|=IFE = 2,774] 98.1% 1[IREBE FtHT 2,277 100.0%
873 =2 SlBET 3,665 0.9 873|FIRIZ PO [E sh R 6,440 98.1% G B8 /7 [ BT 430 100.0%
874 B4 2 AN 3,043 0.9 874|EEHE {014 R BT 1,259] 98.1% GETE T 1,452 100.0%
875|518 HiEh 8,832 0.9 874|F 51 SEET 3,103| 98.1% 1IRERE & .2 [(NET 864 100.0%
876|i#E 12 fSi=1itl 3,284 0.9 874|152 ERERT 1,033] 98.1% 1IREBE %= J\ BT 1,151 100.0%
877|#EHE BREH 1,218 0.9 877|LEE i AR T 4,207| 98.1% [T 1535 )[BT 1,307 100.0%
878| EIG 2 [N 1,762 0.9 878| = HIE B 5579] 98.0% GETE REFET 2,006 100.0%
879 KBz FF | S AH 2,723 0.9 879[t8FH 12 HH o 1,904] 98.0% 1IRERE ;th B BT 1,965 100.0%
880| Ik 12 BB 3,468 0.9 880 | [E] LLI 12 28 40512] 98.0% GETE LA ET 1,566 100.0%
881 [FRAL AT PN 1,289 0.9 881 [=F EX A 11,428] 98.0% [T SRR ET 642 100.0%
882| =R 1B XHEH 4,006 0.9 882 |t ifEE EXLE S0 1,028 | 98.0% AGETE = hnET 356 100.0%
883 | AR INEFTH 7,732 0.9 882|[L B8 #45  [R ET 485] 98.0% IR E JII D ET 770 100.0%
884 [ F B I 6,542 0.9 884 | E 12 B 3521] 98.0% GETE £ 5RET 193 100.0%
885| AN IR HEM 2,041 0.9 885|=F 2 R 583| 98.0% IR E J\EZRT 662 100.0%
886 FEE B3 5,966 0.9 886 | = I 12 AR 2,260 97.9% GETE & JI[ET 429 100.0%
887| REIR =Kkt 5405 0.9 8875 E 2 ) || T 936] 97.9% [T EA=]IES 124 100.0%
888[EWIE Sk 7,310 0.9 887[ILFIE = £ 0 HET 1,582] 97.9% GETE s 1,178 100.0%
889|=FIE EX i 11,428 0.9 887 | KB AF A5 [ T 1,264 97.9% [T B 114 100.0%
890 [ B R JRiIm 4911 0.9 890| B &R AHX 40,538 97.9% 1|l 212 RN ERRLRBTAS 200 100.0%
891 | RIRIZ I 2,797 0.9 891|2F 8 BEom 3,226 97.9% GEE] KiEtR/ R/ BT A 308 100.0%
892 | KB FF pNUAi 177,637 0.9 892|ERER RER 28,704] 97.9% 1[IREBE BB A EET DR S 170 100.0%
893|i# & 12 Sl 8512 0.9 893[LLICE AETH 9,450| 97.8% GELY ERMETEMB RS 303 100.0%
894 ILfZ 12 A 18,672 0.9 894| REFE FEH 5,401] 97.8% 1| FRE 2 SRR 63,894 100.0%
895[= LR KR 2,809 0.9 894 | AR AT Al 6,140 97.8% 1| B2 n,?iri 13,258 100.0%
896 =R E =T 280 0.9 896 | [#] LLI 12 B 1,742] 97.8% R =Bm 8,533 100.0%
897 X2 FATH 6,919 0.9 897 [JLiEiE iR ZAT 2,108 | 97.8% e FERT 3,890 100.0%
898t AE AL 13,178 0.9 897|=HE X n] R BT 1,979| 97.8% 1| B30 2 ST 7,600 100.0%
899|EE 2 AT 1,109 0.9 897 |FIFRILIE | HEHET 1,299| 97.8% 1| B2 =t 20,269 100.0%
900[FFHE BhAil T 10,325 0.9 900|H)IIE NMATH 9,207] 97.8% R BT 13,658 100.0%
[EIET g2 7,543 0.9 901 |4k - BT 417 | 97.8% 1| B BEET 10,555 100.0%
902| RH 2 BRI 217 0.9 902|FkiH 2 EEXET 2575] 97.7% R #hIH 9,796 100.0%
903[REFE lakmwm g Rt rae 435 0.9 903 | SENE BWE 12,117] 97.7% 1| F 2 Bk 11,624 100.0%
904[IBEE | B th 4,415 0.9 04| = iFE FERE 9,270 97.7% 1| B30 2 RIS 7,371 100.0%
905X HIE INGI=E T 84 0.9 905 | RFIE Rl 27,938] 97.6% 1| E K"HH 7,893 100.0%
906|FJIIIE SHEH 3,109 0.9 906|ESE FEH 3,899] 97.6% 1| FRE 2 THMH 1,217 100.0%
97[IlOE =k 14,618 0.9 906|=F FEH 9,180] 97.6% 1| B2 AT 4,584 100.0%
908 Jt 8 /NEIKET 334 0.9 908 | AR AT ek il 3,760] 97.6% R FBEH 1,659 100.0%
909 | Rk IZ [y YA 12,506 0.9 909 |RIWIE SRk 1,814] 97.6% 1| B2 IR 2,123 100.0%
910[BERE I\ 9,305 0.9 909X E 2K IEH B LT 4,596] 97.6% 1| FRE 2 i 3,953 100.0%
FIRIECES JlILEr Hwa™ 11,260 0.9 9 [IIZYE et 3,368] 97.5% 1| B2 FEOETH 3,534 100.0%
912|3RE =% 6,935 0.9 912[IZIE ELTHET 3,447] 97.5% R W Rh 3,043 100.0%
IRB[ERBE |AEM 3,933 0.9 913|db:H:E N 11,128 | 97.5% 1| B2 RIATHT 565 100.0%
14| ZHB 3o 4,551 0.9 14[BEE ZET) 1,884] 97.5% R AR 476 100.0%
OEEEINEI T 3,101 1.0 EHEE EEE 20,718] 97.4% 1| F 2 R fRE AT 477 100.0%
916[FER RET 1,070 1.0 916| R IFE REBE 26,942| 97.4% 1| E5 2 AR Z T 359 100.0%
917[dtimE B4t 60 1.0 917[dLiEE =Rl 576 | 97.4% 1[B5 2 B AT 2715 100.0%
918|FJIE Z@hIREEhERAS 348 1.0 917|518 il 10,140] 97.4% 1| FRE 2 B KET 2,578 100.0%
919|FNIE =2 4,481 1.0 917|FINE FADSHE 1,438| 97.4% 1| B2 KRHET 4,029 100.0%
920 EEE WERR T 45516 1.0 920[ IO E =k 14,618] 97.3% R /L BT 1,338 100.0%
R21[=FE FA{REAET 441 1.0 921 | RIWE )l 2,797] 97.2% 1| B2 = FHET 2,373 100.0%
[YAIEES! FHEmH 11,666 1.0 921 | B4 2 FBEOETT 3,534] 97.2% 1| FRE 2 JII4E A< BT 289 100.0%
923| B1RI2 R 152 1.0 923|212 BB 7,210 97.2% 1| B2 AT 1,341 100.0%
924| KR AT WwHE T 29,873 1.0 923|1E 2 K71 RT 1,303] 97.2% 1| FRE 2 Yz i) HERAe 238 100.0%
9253 F 2 e 8,504 1.0 923 4#8 1R =T 436] 97.2% 1| B 2 EDA 2 B R 381 100.0%
926|dt 8 = HET 206 1.0 926|F)IIE == 4,481] 97.2% 1ZmE ZME 124,142 100.0%
927[REARE Fth 3,102 1.0 927 | RIRE F I 3,915] 97.2% NELT AHEM 174,993 100.0%
928| FEE BT 50,603 1.0 928|dt & AT 2240 | 97.2% 1|ZmE 2i3m 31,984 100.0%
929|3FF R PR 24,203 1.0 929 |4k iE:E FISHET 374 | 97.1% NELT ] 05 1 33,184 100.0%
930 HE B 20,071 1.0 930 LLIE ERE T 3013 97.1% 1|Z5mE —=Em 31,683 100.0%
WBIEEER #h 17,164 1.0 o3 |[MFINE [EFH 3,703 97.1% NELT f kil 10,140 100.0%
92 EEE g 6,221 1.0 932| REE BE G 1,501] 97.1% 1| Z5E EX::hid 9,614 100.0%
933 | FRFE 12 ERIIE T 2,123 1.0 933 | FEE ERT 12,326] 97.0% ] HHH#H 25,653 100.0%
934|dbimE =R 13,299 1.0 933 | F 412 BUHAT 4,187] 97.0% 1| Z5E 2)H 15,759 100.0%
93518 ATHT 521 1.0 935|1EE 2 'ET 18,976 97.0% ] ZETh 4,551 100.0%
936 LI 12 BE 1,828 1.0 0361 EE 5 CHEH 8,952] 97.0% 1ZmE EEm 6,213 100.0%
Q7 EEER BEmEm 39,731 1.0 937 | FEE [ 1,948| 96.9% NELT W& 12,715 100.0%
938[FHE FEFL 111 1.0 937|=F 8 RHER 2,148] 96.9% 1| Z5E EXhd 35,803 100.0%
939 | IR EXih 3,943 1.0 939 | F% [ 12 SRR 63,894] 96.9% NELT Eind 17,096 100.0%
940| RHF R HH 5,401 1.0 940t 8 3L FOET 401 | 96.9% 1| Z5E ESD 14,974 100.0%
I|EBEER Al 24,461 1.0 I | KPS [F3ELH 4,689] 96.8% NELT SEART 6,090 100.0%
942| R AHRX 40,538 1.0 942| I I2 XEM 4,857] 96.8% 1| Z5E PG 5918 100.0%
943[IZmER LEM 16,784 1.0 943 | KB iF EAMT 7,501] 96.8% NELT Ehend 5437 100.0%
944[BER IR \IEE T 3,796 1.0 944| B4R 12 REH 2,852] 96.8% 1|ZmE IR 8,053 100.0%
945[BE R AT 7,463 1.0 945|IR B2 12 PET 5529] 96.7% HEE:] it 12,640 100.0%
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REHMNRC FRICEITIEDICTIRIEOBMHRE (1)

OHEBERAIVEL—I1EHT-YDIREEEH RISIIRIE QT BEHEDEMLANE R RIJIRE R F—Fyb (30MbpsLlt) R33IIRTE
G | BB ERFE 2 [BREER RELEH] AE NEL [BEFER [FEES REEREH % |JEf | B E R [BREE R REEEH%
946 [FIRILE |A S )IIET 613 1.0 946 | FEIE AR 12,631] 96.7% 1| Z5E FER T 10,772 100.0%
947 [ #B IR BEEH 136 1.0 947|EEE RIGH 557] 96.7% 1|28 Fmm 3,268 100.0%
48| FEIE Emm 4,561 1.0 947 | REE T mEHET 1,341] 96.7% NELT PN 8,441 100.0%
049[=FE FIRAT 1,348 1.0 947 | B3 A 2 HIFEHE 565] 96.7% 1|Z5mE FEA 7,134 100.0%
950 EE R B EHT 1,158 1.0 950 |REARIE ERICLN 4,437| 96.6% ] 3L 5,895 100.0%
951|db i S EH 325 1.0 951|=F 8 =EB 39,574] 96.6% 1|ZmE EiRBH 7,193 100.0%
952 [ RIFE RI&H 27,938 1.0 952|418 EBHH 25,653| 96.6% NELT i -hidl 3,481 100.0%
953[ILFIE Bl &3] 3,368 1.0 953 | LLIIE A K ERT 252] 96.6% HE ki 5243 100.0%
954 | RIRIZ XA 21,243 1.0 954 |HE AR FHMEH 40,091] 96.5% T B 8,832 100.0%
955| FE R F Ll 377 1.0 955|{E & B INFT 3,799] 96.5% 1|Z5mE HAET 4,906 100.0%
956[IFE R E¥ii 18,191 1.0 956 | RIRIZ EX=hd 3,117 96.5% NELT Zh 4,602 100.0%
957[#EARE £+ =)IIET 2,623 1.0 956 | 40112 ] A Lb BT 2,970 96.5% 12508 BA™ 5,735 100.0%
958 | FH i 12 = 2,373 1.0 958 | &% [ I2 ST 476] 96.4% NELT LEHER 7,284 100.0%
959 Jt 8 B4 240 1.0 958 {& mam 1,192] 96.4% 1|28 PRE T 3,479 100.0%
FEEIMTET INEH 48 1.0 958 | iBIE BNt 969[ 96.4% NELT # & L 5,630 100.0%
959|=F 8 EEH 1,028 1.0 961 | R &R IJ\é#Fﬁ 7,732| 96.4% 1ZmE HEM 7,370 100.0%
962 | AR AT R FHRET 759 1.0 962|=F 2 FEH 6,357] 96.4% NELT RAFH 6,263 100.0%
963 Jt 8 ST 374 1.0 963|fE S Fa g 1 5409] 96.4% 12508 SUEET 4,267 100.0%
964[REARIR B 312 1.0 964|412 ikt 2,389] 96.3% NELT AL 1,540 100.0%
965(E5 2 RREEMAT 1,323 1.0 965|Z iR 18 SiAm 10,788 96.3% 1|Z5mE X OHT 2,157 100.0%
966[IFER SW-FH 102,814 1.0 966 |#Z)IIE  |chIFET 626] 96.3% NELT RS HET 2,901 100.0%
%7 =B E BEm 9,037 1.0 966 | 5% 12 =E+tm 20,269] 96.3% 1|Z5E SBET 3,103 100.0%
968 [TXH 2 #®wFh 5,695 1.0 968 [HFAE B [ 6,634] 96.3% NELT A2 THT 2,836 100.0%
969 | Rk EHIE ESA: 1,208 1.0 969 fidd 27,367] 96.3% 1|ZmE REH 412 100.0%
D EES A5 L HEHH 8,952 1.0 970 fid 6,474] 96.2% T ] A LE BT 2970 100.0%
971|SERIE & 3,585 1.0 971 G 18,191 96.2% 1 Z5E BUHBAT 4,187 100.0%
YAETS #HEYH 3978 1.0 972 it 2418] 96.1% ] A K0 % BT 1,037 100.0%
973[IuA g FA % fte BT 1,102 1.0 973 T 2,191] 96.1% 1|ZmE EF0 1,518 100.0%
974| B EXIE # b T 126 1.0 974 B E=ii 4,303 96.1% NELT HE R 3,737 100.0%
975 B% [ 2 =& 8,533 1.0 975[= EELR 1,390] 96.1% 1|ZmE EX=Li 4,264 100.0%
976 [FIFRILIE | HRES I ET 874 1.0 975[= JII it ET 1,267] 96.1% ] 5% ZEHT 243 100.0%
977[dt i 5 3iE BT 177 1.0 977|= EIC0H 4,288] 96.0% 1| Z5E BRET 175 100.0%
YR T fEMTH 5,593 1.0 978 |4t 3 EEHT 362 | 96.0% NET SR 51 100.0%
979 | AR AT RET 94,510 1.0 978| & =R = A T 1,066] 96.0% =88 =EB 39574 100.0%
980|XRIE ALY 33 1.0 980 VETH 14,155] 96.0% 1=58 Eh 20,121 100.0%
981[E&E PN i) 8,441 1.0 9814353 A=I0L0 342 | 95.8% 1|1=58 PIEEiGg 23,497 100.0%
082|t)IIE [ F=HT 1,821 1.0 981 KA 527] 95.8% 1|1=88 FEH 9,180 100.0%
983 | L2 FRM 1,841 1.0 981]3 ZET 1,037] 95.8% B AR 12,317 100.0%
984|dbifEE ;& AT 129 1.0 98418 i 5221] 95.8% 1=58 EX A 11,428 100.0%
985|FJIE = RHET 2,224 1.0 985 i 11,355 95.8% 11=88 SRRET 16,007 100.0%
986 [#T:R 2 EOEEMT 1,264 1.0 986 RIFLHE 1,323| 95.8% 1|1=88 &R 5,970 100.0%
987[=F 8 #Em 9,180 1.0 986 BT 8,204 95.8% 11=58 EET 1,028 100.0%
988 ILIFYIE L HEH 1,264 1.1 988 i {72 BT 803[ 95.7% 1|1=88 T 4,191 100.0%
989|512 =R 3,736 1.1 988 BT 1,128] 95.7% 1|=88 SHH 1,103 100.0%
990| 1@ FH 12 ML 1,565 1.1 990 X 32,581| 95.7% 1|1=88 BESrTh 1,000 100.0%
991 [IF 15 AREETH 1,603 1.1 991 BEFmh 4,066] 95.7% B WEAT 3,497 100.0%
992[E5F 2 et 7415 1.1 992[= JI A ET 1,337] 95.7% 1|1=88 ST 2,792 100.0%
993[BEARE i 2,478 11 993 EEEE 19,718] 95.7% 1|=F8 FEH 6,357 100.0%
994k 358 ol Bl BT 91 1.1 994 [ BE T 2389] 95.7% 1=58 = LT 414 100.0%
995|818 JEXEH 51 1.1 995 S X 49,035] 95.7% 11=58 RER 2,148 100.0%
996 [ihE IR nE 436 1.1 996[= Kitl 9,037] 95.7% 1|1=88 #mET T 3516 100.0%
997|SERIE Bl 14,286 1.1 997 i 115,458] 95.7% 11=88 S HHET 1,390 100.0%
998 | IR #B HEAX 49,035 1.1 998 i 19,382] 95.6% 1|1=88 JII #E T 1,267 100.0%
999 E I 2 EE 1,365 1.1 999 ; FET 15,958] 95.6% 11=58 BT 896 100.0%
1000|EEREE [ERE™ 51,005 1.1 1000[ &8 G 2362] 95.6% 1|1=88 BAF0RT 1,790 100.0%
1001 | F%fE 12 /LT 1,338 1.1 1001 |#03 A HJIET 1,975| 95.6% 1|1=58 &R 544 100.0%
1002[ EHFE et 3,932 1.1 1002 B EET 2,085 95.6% =28 EX5101 1,348 100.0%
1003|E 218 HER 86 1.1 1003|3353 3L 3BT 159 | 95.5% 1|1=58 EXE 575 100.0%
1004k 3338 40P ET 427 1.1 1003 & BREZ T 232] 95.5% 1|1=58 KACHT 416 100.0%
1005| S5 E EEES 19,718 1.1 10057 YA NYiH 12,506 95.4% 1|=88 EREE 441 100.0%
1006 |i# % 12 & 7,210 1.1 1006 XHH 2,399] 95.4% 1|1=58 #C AL ET 843 100.0%
1007 [ R D Al 12,375 1.1 10073 3E FEAT 1,264] 95.4% 1|1=58 IR 583 100.0%
1008t =)IIE [/NERTH 13,115 1.1 1008[F0FILE [A D 5 FHT 1,057| 95.3% 1|1=88 #CEHT 781 100.0%
1009 R &2 = 651 1.1 1009 TG 1,351] 95.3% 11=58 SEBEEMREHERES 405 100.0%
1010[1IIZYI2 BEA 96 1.1 1009 F 40 =HT 1,878| 95.3% 1|#EE XEH 27,210 100.0%
1011|FE 12 s Y 476 1.1 1011 i st 13,974] 95.3% 1#ZEE EiRm 9,365 100.0%
1012| 4@ 12 = T 4,325 1.1 1012|BE R ST 29,855] 95.3% 1#EE RIEM 9,748 100.0%
1013[IFFEE JI ST 1,243 1.1 1013 =l J\IEHT 326] 95.2% 1|#EEE ST\ T 6,949 100.0%
1014 EHE B2 3R ET 1,327 1.1 1013 = bl 12,375] 95.2% 1BEE HEH 11,893 100.0%
1015[IFFE & ENDhET 620 1.1 1013|4438 FE Rk AT 98] 95.2% 1|#EEE sfil 8,512 100.0%
1016 | F#fE 12 Bt 20,269 1.1 1016 i 11,711] 95.2% 1#EE EX il 6,654 100.0%
1017|&E1E EXTLN 571 1.1 1017 i 3,958] 95.2% 1|#HEE HEM 7,210 100.0%
1018[dL3E:E E- LN 395 1.1 1018 i 2,185 95.2% 1|#EE Fhg 4,334 100.0%
1019[db:m8E = AT 186 1.1 1019 SEET 536] 95.1% 1|#EEE Ea T 4,427 100.0%
1020 ;b8 12 XN 185 (K 1019 KBEET 12,019] 95.1% 1|#EE BLAETH 9,593 100.0%
1021|4212 BT 3,640 1.1 1019 il 9,901] 95.1% 1|#EEE RET 3,080 100.0%
1022 | RiRIZ BT 4,944 1.1 1022 2 41,589] 95.1% 1|#EE EEL 1,604 100.0%
1023 | 4@ 12 BESEAT 2,859 1.1 1023 7 4,801] 95.1% 1|#HEE ETH 1,048 100.0%
1024|128 F# 2 Ik BT 1,438 1.1 1024 18,611] 95.0% 1#EE ZIERET 2,204 100.0%
1025|512 TiEH 1,634 1.1 1025 B AT 253 | 95.0% 1|i#EE = AT 699 100.0%
1026|4012 =T 4,644 1.1 1025 = |y 251] 95.0% 1|#EE B RET 499 100.0%
1027[1LFE B JERT 463 1.1 1025 A FEET 249| 95.0% 1[HEE E2CL0] 609 100.0%
1028[LLAIE Be] EC T 192 1.1 1025 EEE 2,106] 95.0% 1| REBAF REBAE 33,539 100.0%
1029| =52 #RET 653 1.1 1025 B SIEHh 7,088] 95.0% 1[FRER AT AT 94510 100.0%
1030|f&@F 12 EF) 584 1.1 1030 i 45272] 94.9% 1| REBAF Al 6,140 100.0%
1031 | &8 12 R 63,894 1.1 1031 i 13,258] 94.9% 1| =R AT BEET 6,288 100.0%
1032 B2 E5EH 379 (K 1032 i 1,266 | 94.9% 1| REBAF HEER T 2273 100.0%
1033|EEIREE [Fi&H 113 1.1 1032 T 498 | 94.9% 1| RER AT FARM 14,141 100.0%
1034[=IF 12 EZT:0 269 (K 1032 EJlh 2,074] 94.9% 1| REBAF =T 996 100.0%
10351 F 2 FEET 13,090 1.1 1032 BR AT 725] 94.9% 1| REAF EXik 6,958 100.0%
1036 | BRE EXNLd0 392 (K 1032[ & 2 HET 1,287] 94.9% 1| REBAF P AEnd 5416 100.0%
1037[dt:mE EMNET 751 1.2 1037 R 1,833] 94.8% 1| REAF EIELH 4,431 100.0%
1038 ;PR IR Zh 6,434 1.2 1038 EEIG 3,181] 94.8% 1| REBAF RE R 6,721 100.0%
1039|EEE i h 17,705 1.2 1039| B2 AR ZHFRMEE 440 94.7% 1| ER AT J\bEH 5,105 100.0%
1040|i# % 12 XEH 27,210 1.2 1040[3:8 2 Fina 44.614] 94.7% 1| REBAF R EDH 6,414 100.0%
1041 ;4812 EAEN 22 1.2 1041 [#E A8 =18 R ET 2,167] 94.6% 1| REBAT =& H 3,760 100.0%
1042| k38 AL TH 140,344 1.2 1041 [E 508 BEM 1,561] 94.6% 1| REBAF Eftm 2,109 100.0%
1043| EHE = A 1,264 1.2 1043[fE 58 WhEm 24,372] 94.6% 1| &R AT A2)IH 7,831 100.0%
1044 | FIFIE I E T 1,337 1.2 1044|3H F 8 & EhVoHlT 620] 94.6% 1| REBAF K LI ET 1,289 100.0%
1045| FE 2 RIERT 861 1.2 1045 | T ER i X 12,476] 94.6% 1| ER AT A LI BT 1,128 100.0%
1046 |t i538 LN 236 1.2 1046 |4k & A 4592 | 94.6% 1| REBAF HFE 430 100.0%
1047[BEAR R K JIET 762 1.2 1047|518 25T 4,551] 94.5% 1| REAF =78 FA TR BT 669 100.0%
1048|5012 oh A ET 349 1.2 1048 [ & IS L BT 1,265| 94.5% 1| REBAF TEIERT 3,243 100.0%
1049 | EHE EHm 19,382 1.2 1049 FEE RIRT 5,827] 94.4% 1| AR AF R FHRET 759 100.0%
1050 4k 338 EArN=Nid 4,369 1.2 1050 [ R &R E[A= 17,380] 94.4% 1| REBAF FIRET 99 100.0%
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BEEANIELN FRICETHELICTIRIEDEMINR (1)

OHEBERAIVEL—I1EHT-YDIREEEH RISIIRIE QT BEHEDEMLANE R RIJIRE R F—Fyb (30MbpsLlt) R33IIRTE
G (BB RS [REEs RELEH] AE (Bt [ ZBE AT R % r&%% REEEH % | NEf |BRE R IE4 [BREE R RELFEH|%

1051 | FfE 12 BB T 48,042 1.2 1051 | RABAF = 78 B R BT 669] 94.3% 1| REBAF X ESL 1,327 100.0%
1052| FNIE A&t 9,139 1.2 AR E TN 3,138| 94.2% 1| REAF SHBAE TR s 257 100.0%
1053|4012 =0t 22,090 1.2 1053[ Iz IR L 1,821] 94.2% 1| REBAF HERMAEES 320 100.0%
1054 dk3838 = FHITHT 288 1.2 1054|Be 1R BEH 0,952] 94.2% 1| XBRAF AIRAF 117,882 100.0%
1055|FE 2 FrHEM 11,656 1.2 1055| 4k 3E KIGHT 203 | 94.1% 1| KBRAF KBR 177,637 100.0%
1056|fE &2 EF L1 292 1.2 1055 [ A2 AREA ) 1| BT 892] 94.1% 1| KBRAF R 64,565 100.0%
1057 (IR B 18 =111 429 1.3 1055 | & LIS EEL 616 94.1% 1| KBRAF FEFHETH 15,958 100.0%
1058 | = 52 EIZH 93 1.3 1055[ 11134 12 ENLS 53] 94.1% 1| KBRAF 2 31,735 100.0%
1059[REFE AR 38 1.3 1055|Z iR 2 FAETET 206[ 94.1% 1| KBRAF it B T 7,542 100.0%
1060 &8 12 75 R S ET 359 1.3 1055|= %18 REM 934 94.1% 1| KBRAF W T 29,873 100.0%
1061|% EX:AiH 1,792 1.3 1061 | XBRAF KB FF 117,882] 94.0% 1| KBRAF RKEH 5,637 100.0%
1062 Amh 10,317 1.3 1062| EEF 2 ek 3,337] 94.0% 1| RBRAF St 26,197 100.0%
1063 |AE A ST 952 1.3 1062 | FEE 2 PR 2,969] 94.0% 1| KBRAF BiEm 7,142 100.0%
1064 + BHETH 3,552 1.3 1064 |JtiEE [ 975 | 94.0% 1| RBRAF Sankir 8,745 100.0%
1065[& K25 TET 1,060 1.3 1064| LS8 EVNCYH 16,133] 94.0% 1 [ KBRFF AT 30,822 100.0%
1066 = 7% RIET 113 1.3 1066 | = %12 & BT 800] 94.0% 1| RBRAF FATH 23,810 100.0%
1067 #BRE T 8944 1.3 1067 | &% [ 12 E=hid 13,658 94.0% 1 [ KB FF JNETH 19,273 100.0%
1068 RETH 2,322 1.3 1068|1EH 2 EF0 584] 93.9% 1| KBRAF RIEHH 7,088 100.0%
1069[= B T 1,390 1.3 1068| =52 SIERET 269 93.9% 1| KBRAF EHAMT 7,501 100.0%
1070 AR 13,258 1.3 1070| SR 2 P 5 1,538] 93.9% 1| RBRAF BRI 15,993 100.0%
1071[= REEmH 1,000 1.3 1071 B2 HItET 24,657| 93.8% 1| KBRAF AR 6,499 100.0%
1072 REFR 179 1.3 10724t :EE A = T 855 | 93.8% 1| K BRAF [N 7,922 100.0%
1073 & W 6,895 1.3 1072| S1RE EEH 334] 93.8% 1| KBRAF KEH 8,429 100.0%
1074 RFSHE 565 1.3 1072| RIBFE /MEE BT 126] 93.8% 1| K BRAF MR 15,856 100.0%
1075|= 1R = 29,887 1.3 1075[REARIE AETh 2478] 93.7% 1| KBRAF E@h 12,483 100.0%
1076 dt @8 VLS 691 1.3 1076 | B &R EHEH 8979 93.7% 1| KBRAF R 4,801 100.0%
1077[dk3E58 o )1 BT 83 1.3 1077 | E%fE 2 Elhd 48,042[ 93.6% 1| KBRAF PR Eh 7,859 100.0%
1078[ILO R T 4,723 1.4 1078 (3R 2 ARt 3,.253] 93.6% 1| RBRAF P 7,411 100.0%
1079[RIFE RARKFET 534 1.4 1079 | REFE Fa] 25 44 547[ 93.6% 1| KBRAF HEm 6,274 100.0%
1080| SERI2 S 5ERT 415 1.4 1080[15 F & i 5,420 93.5% 1| KBRAF BATh 4,303 100.0%
1081 | FfE 12 EGd 3,953 1.4 1081 [ IFE EIFE 22,836| 93.5% 1| KBRAF BHFH 4,649 100.0%
1082| EFHE 5} 4 BT 212 1.4 1082| X7 & FrHET 1,214] 93.5% 1| XBRAF E SN 33,173 100.0%
1083[REFE REFEME R /NS 120 1.4 1083 | ] LLI I HIRTH 2,682 93.5% 1| KBRAF RET 4,834 100.0%
1084 ;4812 i 6,540 1.4 1084| BEF 2 £ /7 I BT 1,170] 93.4% 1| RBRAF PO B T 4274 100.0%
1085 [RE AR IR SRR 271 1.4 1085|402 RE 3,737| 93.4% 1| KBRAF XHh 6,015 100.0%
1086 | RFE INEETH 3,150 1.4 1086 | REFR AT 3,648] 93.4% 1| KBRAF ABR¥E LT 4,774 100.0%
1087 | HEFHE HRAJNET 817 1.4 Emh 2667] 93.4% 1 [ KB FF fREa T 3,901 100.0%
1088|252 EE AT 910 1.4 B8 £Em 1,851 | 93.3% 1| KBRAF 5 RHT 2,723 100.0%
1089| FEIE R ARET 344 1.4 B3 =% 526 | 93.3% 1| KBRAF S HERT 867 100.0%
1090[ KRB R ] 7 T 279 1.4 81 SE AL AT 801 | 93.3% 1| RBRAF HEZhET 467 100.0%
1091 SR 2 HE 14,410 1.4 1088[LLIZYIE 5 JEET 463[ 93.3% 1| KBRAF 1 fit] BT 1,264 100.0%
1092|5112 BA] A LE BT 2,970 15 1088 | & 18 A LAY 183] 93.3% 1| K BRAF AE HR BT 3,663 100.0%
1093[2 52 L% 222 1.5 1088 =I5 2 E00 766] 93.3% 1 [ KBRFF =l 743 100.0%
1094 | TERAF il 6,414 1.5 1094[#ZE)IE | X#01 17,285] 93.3% 1| RBRAF e BT 813 100.0%
1095 | R #B FSH 32 1.5 1095 |F#R R f=4caki 20,041] 93.3% 1| KBRAF AFHT 988 100.0%
1096 | #7iR 12 %E it 625 1.5 1096| = IIE AZEHT 1,580] 93.3% 1| KBRAF AT AT 1,117 100.0%
1097 |4t 338 S HT 146 15 1097[IIETE L5 /NEF E T 4,691] 93.2% 1| KBRAF F B R 290 100.0%
1098| X 12 _affin—lEE?ﬁ 1,510 1.5 = BEZHT 781] 93.2% 1 EEE EEE 91,583 100.0%
1099 |4k 338 ElAA:1 95 15 th ER T 338 | 93.2% 1 EEE R 115,458 100.0%
1100[FFEE M= 45,272 1.5 1ZEE 381 | 93.1% 1| EEE IERRTH 45516 100.0%
1101 |FfE 12 BEQEST 3534 15 g R FHRET 759 93.1% 1| EEE ElgH 32,715 100.0%
1102|# %12 RIET 9,748 15 1102|=RE Bem 7,543 93.1% 1 EEE [GEShH 24,547 100.0%
1103| HEHE il 84 1.5 1103|FXHIE BERKTH 3,009 93.1% 1| EEE FEh 39,731 100.0%
1104|2512 Xl 5918 1.5 1104| ST ER BABRT 8,078] 93.0% 1| EEE SNA T 2,811 100.0%
1105[5F 2 EHRA 147 1.5 R ET] =5HT 3,018] 93.0% 1| EEE EEm 6,203 100.0%
1106 [ 1L 12 ,ilil‘rﬁ 2,335 1.5 1106|IF B2 FREETH 1,603] 92.9% 1| EEE F#HH 17,164 100.0%
1107[E5F 2 — P HT 710 1.5 1107 [ 1@ 2 Je A 70,623| 92.8% 1| EEE HHET 2,063 100.0%
1108 [ 1L 12 BT AT 972 15 1108 SR AT 3529] 92.8% 1| EEE ki 6,221 100.0%
1109| HEHE PN 01 405 1.5 1109 FEEE I 2,781] 92.8% 1 EEE =K 21,160 100.0%
1110| BRI B FGA 4,906 15 1110[;h4BIE AiEH 4974] 92.7% 1 EEE FrEET 3,404 100.0%
TR XiB 247 15 N [IIRE FETH 2535] 92.7% 1| EEE T T 2,938 100.0%
1112| XBRAF FE R 290 1.5 1112 B4 82 R 2 66,010] 92.6% 1| EEE EEMH 17,426 100.0%
113[EEE EATh 5735 15 1113[dbE BEH 202 | 92.6% 1| EEE =AM 5,405 100.0%
1114]dL 58 £ JIIET 165 15 HI[BHEE BEM 1,143] 92.6% 1| EEE =N 7,166 100.0%
1115|db:E8E R BT 231 1.5 NB[ERSE [z S 943 92.6% 1 EEE N7 11,653 100.0%
1M16|EREE [+54 98 15 1116[ILEIE ER b 71 2,109] 92.5% 1| EEE INEF 4,118 100.0%
1117|ZBE BE NG BT 2,375 15 117 [ REWE AT 7,651 92.5% 1| EEE =Hm 8,882 100.0%
1118|F8RE 12 ElEa=10] 477 1.5 1118[BIIE MMELH 2,779] 92.5% 1| EEE ndE 2,947 100.0%
1T[FER EXL0] 767 15 1118[1@ M 2 L EH 660[ 92.5% 1| EEE FHE#Z LT 2,971 100.0%
1120[F50 12 X Z BT 1,037 15 1120 R E Sath 6,084] 92.5% 1 EEE ERM 1,598 100.0%
1121 RHFE oAt 28,045 1.6 1121|ZEE EESd 8274] 92.5% 1| EEE fas) ditl 4,748 100.0%
1122[RJIE £Rt 34,767 1.6 1122| KBR AT AT 30,822| 92.4% 1| EEE EEXH 2,156 100.0%
1123| =HRIE EEL) 789 1.6 ZHH 187] 92.3% 1EEE RER T 2,969 100.0%
11243 2 L EH 660 1.6 XS 239] 92.3% 1 EEE I 2,781 100.0%
1125|4812 R BT 116 1.6 A HT 2,723] 92.3% 1| EEE o0m 5,923 100.0%
1126 1L 12 AEEA 229 1.6 S BLERT 1,389] 92.3% 1 EEE ¥E4 )[BT 2,761 100.0%
1127[=d 2 EXoki 1,277 1.6 K 7,893] 92.2% 1| EEE EXLN 1,392 100.0%
1128|5208 5 iRt 60 1.6 I\ 4,333] 92.2% 1 EEE FREHT 2,462 100.0%
1129 B4R 18 il 2,429 1.6 B Z BT 771 | 92.2% 1| EEE B EZHT 3,033 100.0%
1130 | L #RAF {RIBAT 99 1.6 AT 460 | 92.1% 1 EEE GalllLos 806 100.0%
131|fES R A& LHT 981 1.6 AEH 792] 92.1% 1 EEE 12U BT 1,615 100.0%
1132|852 LG R4 188 1.6 i) 6,107] 92.1% 1| EEE 45 AT 780 100.0%
1133 |43 12 SRFHT 1,114 1.6 1133 S ENE SHY 14,286] 92.1% 1| EEE AFHT 3,228 100.0%
1134[#F K2 BRZERT 1,406 1.6 1134|ZILE 7 LI BT 1,877] 92.0% 1 EEE - ERET 916 100.0%
1135[ IR B8 B8 /7 I BT 430 1.7 1135| SRR HEM 14,410] 92.0% 1| EEE 1% FRET 968 100.0%
1136|EF 2 %5 B+ 278 1.7 1136[IF B8 i 3,747] 92.0% 1 EEE EXHT 1,158 100.0%
37| FEE At 32,884 1.7 137|=F 8 LR 5970] 91.9% 1| EEE iR RAT 968 100.0%
1138| FEEB Bam 782 1.7 1138| = BE Rt 4,034 91.8% 1| EEE BESELGEEHES 100 100.0%
1139|EEIR B2 |BESRET 547 1.7 1139 FJIE S 34,354] 91.8% 1 =RE ZRE 24,055 100.0%
11404812 A K BHBT 677 1.7 1140|dt 8 et 3,645 [ 91.8% 1| =RE ZBRH 23,726 100.0%
1141 [ ARE HARE 39,992 1.7 1141 [Z51E ZHE 124,142] 91.7% 1=RE RS AT 4,396 100.0%
1142|258 EEL 528 1.7 1142 =HE XN 3,103] 91.7% HEETE AFNERLLH 6,016 100.0%
1143|FEIRE 2 [KIHAT 490 1.7 1143[1ILIHZ 8 EBRE 8,944] 91.7% 1=RE X 4,006 100.0%
1144[dt:m8 JEA:N 134 1.7 1144| 5 HE T AT 617] 91.7% 1|1ZBE ERH 9,037 100.0%
1145|4638 BEN 202 1.7 1144[1EE 2 )11+ 220] 91.7% 1=RE [EEadit] 4,034 100.0%
1146 | & 212 AL 800 1.7 1144| RS JILEA 256] 91.7% 1| =RE gt 1,760 100.0%
1147 |43k 2 ARATN = HOBELRIAE 235 1.7 1144|212 M RS 303 91.7% 1|ZRE EIRR T 1,250 100.0%
1148|[E&2B 1 FE AT 1,058 1.7 1144|BERE ELR 109] 91.7% 1|=RE BT 10,101 100.0%
1149|4812 HE A 723 1.7 1144[RERE DL 698 91.7% 1=RE e 7,543 100.0%
1150| R B A SR 457 1.8 1150 FIH 2 e T 2,337] 91.6% 1| =BE ERm 3,471 100.0%
151 |FIE IR 19,827 1.8 1151 [ AJIE @ S T 1,260 91.5% 1|ZRE FREH 1,725 100.0%
1152[db:m8E = I T 2,104 18 1152|EEREE [iEEH 3,478] 91.4% 1| =RE LA 208 100.0%
1153 EF 2 THM 5516 1.8 1153 ;i8I BEOEm 5112 91.3% 1=RE T EERT 1,189 100.0%
1154|FA1LIE e Ll 2 37,921 1.8 1154 | R HB BifX 29,231] 91.3% 1=ZBE =i 1,670 100.0%
1155 | @ fE 12 EEHT 737 1.8 1155[3F F I8 B 4,387] 91.3% 1|=RE BENS T 2,375 100.0%
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REHMNRC FRICEITIEDICTIRIEOBMHRE (1)

OHEBERAIVEL—I1EHT-YDIREEEH R33.1BRE QEBEBHREDEMLANE [FER RIJIRE R F—Fyb (30MbpsLlt) R33IIRTE
G BB RS [REES RELEH] AE IESE [ZRERFE R [BREER REEEH % S %‘ISEH? 4 [REES RELEH (%

1156 (LB 1R THEM 1,110 1.8 11564k & T ER T 364 | 91.2% HES R 408 100.0%
1157 [FXEHE ER =L 408 1.8 1156 | EHE =FHr 595 91.2% 1 )| FEET 403 100.0%
1158|EREE [EREE 28,704 1.8 1158 | =T = 80,562| 91.2% 1 =81 280 100.0%
159|fFLE  |[F SAHHET 206 1.8 1159 |4 2 Et=w 10,475] 91.0% 1| =RE R A BT 2,346 100.0%
1160 | =ik I2 EHE 41,589 1.8 1160 1Lz IR XF HET 423[ 90.9% 1=RE S 55 100.0%
1161 ILEYIE 8R4 145 1.8 1160| REFI2 BAH 335 90.9% HEETE fERAL 35 100.0%
1161|RHFE REN 116 1.8 1160 E%EL% T EERT 1,189] 90.9% 1=RE = BT 446 100.0%
1163|{E %2 ABRHAT 577 1.8 1160 = 75] 90.9% 1| =BE EEELS 361 100.0%
1e4[w=IIE [EEAH 10,600 1.8 1160 581[ 90.9% 1 =RE 45 BT 1,438 100.0%
1165| FE 2 ARh 12,631 1.8 1165 8,108] 90.9% 1| =RE T 3HT 1,920 100.0%
11664t 8 [ A BT 548 1.8 1166 3,697] 90.8% 1 =RE NETN 3,060 100.0%
1167 [#2 2 AT 1,033 18 1167 4,264] 90.8% =88 A& HT 1,102 100.0%
1168 | =402 pNEL] 252 1.8 1168 684 90.7% 1 =RE = 97 ET 274 100.0%
1169 [ 8RS [fh RAT 330 1.9 1169 3,978] 90.7% 1|1ZRE KieHT 1,165 100.0%
NO[ERSE [ ST 943 1.9 1170 398 | 90.6% 1=RE T 220 100.0%
N7 |#HER RETH 3,080 1.9 11713 3,481] 90.6% 1|1ZBE ENED 23 100.0%
172| =GR = 2,774 1.9 1172 7,193 90.5% 1=RE ESIIES 66 100.0%
N3 EFE ZAH 1,948 1.9 1173 204 | 90.5% 1|1ZBE [S2CEIES 6 100.0%
74| RHE [ FFHT 1,304 1.9 1173 164 [ 90.5% 1=RE +:2)IIH 145 100.0%
175|EHE W 187 1.9 1173 767] 90.5% 1|1ZRE NEATS 7 100.0%
1176[;PiBE FIH 369 1.9 1735 557] 90.5% HEET JIEFF 33 100.0%
177|SBRE E[E01 1,160 1.9 1177]db#EE SRERET 1,336 | 90.4% HEETE HHH 51 100.0%
A ETTS AR BAZRAEE 440 1.9 1177 | KBRAF SR AT 1,117] 90.4% 1| =RE JIERET - ZEAH T b AS 339 100.0%
179 HE # IRET 1,177 1.9 79[ B4 RAFH 6,263] 90.4% 1FFLE  [Fgulg 22,574]  100.0%
1180 R LR A KEIHT 252 1.9 1180[=F 8 B dih 23.497| 90.3% i EE/ TS B 24915 100.0%
1181 = %02 74 75 + BT 951 1.9 181|=8E HEM 2,792] 90.1% FFILE [T 3,138 100.0%
1182| b8 A 99 1.9 1181 [F0FRILIE | ERACHT 767] 90.1% HEE T NG 4,153 100.0%
1183[1B5FE =i 10,382 1.9 1183| B ERE Joi=in 3,585] 90.0% 1[FIFILE  [HES 1,887 100.0%
1184|BE 2 Pl 251 20 1184 |4tiE:8 IR ET 442 | 90.0% 1FnFLE  |#ESH 1,449 100.0%
1185|= %02 Edakin 557 2.0 1184 | FTER pNET 457] 90.0% FFILE [HEm 1,851 100.0%
1186|FEIR B2  |chiEFHT 586 20 1184|IF B I8 - E L) 1,307] 90.0% 1FgnbE  [ollidm 4,286 100.0%
1187[S %12 TiEF KT 621 2.0 1184| S ERIE EEh 2,479] 90.0% 1FFlE [Adh 4,360 100.0%
1188 SERIZ SR 12,117 2.0 1188|EEREE |HEM 3933] 89.9% 1FIFRILE [ S EPET 394 100.0%
1189[dtiE5E BEF R 162 2.0 1189 | IR &R 31 X 44,602| 89.8% 1FFLE [hD5 FH 1,057 100.0%
NMO[ERSE [[Z/KET 581 20 1190 | RABAF RE R 6,721] 89.8% FgnbE [ hELE 243 100.0%
191 |EEE =¥ 1,339 2.0 1191 | REFE AR 3932] 89.7% 1FFLE  |[SEA 132 100.0%
1192|B S8 AR 368 20 1192 KBRAF ABRAE LT 4,774] 89.6% N E TR 862 100.0%
1193[FAEE EV5% Lol 139 2.0 1193 |t2 2 SR AT 4529] 89.6% 1FFLE  [E)IET 535 100.0%
1194[=F 8 | e Jb BT 843 20 1194[ b5 = B Ep AT 180 [ 89.5% 1F0FLE | HHEIIE 1,975 100.0%
195|BE R B A RT 288 2.0 1194[3tiE5E & LAr 129 | 89.5% [ EE TS EF 50 437 100.0%
1195|4018 =500 144 20 194 =RE = 9PET 274] 89.5% AT =AT 734 100.0%
H7MRINE |F s ilh 19,089 2.0 HU[ERE JIEEE - RIS 339] 89.5% 1FFLE [BERAT 330 100.0%
1198 |FNFRILIE [ SEIERHET 437 2.1 1198 |RIMIE KFHT 847( 89.4% 1F0FLE  [FEIRET 609 100.0%
1199 HJINE alIE 22,599 2.1 1199|EHFE 7 RLET 437] 89.3% 1F0Z0E | H A ~HET 963 100.0%
1200|F03RILIE [ ALEELLIRT 243 2.1 1200[ S 4018 A E 3,349] 89.2% 1FIFILE B IET 613 100.0%
1201[[E58  [REAMA 305 2.1 1201 [ B A12 AR 6.000] 89.2% 1FNBRINE |5 EET 1.299]  100.0%
1202 LLIZ4I8 =L )IET 1,046 2.1 1202| &R AL 1,653 89.2% 1FIgLE | FE FAET 1,307 100.0%
1203|FHE M AT 843 2.1 1203|fE B8 A I8 992] 89.1% 1FFLE  |[J S AHHET 206 100.0%
1204| SR I2 76/ SHET 147 2.1 1204[1ILOE Bl 10,317] 89.1% 1[F0FRILE | RS A T 874 100.0%
1205[3tiE5E ARERT 542 2.1 1205[3ti85E E 542 | 89.1% 1FDRILE [ A HhET 124]  100.0%
1206 [Z %012 EFi) 1,518 2.1 1206 | = IWE EAMH 5864| 88.9% 1{FgRILE BT 175 100.0%
1207|438 /NERT 167 2.1 1206 [ILIZIE LHEH 1,264] 88.9% G E T EATESS 25 100.0%
1208[IF 212 | {0 = BT 1,178 2.1 1206 [#0RILIE  |FORRILIE 22,574| 88.9% TS EE N 767 100.0%
1209|Z4E 8 ZREE 28,192 2.1 1206|AE K12 LXEH 1,705] 88.9% FIBRILE  [sym s sssas 171 100.0%
1210[1LFYIE AR F0ET 1,867 2.1 1206 [REARIE SKINBTR U/ R e 122] 88.9% 1| SEE EWE 12,117 100.0%
122I=FE 1 ET 583 2.1 1211388 =W 6,935] 88.9% 1| S]E BEH 14,286 100.0%
1212(F 8RB [#IY5TH 1,449 2.1 1212 HRA T 11,286] 88.8% 1| SIE KFh 11,464 100.0%
1213| KR AF FREh 15,856 22 1213 BEH 3,391] 88.8% 1| S]E J ==t 3,585 100.0%
1214 1L 12 X F HHET 423 22 1214[ 5518 05 +Hr 951| 88.8% 1| SEE foon 2,479 100.0%
1215112 fR AT 506 22 1215[#F A2 £ = JIIET 2,623] 88.7% 1| S]E A =HT 736 100.0%
1216 K2 Bl FF 1 7,493 22 1216|[LEE T 2,560| 88.6% 1| SEE SN 126 100.0%
1217 |BEARE EXE 30,682 2.2 1217|2508 ¥ 5437| 88.6% R A EEAT 415 100.0%
1218|[LE2 At [ S BT 1,208 22 1218 IR EXiE 1,732| 88.6% 1| SEE J\SEHET 1,226 100.0%
1219| kB8 Figk 8,074 22 1219|Z5E 2i5m 31,984| 88.6% 1| SIE = ZRET 463 100.0%
1220 [fE 112 BEEH 120 22 1220 | R &R BERX 0,282] 88.6% 1| SEE 3L ERT 1,389 100.0%
1221|308 T'E B FH 398 22 1221|[LE 8 fl=k kil 9,099] 88.5% 1| S]E 2= HET 1,287 100.0%
1222[3t3EE LN 499 22 1222 | FHE PN 380[ 88.5% 1| SEE JE BT 1,160 100.0%
1223|308 AT 225 2.2 1222 | B 5012 W& 12,715] 88.5% R B&E 24 204 100.0%
122404812 B 127 22 1224 FEE o 2,154] 88.2% 1{SHRE K ILET 1,094 100.0%
1225|BEARE 2 B ARHT 713 22 1224|#Z)IE |32 LET 2,596] 88.2% 1| S]E A ER AT 820 100.0%
1226 | R EB ZEET 10,075 2.2 1224[#R)IE | EERET 307] 88.2% 1| SEE [EELN 815 100.0%
1227|EHE 8~ RET 477 22 1224 ZILE FE 331] 88.2% 1|BEE A w1 AT 206 100.0%
1228112 FA RRET 399 23 122818 H 2 BHE 16,703] 88.2% 1{SHRE EEST) 121 100.0%
1228|EEIR B2 |HF AET 665 23 12294t 8 L ERHET 2,055 | 88.2% 1| S]E STRFRT 123 100.0%
1230| RIKIZ EFLEs 964 23 1230[IR 212 B 8,004] 88.1% 1| SEE KF A SR 468 100.0%
1231|#FRE Hi ZE IR AT 251 2.3 1231[E 58 1 R BT 239 88.0% 1|SRE SR8 15,942 100.0%
1232| b8 Ll 301 23 1232 | EE [EES 7,463| 88.0% 1 SRE SEE T 3733 100.0%
1233[ILFL 12 iR 20,761 2.3 1233 | B4 2 2 1,429] 88.0% 1| SRE WE T 3,529 100.0%
1234[IIZ 12 ARt 1,208 23 1234 5F 2 B KHT 535 87.9% 1| SR8 AHET 2,399 100.0%
1235|[RE 8 NET 42,060 2.3 1235[1L134 18 Gl 12,650 87.8% 1|SRE e 2,852 100.0%
1236 (1L IR I 368 23 1236 (1@ FH 2 7k T S5 BT 1,438| 87.8% 1| SR8 STE™ 1,538 100.0%
1237|FEIR B8 |SDFM 1,474 23 1237[BEE HET 2,829] 87.8% 1| SRE EXET) 794 100.0%
1238|EIRS IR 514 HT 520 23 1238[ILIZYIE R 2398] 87.7% 1| SR8 NES:S 184 100.0%
1239 SERIE BB AT 820 2.3 1239 [REARIE FEM 3910] 87.7% 1|SRE S IPRET 343 100.0%
1240 | R #B NG EAY 258 2.3 1240( k38 EZdil 270 | 87.5% 1| SRE Ll 334 100.0%
1240|FI[E B SR 172 23 1240 FEEE BZ T 1,561| 87.5% 1| SRE sELHET 152 100.0%
1242| R #B R 9,144 23 1240 )12 |BARHT 1,647| 87.5% 1| SR8 7/ SHET 147 100.0%
1243[dt:m8E [ 7 BT 142 23 1240[RE R FERAKHET 322| 87.5% 1| SRE KA 39 100.0%
1244|FEIREE [REHT 855 23 1244|FXEE P& BT 903| 87.3% 1| SR8 (S5 0 S BT 983 100.0%
1245|512 H R HT 239 2.3 1244 IHZIE =L JIET 1,046] 87.3% 1R L E Ff L2 37,921 100.0%
1246 | EE IR EER 91,583 2.3 1246|=F 2 A {REET 441| 87.2% 1| FE LR i#] LI T 54,670 100.0%
1247|2518 BISEET 947 2.3 1247 ZHE SALBT 3,665] 87.1% 1[ELE =1 Gl 40512 100.0%
1248[RERIR Pz i 3,661 23 1248 1@ 2 EN=11 8,612 87.0% 1R LR EAr 3,013 100.0%
1249|FEE 8 HEM 2,829 2.4 1249 | FER BBkl 15,430] 86.9% [N FERM 2,682 100.0%
1250 | AR AT =2 996 2.4 1250l O AT 718] 86.8% T i 5,931 100.0%
12561|EREE |EASHE 1,047 2.4 1250 | ZIEE R FHT 1,094] 86.8% H N ISESH 1,742 100.0%
1252 |JLiEiE BRI ST 286 24 1252|282 RIRT 3,080] 86.8% 1| FE LR FRT 1,841 100.0%
1253| EHE FaE At 428 2.4 1253 B)IIE RN 629] 86.8% 1 | FE Ll fERIH 1,950 100.0%
1254| 5F 2 —Fmh 1,707 24 1254 5F 2 F RET 538| 86.7% 1| FE LR P N 2,651 100.0%
1255 =G 12 4 AT 215 24 1254|518 XA H 252] 86.7% 1 | FE Ll FREETH 3,566 100.0%
1256 [ EE IR 1 FRET 968 24 1256 | FHEE L3 T 2.964| 86.6% T BRET 3,185 100.0%
1257| 3R 12 HRE 44614 2.4 1257[#F)NE  [#HR)E 128,367] 86.6% 1[ELE E3iT 1,732 100.0%
1258 | = HRIE JI1 Iy BT 525 24 1258[1E S8 44 i1 2416] 86.5% 1| FE LR EOm 2,335 100.0%
1259 |ZriEB 8 wEm 2,096 2.4 1259 | Z 518 IEm 8,053] 86.5% H N FNSHET 837 100.0%
1260|1512 FHROEH 1,878 24 1260[ILIZ4E A ST 399] 86.2% 1[RE LR EBHT 1,185 100.0%
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REHMNRC FRICEITIEDICTIRIEOBMHRE (1)

OHEBERAIVEL—I1EHT-YDIREEEH R33.1BRE QEBEBHREDEMLANE [FER RIJIRE R F—Fyb (30MbpsLlt) R33IIRTE
G [FER RS [REES RELEH] AE IEST [BRBERFR R [REES REEEH % | NEf | BRE R E4 [BREER RELEH(%

1261[FXVHE |BEE 21,396 24 1261 | KB AT BHIFH 4,649| 86.2% 1R EET) 942 100.0%
1262|HF A2 EZNG) 1,839 2.4 1262|FEJIE FIE 19,827] 86.2% 1| FE Ll K HHET 862 100.0%
1263 [P #E 12 KB 220 24 1263 ZRIE EIRENE 2,346] 86.2% 1R L e FLE T 64 100.0%
1264| = FE =58 39,574 2.4 1263|FEIIE = KHT 2,224] 86.2% HENE 15 SR BT 975 100.0%
1265 | Rk 2 EEEART 2,818 2.4 1265|2502 F 3,268] 85.9% i ENT Ex 11 420 100.0%
1266 [ KI5 RIGE 26,942 2.4 1266 |4 & EHART 751 | 85.7% I ENT BmREH 120 100.0%
1267 [ =512 SR 13,124 24 1266 |4k B % A T 432 | 85.7% 1| FE LR A K EHT 252 100.0%
1268|2518 BEm 3,899 25 1268 | KB AF RAEH 5637] 85.7% [T E AT 932 100.0%
1269 |54 12 FxHT 1,341 25 1268 RRE ZRE 24,055| 85.7% 1| RE LR = {i o ST 678 100.0%
1270[dL3:E ERFREA 133 25 1270|E5 2 FEM 1,659] 85.5% 1 [ FE Ll 2 E AT ERE A S 83 100.0%
PRNEER RIG - SET 313 25 1271 [#F AR P AHT 731 85.4% NET LEE 42,060 100.0%
IPAMET:] IS 355 2.5 1272] ;R 4818 BEHEM 723] 85.4% 1ESE S 15,539 100.0%
1273| EHE PRI AT 348 2.5 1273[ IR [E BT 1,464] 85.1% ESE ZRH 6,340 100.0%
1274|4812 HEHT 388 2.5 1274| RHE BAE 297 85.0% 1ESE EEm 9,239 100.0%
1275|=F 18 =100 544 2.5 1274|EIRS 2 |54 8] 520 85.0% HESE &Il 36,950 100.0%
1276 | RIFE BT 2418 25 1276 Z 518 =S 13,124] 84.9% 1ESE [kl 2,560 100.0%
1277 $812 B 45477 25 1277|=8 8 SRk 1,103[ 84.7% ESE =R 3,736 100.0%
1278 L35 ARt ET 402 25 1278 | ILE Zh 7,878 84.7% 1|ESE ERd 2,298 100.0%
1279 RUFIE .t F ESHE 1,063 25 1279]dbm:E + / EH&r 273 | 84.6% NETY Pt 1,745 100.0%
1280[Z 5112 SEMHAT 4,264 25 1280 ZHE £ 4 iEHT 1,331 84.5% 1ESE fl=ki kil 9,099 100.0%
1281|dbimE AEhET 462 25 1281[dk3E5E ALiE 140,344 | 84.4% ESE ZEEHET 1,890 100.0%
1282| 51R 12 2 AT 713 2.5 1282|1E 58 2 BT 1,109] 84.4% 1|ESE STHETH 1,110 100.0%
1283 K EF 2 FTEAK 43 2.5 12834 iEE 2 F fFRT 354 | 84.2% 1ESE FF 5 BT 4,207 100.0%
1284 | =52 =GR 22,836 2.5 1284t %)I|12  [#EdAT 7,009 84.2% 1|ESE s H AT 2,421 100.0%
1285|5F 8 [=ESTEESH 228 2.5 1285 | ] LI 12 ] L1 IR 37,921| 84.0% ESE AESTHT 1,930 100.0%
1286 (B 512 BiIfET 24,657 2.5 1286|F)I1E % FEIZHT 1,649] 84.0% 1|ESE 3R AT 1,107 100.0%
1287[5F 2 7551 % BT 251 25 1287 R &B BT B 1 31,913] 83.9% NET T A HHET 305 100.0%
1288 [ EHIE =FEHT 834 25 1288 |FAEIE #FEH 5,695 83.7% 1ESE E[A/NEL] 1,208 100.0%
1289 | R &R BIRX 44,602 2.5 1289 | RIWE J\TFRET 1,541] 83.6% ESE Al F SHT 313 100.0%
1200 EHE K FOHT 219 2.5 1290| L 58 JL s SET 1,208] 83.5% IOE wog 24572 100.0%
1201[5F 2 & R AT 492 25 1291 4k BLET 286 | 83.3% hag FE T 11,614 100.0%
1292|338 7 Efr 273 2.6 1291 4L EE FAZLN 343 | 83.3% [N=} =k 14,618 100.0%
1293 |13 12 AR 1T 5,079 26 1291 [IIF I8 WK 20,761] 83.3% hag Fm 2,709 100.0%
1294|3818 FREMAT 71717 2.6 1291 | AR REA LT 6,246] 83.3% A== Fr 4,723 100.0%
1295 | #2312 X AEHT 417 26 1291 [ R #B HEH 174] 83.3% hag f{nilit] 2,074 100.0%
1296 | R &R E[A=3 17,380 2.6 1291| B L&D INETRAE 258] 83.3% A== Eq 2,126 100.0%
1297 | =HRIE JIET:) 1,579 26 1291 S EUE [EELN 815] 83.3% =1} EXind 1,393 100.0%
1298 | EEE BEA 1,143 2.6 1298| R E AT 4,944] 83.3% A== A 10,317 100.0%
1299| HEHE TR HT 248 26 1299[1IICTE EZimin 1,393| 83.2% hag FOAHT 619 100.0%
1300| SR 12 BiEE 15,942 26 1300| &I EX Lol 964 83.1% [N==} - BRET 94 100.0%
1301[5F 2 AEH 358 26 1301 [ 418 LD BT 1,242| 83.0% hag A 7 76 BT 1,102 100.0%
1302|[E&2 MR 1,396 26 1302| L3418 B 4.875| 82.9% 10 A HT 718 100.0%
1303[E X112 ZfHh 4,602 26 1303 FEE BT 4561] 82.9% =1} ] X BT 192 100.0%
13044t 358 o F E AT 426 2.6 1304 |5 2 F{FZ R 477] 82.9% 1|ESE BB 18,018 100.0%
1305[ 1L 12 FNAHET 619 2.6 1305 [dEiEE el 3,886 | 82.8% 1|ESE mEH 18,049 100.0%
1306|FE'R B2 [fF{LET 673 2.6 1306 | FEFHE BhRiT T 10,325| 82.8% 1|ESE BP 3,697 100.0%
1307[ KA 2 THHETH 1,214 26 1307|5FE SFH 763| 82.6% 1|ESE NN 2,362 100.0%
1308|FJIE FADSH 1,438 26 1307 EE 7811 BT 1,788 82.6% GEE ik 5,409 100.0%
1309[E2 52 A JIET 992 27 1307[1LZ4E AR F0ET 1,867| 82.6% 1|ESE =l 2,488 100.0%
1310| RHE L HAET 266 2.7 1310| KRR AF R A 29.873| 82.5% 1HESE Ba] 31 7T 2,413 100.0%
1311 |[S508 LD ET 1,242 27 1311 [{E R 2 ST 3,375 82.4% 1|ESE EShd 1,792 100.0%
1312|RERE =dtEr 511 2.7 1312[dbiEE B 240 | 82.4% EE =fFmh 1,339 100.0%
1313|EF 2 B2 KHAT 535 27 1313 41E FHH 9,614] 82.2% 1|ESE 1% S T 288 100.0%
1314[ILL 2 LN 484 2.7 1314 I B8 IR AT 642] 82.1% GEE L AT 51 100.0%
1315[Z 52 ZHIE 124,142 27 1315[1B S8 JI{RET 696[ 82.0% 1|ESE {E AR AL 118 100.0%
1316| RBFE =W 814 27 1316 | KBR AT S HERT 867] 81.8% GEE f FHHT 1,914 100.0%
1317 ﬁﬁ%kﬁn INANELH 2,362 27 1317 [#FARE R FT 10,045 81.8% 1|ESE 26 LI BT 164 100.0%
1318 KK E K ST 1,067 2.7 1318 ZE1E HIRT 4,906] 81.7% GEE AR %5 BT 376 100.0%
1319|#8% JIILr HEINE 128,367 27 1319 [ R &B EPN i 6,478] 81.7% 1|ESE EXCTN 167 100.0%
1320|F0FXILE  [fE2)lTh 4,286 2.7 1320[ 1Lz 2 JII Fa By 1,034] 81.7% GEE = IRET 292 100.0%
1321 | RRIZ AT 6,084 27 1321 | FEE EEh 5351] 81.6% 1|ESE AL 450 100.0%
1322|db 8 =Rl 576 27 1322|E)IE |5 RET 1,314 81.3% GEE PATE BT 1,192 100.0%
1323| HEHE A B BT 1,046 2.7 1323|HE IR T X FH BT 851| 81.1% 1|ESE BT 2,045 100.0%
1324| K2 EX PN 2,270 2.7 1324[;h 4812 J\EAERT 3,489] 81.1% 1|ESE EEAEAT 3,128 100.0%
1325|51R I8 X 794 2.7 1325| REFIE HE 47,996] 81.0% 1|ESE R E7 BT 858 100.0%
1326 = %02 it 934 2.7 1326| B RS2 |FatEFRr 464] 81.0% 1HESE L iR AT 792 100.0%
1327 IL 12 =L 389 28 1327[FELE FISSET 837 80.8% 1|ESE 205 FH 411 100.0%
1328 | =2 L FRHT 751 2.8 1328[dbiEE Eh 3315 | 80.7% EELS B & LHAT 981 100.0%
1329 | @ 12 /NPTET 401 28 132944818 R 45477| 80.7% IS ENE 19,827 100.0%
1330[ XA 2 AHE 23,450 238 1330[;P4BE &5 6,434] 80.7% 1FINE [N 34,354 100.0%
1331|REARIR FA AT 585 2.8 13313 [EEEED] 379| 80.6% 1HENE A&H 9,139 100.0%
1332[Jb 358 LR 569 2.8 1332 ERm 3,409] 80.3% 1HENE i 3,365 100.0%
1333 | =ik IZ BEXh 5579 238 1333|5 A 33,539| 80.3% 1ENE E@mEh 2,268 100.0%
1334|5508 BE 3,349 2.8 1334[Ix B 12 XRMET 5,189] 80.3% 1ENE BEFH 4,066 100.0%
1335 4B 8 SEsh 11,559 2.8 1335 H 3,365 80.3% 1ENE SHETH 3,109 100.0%
1336| XS 2 EENH 1,599 238 1336] & KF i 11,464] 80.1% 1FENNE Ehhbi 1,658 100.0%
1337 = IIE BlIlH 2,475 2.8 1337 = 1| By 601] 80.0% 1ENE =2 4,481 100.0%
1338|112 pNSL:] 2,157 238 1337| K% L HAET 266] 80.0% 1FINE TR 792 100.0%
1339 SR 2 Eh 2,667 238 1337|#03 = P T 132] 80.0% 1HENE NCA=T:) 815 100.0%
1340| EE R i R AT 968 28 1340| FIHE R 60,470] 79.8% 1FINE = ARHT 2,224 100.0%
1341|1252 k=10 1,740 238 1341|122 BEAEN 2,052| 79.8% 1HENE ESHT 172 100.0%
1B3R|EREE [MART 1,313 2.8 1342| RiIFE S 2,186] 79.8% HENE F%EH 1,482 100.0%
1343 |4t imE L EHT 395 238 1343[IlOE [ 7 T 8,996] 79.6% 1EINE )11 BT 1,653 100.0%
1344[ILOE TEH 18,407 2.8 1344| SIRE AR AT 309] 79.5% AEE EXd) 514 100.0%
1345|FE'R B2 |FafEFHT 464 238 1345[BERIE AR 604] 79.4% 1HENE 2 REEEE 1,649 100.0%
1346 |FAEHE BRm 2,440 2.8 1346| =R KT 1,438 79.4% 1[ENE FADSHET 1,438 100.0%
1347[REHFE EHE 47,996 238 1347 [EE B2 BHETH 3261] 79.2% 1EINE ZeTRESTERAS 348 100.0%
1348 EHZE M5 1,916 2.9 1348|dLiEE EFIES 243 | 79.2% HET ZiEE 28,192 100.0%
1349[E5F 2 Eom 3,226 29 1348[ILOE [EliPN=T 618] 79.2% HET LT 38,184 100.0%
1350 E B HBRXH 126 2.9 1350 B EE JIL SR 1,243] 79.0% HET ) 10,788 100.0%
1351 | HHE EHRE 26,029 29 1351 [FAERIE R 2440| 79.0% e FHEH 4,571 100.0%
1352| =R I2 FEER 2,260 2.9 1352|251 ERAHT 243 78.9% e I\ R 2,053 100.0%
1353 |4k 38 25 254 29 1353 HF 2 EHHET 1,058| 78.8% NET #FEET 9,217 100.0%
1354 | RERAF 534 H R AT 669 2.9 1353 |BE 12 REZE 763] 78.8% e FET 8,274 100.0%
1355 | @[ IR 13 2 72,563 29 1355 & IS =1 29,887] 78.8% 1|ZEE KM 3,115 100.0%
1356 EIREE [FXETH 3,683 2.9 1356 B F 2 EXeh 1,948 78.7% HET PHE R T 6,440 100.0%
1357 [ ARIE B}t 4,988 29 1357 |4k & AT ET 225 | 78.6% HET it 2,429 100.0%
1358 | S8 mER 18,018 2.9 1357|# B8 B 4,334] 78.6% HET - 2,666 100.0%
1359 [ FRERAF ¥k ditl 3,760 29 1357|EEIRS I8 [FKT 843 78.6% e + SH 312 100.0%
1360[ILfZ 12 76 1| BT 310 2.9 1360|Jt 8 Ea kit 1,155 | 78.4% e HARITAT 2,538 100.0%
1361 |{£ %12 BT 901 29 1361 [1iliOg T=]:] 24572| 78.3% NET FEABHT 1,655 100.0%
1362 MEEL.- B 2,126 2.9 1362 | KB AT BEM 7,142] 78.3% e A FHT 1,094 100.0%
1363 |4k 338 Bl i BT 1,313 3.0 1363 |4k 2 fRET 424 | 78.3% HET FHE 442 100.0%
1364l 212 FaEf 2,228 3.0 1364 FE 1L %5 SR BT 975| 78.0% 1|ZigE HAEFET 206 100.0%
1365 K EFI2 FAJI[BT 985 3.0 1365 X D2 LHREHT 1,510] 78.0% 1| ERE S8 ILET 577 100.0%
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BEEANIELN FRICETHELICTIRIEDEMINR (1)

OHEBERAIVEL—I1EHT-YDIREEEH R33IIRTE Oié%@@#.ﬁLAN%ﬁE RIJIRE R F—Fyb (30MbpsLlt) R33IIRTE
G [FER RS [REEs RELEYH] AE (B [ ZpE R R |RE REEEH % | MBS | BB I EEE%‘% REEFEH|%

1366 1LLZYIE )| = FRET 1,001 3.0 1366 IR 212 .E;lJ.lr 6,895 77.9% HET T ER BT 1,113 100.0%
1367 | #H 12 REH 48 3.0 1367[dtiEE FEd 8,074 | 77.9% 1| ZEE BU/NPEREES 19 100.0%
1368 |4t 38 FILET 735 3.0 1368 |k 3E SECHET 462 | 77.8% 1S58 .%%DLR 13,124 100.0%
1369 | F#E 12 #Em 1,659 3.0 1368|1252 AT 910] 77.8% 1|EHmE =t 22,090 100.0%
1370| S EXIE J\BEHT 1,226 3.0 1368[=F 2 #o AL ET 843] 77.8% 1S58 Edahi 557 100.0%
1371 BB B EEE 40,503 3.0 1371 | B 18 BAm 5,735] 77.6% 1|EHmE REM 934 100.0%
1372| b3 [Z BT 614 3.0 1372[ b8 EFILN 846 | 77.1% 1S58 EEH 3,349 100.0%
1373 | 4L ZYLHE 459 3.0 1373| S 58 AT 1,192] 76.9% 1|EHE TiEH 1,634 100.0%
1374|[LE2 REm AT 1,890 3.0 1374[HEARE 5 A HT 1,839| 76.8% 1S58 JElTH 1,192 100.0%
1375| &8 12 [NGL0] 311 3.0 1375|BIIE SR 34,767| 76.7% 1EHmE BEH 1,308 100.0%
1376 |18 FH 12 R 6,459 3.1 1376 |{@ M 2 = BT 4,325 76.7% 1S58 ki 2,389 100.0%
1377[S %18 A& TH 1,192 3.1 13771l 2 RE 506] 76.7% 1|EHmE BEM 1,561 100.0%
1378 [FAH IR JLRET 1,678 3.1 1377[1B S8 EEI01 368] 76.7% 1 .%fu% BUFHET 86 100.0%
1379[EREE [§8TH 483 3.1 1379| FEE FEB 98,487| 76.6% 1|E08 = FIHT 148 100.0%
13804t 338 FE ER BT 249 3.1 13804818 AL 1,889| 76.5% 1|EE [=ESN 144 100.0%
1381 FEE B FHAT 643 3.1 1381 | REFIE PG 1,661 76.4% 1EHmE %2 A 110 100.0%
1382[E5F 2 EFH 763 3.1 1382[;hiBIE Sl H 872[ 76.2% 1S58 E[AIIES 75 100.0%
1383| kIR 2 e 2,883 3.1 1383|512 EBH 5,243] 75.9% 1EHmE B 60 100.0%
1384 |1 &2 ZAM 1,365 3.1 1384[ILZYIE ETY 16,954] 75.8% 1S58 A LLIET 183 100.0%
1385|FE 2 NFRH 15,491 3.1 1385 & R BB | KUSHT 897 75.8% 1S58 Al 109 100.0%
1386|152 THA 429 3.1 1386 (1@ FH 2 HET 5,253| 75.6% 1S58 R 228 100.0%
1387|&F 2 AfiETH 2,188 3.1 1387|Z51E ERohn 17,096] 75.6% 1|=08 pNIIESE 27 100.0%
1388[E5F 2 EF8 26,420 3.1 1388 | REFIR AT 18,027] 75.2% 1S58 LD ET 1,242 100.0%
1389 #E 12 AR ER AT 1,181 3.1 1389|dt:EE i 71 BT 142 | 75.0% 1| E5E [ IS 224 100.0%
1390| FFHE [ BT 800 3.1 1389 | =M A FRET 751] 75.0% 1S58 oh + BT 349 100.0%
1391 | FEHE pNDLl 380 3.1 1389|fE S8 AR ET AT 858| 75.0% 1|08 &)1 BT 800 100.0%
1392|FEIR B2 [KFnHt 81 3.1 1392[dbEE BEM 1,624 | 74.8% 1S58 8 K0 BT 284 100.0%
1393 SR 2 XHEH 2,399 3.1 1393|HF 2 E i 8,304] 74.5% 1|EHmE R AT 201 100.0%
1394|FE'RE 2 |[FEfidsmh 2,608 3.1 1394| K P2 X PN it 2270] 74.4% [ et 201 100.0%
1395|518 T 4R ET 335 3.1 1395|AE K18 Bk 845 74.4% 1|08 FZTTET 379 100.0%
1396 |FNFRILIE  |H A ~HET 963 3.1 1396 [P iBIE dt At 1.713] 74.2% 1S58 7975 + B 951 100.0%
1397[ 512 mAE+H 2,240 3.1 1397 | X EB AT NG 1,289 74.1% 1|Z08 PG 252 100.0%
1398[ILEIE it {4 BT 803 3.1 1398|BE R F 1L INFH BT 998[ 73.9% 1S58 ZRH 60 100.0%
1399[IIZY IR ITET 16,954 3.1 1399| FE R A+ H BB 833] 73.8% 1|EHmE ERLN 571 100.0%
1400[Z 408 = 259 3.2 1400 | F% [ (2 2 R 3,043] 73.8% 1S58 EE AL e 147 100.0%
1401 [dbim8E FRICLAT 237 32 1401 | L2 HEATH 2,651] 73.7% 1 EEE 72,563 100.0%
1402 [FXH IR J\ B i3 BT 304 32 1402| KR8 BIFF T 7,493] 73.7% 1 Jb A 70,623 100.0%
1403|FE'lR B2 [AR™ 6,933 32 1403[ILfZ 2 Ft 2 BT 345] 73.7% 1 B 124,472 100.0%
1404| X712 AL 4,689 3.2 1404 [F¥ 2 FRIGH 17,705 73.7% 1 AEHET 7,796 100.0%
1405[Ix 218 ABEH 3,049 3.2 1405[ Il ZIE T 2,044] 73.6% 1 BARH 26,238 100.0%
1406 |f@F 12 it 2,204 3.2 1406 [ 4012 BEM 1,308| 73.5% 1 BEAT 4,565 100.0%
1407 |F03RILE | JEAT 1,299 3.2 1407 | B JIE tEm 3,437] 73.3% 1 RIEH 9,901 100.0%
1408[HIINE 7X 7K BT 388 32 1408 | = UF 2 & T AT 844| 73.2% 1 N&h 4,406 100.0%
1409[BERIE LI ER BT 844 3.2 1409 |dt 8 REHT 1,313 | 73.1% 1 RET 4,238 100.0%
1410|153 F 2 BER 118,995 3.2 1410| XS 8 iR 6.977] 72.9% 1 PN 2,119 100.0%
141[BFE LT 1,071 32 1410|EERBE |SiH 2,424] 72.9% 1 TkEm 5,674 100.0%
1412| KB AF ABRAF 117,882 3.2 1412|EIRS R 35 NET 665[ 72.9% 1 ikt 1,736 100.0%
1413|=FE fEN0] 781 3.2 1413| XBRAF BEm 6,274] 72.8% 1 INERTH 5,122 100.0%
1414|fES 2 [k 3,697 3.3 1414| REE RANET 219] 72.7% 1 AEHH 9,059 100.0%
1415[ILO 2 =M 2,074 3.3 1415|388 Bt 59,267| 72.6% 1 EHBHH 11,105 100.0%
1416| SR I2 #wHET 3,529 3.3 1416 F 412 Elnd 6,213 72.5% 1 ABHh 9,372 100.0%
1417 ILE 8 o 2,234 3.3 1417|EILE g 3,316] 72.3% 1 R&EH 8,196 100.0%
1418 | RIRIZ RWE 60,470 3.3 1418 FFHRE BALET 1.112] 72.1% 1 AZEfRFH 6,421 100.0%
1419| RIFE Sk 2,186 3.3 1419| S EE = ZART 463] 72.0% 1 i 5,221 100.0%
1420| = HRI2 | ¥ & BT 800 3.3 1420 [ 5T &R BEX 12,744] 71.7% 1 'Em 6,176 100.0%
1421 | F3E 12 Btk 11,624 3.3 1421|f5 B8 AET 2,536] 71.7% 1 S EEH 2,313 100.0%
1422|[FE2 ER 2,298 3.3 1422|3tH:E R 142 | 71.4% 1 BEAH 2,052 100.0%
1423|F0FRILE  [TE)IET 535 3.3 1422|BE R BT 5,593] 71.4% 1 B 2,763 100.0%
1424 |13 12 ERM 2,763 3.3 1424| LB PN 1,745] 71.2% 1 AT 3,958 100.0%
1425| =R I2 At 527 3.3 1425| FEEE EERH 3,396] 71.1% 1 AR EH 2,563 100.0%
1426 | =402 BEM 1,308 3.3 1426|4012 LN 571 71.0% 1 SB™H 8,612 100.0%
1427|E51R 12 T 1,538 3.3 1427 ;R 4818 R 6,540] 70.9% 1 EET 3,375 100.0%
142831012 #i8h 2,321 3.3 1428[1E S AEEh 3,189] 70.3% 1 [EET) 2,859 100.0%
1429| 5F 2 PN 718 3.3 1429 | B4 [E 2 B KET 2,578] 70.1% 1 R T 4,529 100.0%
14304t 3338 = =1} 441 3.3 1430|FJI[E ZH 514[ 70.0% 1 JAEHT 2,928 100.0%
1431 | RED AT 3 FH 430 3.3 14313 = A F 4,389] 69.9% 1 = HT 4,325 100.0%
1431|[EREE [MIGH 1,360 3.3 1432|% wEm 2,096] 69.8% 1 A LLIBT 912 100.0%
1433| EIBE EERm 3,181 3.3 1433|B)IIE alE 22599[ 69.7% 1 HHE T 5,022 100.0%
1434[RIJIE HETH 1,260 3.3 143444518 FiIH 369] 69.6% 1 == 1,033 100.0%
1435| KA 12 Ao 38,540 3.3 1435|2512 SIERET 4,267] 69.4% 1 7K AT 1,993 100.0%
1436 | E 2 Il 5,041 3.4 1436 |[FAHE 1[11:1tr 1,537] 69.3% 1 e 15 BT 2,691 100.0%
1437 | &8 12 FRfE 2 66,010 34 14374t 8 % 3 AT 128 | 69.2% 1 =BT 1,562 100.0%
1438 | @[ 12 A% C HT 1,258 3.4 1437[1lLOE FOAHT 619] 69.2% 1 /NPT BT 401 100.0%
14395 F 2 J\FBEH 1,438 3.4 1439[RERE XET 5597] 69.1% 1 FEET N 1,114 100.0%
1440[=F 8 HEM 2,792 3.4 1440[{£ % 2 EiET 9,867] 69.1% 1 [N 972 100.0%
1441|3012 Eigm 3,270 3.4 1441 =R E AOHET 1,012] 68.8% 1 K71 RT 1,303 100.0%
1442| RIFIE EGd 3,184 3.4 1441 IR 212 B8 /7 [ BT 430[ 68.8% 1 KAHT 1,381 100.0%
1443 | =R I2 £ & JERT 1,331 3.4 1443|185 H 8 B AT AT 1,607| 68.6% 1 =) BT 1,679 100.0%
1444| X712 EIFFTH 2577 3.4 1444[3b:E:E RTHT 1,150 | 68.5% 1 BEH 737 100.0%
1445[dt:m8E EEd 1,238 3.4 1445|FEIREE | XIHHET 490] 68.3% 1 7 E AT 619 100.0%
1446 | =R IZ AANHE 1,012 3.4 1446 [#5)I1E | KHEET 2,307| 68.2% 1 4 EHET 738 100.0%
1447|fER B LB e EERIES 657 3.4 1447|IF B8 JII DR 770] 68.2% 1 JI1E BT 1,144 100.0%
1448 | 1@ 12 o 2,757 3.5 1448|5012 Rl 5918] 68.1% 1 KIEHET 417 100.0%
14491 B E BB 2,019 35 1449 |{E R 2 EEHT 737] 68.1% 1 Frt 273 100.0%
1450[ 1212 o (LI BT 747 35 1450 [ FAEH 2 EAh 1,996 68.0% 1 125 BT 1,861 100.0%
1451 [#E K2 XHEEH 5314 35 1451 |JtiEE FEH 455 | 67.9% 1 i F BT 3,115 100.0%
1452| FEFHE 7 HT 283 35 1451 [3HFE R SEHET 4,298] 67.9% 1 #% C BT 1,258 100.0%
1453 [t Il e BT 354 35 1451 | L2 FRT 1,841] 67.9% 1 S =M 388 100.0%
1454|FE'R B2 [FIHET 586 35 1454 | FFHRE F FHT 963| 67.8% 1 L+ EH 660 100.0%
145511512 HWH 4,875 35 1455| B ER IR AILET 1,094] 67.7% 1 ERH 1,235 100.0%
1456 | db 38 =% 526 35 1456 | RABAF BT 2,273| 67.6% 1 EEETS A RS 318 100.0%
1457|{E 512 EEH 17,900 35 1457| EHE W/ ET 669] 67.6% 1 ABKENEHAESLRES 235 100.0%
1458 | = ILIIE =R 22,714 3.5 1458| = F 2 & 544] 67.5% 1 LESEFRES 657 100.0%
1459 | EE 2 FHEE LT 2,971 3.5 1459 |{E R 2 [ 3 6,176] 67.2% 1 EBR 20,718 100.0%
14604t 538 R ET 294 35 1460 |1 [ 12 AEHT 7,796] 66.8% 1 EET 17,900 100.0%
1461|fBFH B INVET 2,226 35 1461 |Jt:EE TEFHET 93 | 66.7% 1 BT 6,891 100.0%
1462 | AR AT FEAE 33,539 3.6 1461[dLiEE EFLN 236 | 66.7% 1 Z2AMH 1,365 100.0%
1463|{EH 12 A HTET 401 3.6 1461 [#Z)IE  [ILdbm 578] 66.7% 1 FEEH 4,622 100.0%
1464 |HFARI2 FR 3] ) 1| BT 892 3.6 1461 3B S BRE 625[ 66.7% 1 R 3,987 100.0%
1465 | B &R HERED 150,770 3.6 1461 | EHE EIES 419] 66.7% 1 EEh 2,377 100.0%
1466 | 58 12 THH 1,217 3.6 1461 [REHE REH 116] 66.7% 1 AN 3,799 100.0%
1467 | RHE EEISES] 207 3.6 1461 [ 518 BERT 86| 66.7% 1 s 2518 100.0%
1468[ILIFZ 12 = JIET 601 37 1468 | = 4012 i 1,634| 66.3% 1 AL 1,510 100.0%
1469 | EHE IRk BT 1,075 3.7 1469 | =3 BERT 789] 66.1% 1 LA 1,249 100.0%
147018 FH 2 AT 1,607 3.7 1470 FEE 7 E™ 5,093] 66.0% 1 I T 901 100.0%
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REHMNRC FRICEITIEDICTIRIEOBMHRE (1)

OHEBERAIVEL—I1EHT-YDIREEEH RISIIRIE QT BEHEDEMLANE R RIJIRE R F—Fyb (30MbpsLlt) R33IIRTE
G |BR BRI [BREER RELEH] AE IESE [ERBERF R [BREES REEREH % | JEf | BN E T E4 [BREE R RELFEH%

1471 [fEILIE AT 837 37 1471 BB 8 TR 2,204] 66.0% 1EEE 7 X0 BT 1,878 100.0%
1472| FEB [l 1,561 3.7 1472 | & EoEm 8,039] 65.9% 1|EBEE X iERT 438 100.0%
1473|B S8 EFIET] 522 37 1473 &S A&H 9,139] 65.8% 1EEE # HET 1,589 100.0%
1474| EHE B HHE 2,085 3.7 1474 RBE EEART 2,818| 65.6% 1|EBEE K HT T 401 100.0%
1475113412 B o3 1 G BT 1,582 3.7 1475[IIH 8 KITHT 521] 65.5% 1EEE STALET 810 100.0%
1476 F#LLIE BREEH 3,185 3.7 1476 |#1:8 8 + B ETH 3552] 65.4% 1|EBEE =E=1) 1,740 100.0%
1477|F 080 LE  [HESET 734 3.8 1477|EEEE [HABH 6,933] 64.7% 1EEE A RHET 577 100.0%
1478|fEE 2 BAIRE 1 5,409 3.8 1478 [ ;R 4812 A ERET 1,181] 64.6% 1| RIS EBE 26,942 100.0%
1479|REHE LS 419 3.8 1479[1ILOE T 4,723] 64.5% 1| RIFE BRH 3,409 100.0%
1480|i# & 12 B R AT 499 3.8 1480 | F%fE 12 XS 3,890] 64.5% 1| EBE A 9,143 100.0%
1481[Ih g EEMH 9,450 3.8 1481 [R)INE |[SHEH 11,260] 64.4% 1 EBE FEEm 2,185 100.0%
1482 | FEE R"emh 3,930 3.8 1482 i 2,322] 64.4% 1| RIFE Sl 2,186 100.0%
1483 [#H K2 BB 7,235 3.8 1483 37,802| 64.2% 1| RIFE hBEH 2418 100.0%
1484| SERI2 EET 2,479 3.8 1484 15,839] 64.0% 1| RIFE E i 3,184 100.0%
1485 [JL 8 Z&Eh 1,851 3.8 1485 834| 63.3% 1| RIFE BERT 3,181 100.0%
1486|212 B E 1,861 3.9 1486 1,110] 63.2% 1| EigE R5HT 3,481 100.0%
1487|BE 2 K5EET 390 3.9 1487 1,075] 63.0% 1| RIGE B2 T 2,572 100.0%
1488| FEE 750055 T 326 3.9 1488 633] 62.5% 1| EBE EX a0l 534 100.0%
1489 | 12 EIHT 1,048 3.9 1489 3,494] 62.4% 1| RIGE I AR ET 1,085 100.0%
1490[Z 5112 Z2HEH 174,993 3.9 1490 547] 62.3% 1 2 K& RET 1,241 100.0%
1491[EE 2 SHIIH 2,488 3.9 1491 459 | 62.2% 1 £ =BT 1,386 100.0%
1492 | EEE I ZRET 916 3.9 1492 2,305 61.5% 1|8 EXE 30,682 100.0%
1493 {E R AiEm 4974 3.9 1493 6,118] 61.5% 1 fid 61,458 100.0%
1494|0358 deEE 86,509 3.9 1494 1,365 61.4% 1]f i 9,305 100.0%
1495 |4k 3338 R 7,917 3.9 149548 2,691] 61.0% 1 id 2478 100.0%
1496 | #H 12 AFT 28,334 3.9 1496 22,714] 60.9% 1]f i 4976 100.0%
1497 | RIRIE EEXET 2575 3.9 149748 72,563| 60.4% 1 i 3925 100.0%
1498 | EIBE & < BT 1,386 3.9 1498 402 | 60.0% 188 i 3,102 100.0%
1499|212 2 JERET 699 3.9 1498 477] 60.0% 1 FXEH 1,705 100.0%
1500 dt 338 ZEA:) 771 39 1498 1,264] 60.0% 1]f il 4,669 100.0%
1501 IO 2 FEih 11,614 3.9 1501 A& 762| 59.5% 1 fitl 1,746 100.0%
1502| Z BB ZBE 24,055 3.9 1502 7,371] 59.2% 1]f il 5597 100.0%
1503[ILZ 12 JEHETT 6,825 3.9 1503 10,382] 59.1% 1 il 6,944 100.0%
1504|i# %12 E3-1i 609 4.0 1504 321] 58.8% 1]F T 552 100.0%
1505| = 512 ECh 32,149 4.0 1504 fE 943] 58.8% 1 BT 468 100.0%
1506 [ ILIfiZ 12 HETH 2,535 4.0 1506 428] 58.6% 188 SET 1,126 100.0%
1507 [EE RIS XEm 5597 4.0 1506 612] 58.6% 1 BT 613 100.0%
1508 | LI 2 R AH 2,651 4.0 1508|428 27| 58.3% 1]f X 3,661 100.0%
1509 {2 & 12 N T 3,799 4.0 1508 98| 58.3% 1 BT 4,437 100.0%
1510 LLEE BT 2,072 4.0 15083 129] 58.3% 1|8 [EDNEL] 264 100.0%
1511 EE‘PLT >th FR BT 633 4.1 1511 = 800] 58.1% 1 PINEL:N 421 100.0%
1512[Be R Wb EEKRHH 2,002 4.1 1512 177,637] 58.1% 1]¢ AR 109 100.0%
1513 E.HE}L% Z VDM 1,343 41 1513 15,816] 58.0% 1 AT 448 100.0%
1514| EHE G 3,556 4.1 1514 441 | 57.7% 1|8 AR 604 100.0%
1515[AE RIS 3w N 322 4.1 1515 =] = SERET 1,001 57.3% 1 L 698 100.0%
1516 | =2 = TR 844 4.1 1516| = 51 299 57.1% 1|8 BT 943 100.0%
1517[5F 8 —Bmh 7,808 4.1 1516 188] 57.1% 1 BT 844 100.0%
1518|{E &2 Beth 2,377 4.2 1518 1,384| 56.7% 1]f BT 762 100.0%
1519| ki@ b3t 3,645 42 1519 4,602| 56.6% 1 BT 1,096 100.0%
1520 | =3k 12 & FRET 533 4.2 1520|Z& 1,250] 56.3% 1]¢ FERARHET 322 100.0%
1521 [dL3iE:E Eain 1,155 4.2 1521 | R BB HEEE T R s 257] 56.3% 1 SRET 952 100.0%
1522 | SRERAF 5 S EF AT 1,327 4.2 15223 BT 499| 56.0% 1|8 % BAHT 713 100.0%
1523 |18 FH 12 HEH 5253 4.2 1523 1,566 55.4% 1 BRI 271 100.0%
1524 KRB R = A 515 4.2 1524 7,600] 55.2% 1|8 177 100.0%
1525[2 82 IS HT 575 4.2 152548 522] 55.2% 1 312 100.0%
1526 | = 512 EFEm 2,389 42 1526 254 | 55.0% 1] 47 100.0%
1527 [BE R fEDARET 1,383 4.2 1527 492] 54.7% 1 361 100.0%
1528 [IL 22 =10 963 4.2 1528 3,640] 54.6% [ 232 100.0%
1529 LU 12 Lt 1,821 4.2 1529 19,430 54.4% 1{RERE HE é Y T 1,303 100.0%
1530 &2 EA=T 2,045 4.3 1530 13,510] 54.1% 1{AERIE SLEr 511 100.0%
1531 | R LR FRAETH 3,566 43 1531 108 | 53.8% 1{AERIE KNBTR U\ Teh A8 2 122 100.0%
1532[ILfZ 2 JIIEEHT 1,034 4.3 1532 7,235| 53.8% B AR 23,450 100.0%
1533 | HEFHE F5 10 it BT 782 43 1533 3,150 53.6% X Al FF 7,493 100.0%
1534| FE 2 BE#hH 2,154 4.3 1534|= 781] 53.2% B i 6,977 100.0%
1535[IIZY IR EEH 2,044 4.3 1535[ A8 511] 53.1% X B H 5,110 100.0%
1536 LU OIE HFHmH 2,126 4.3 1536 3,049] 53.1% B E{am 4,689 100.0%
1537 | @ 12 HOFET 2,563 43 896[ 52.9% X EI#FTH 2577 100.0%
1538|fE &2 BAL i T 2,413 4.3 1,396] 52.7% 1 XHE EART 1,003 100.0%
1539 | RIKIZ $ S HT 519 43 206 | 52.6% X TTE T 1,214 100.0%
1540| 5F 2 K h#r 2,170 4.3 1540 5,090] 52.6% 1| XHE E%EAM 1,510 100.0%
1541512 EEleind 6,213 43 1541 39,992| 52.3% X HEm 2,041 100.0%
1542|512 Nt 15,539 4.3 2,712 52.2% 1XDE FiEh 4,045 100.0%
1543| FE B k¥ 4,160 4.3 325 | 52.0% HKXPE L2HAHH 2,270 100.0%
1544 | E 2 H T 901 4.4 395 | 52.0% B B 2,573 100.0%
1545 ﬁ?kk% h BT 845 44 4,925 51.7% X EENi 1,599 100.0%
1546 | 4=l X 7] BT 1,303 4.4 1546 1,058] 51.6% B BB 92 100.0%
1547 |t JII A BET 2,307 44 1547 33,144] 51.4% X B Hi BT 2,405 100.0%
1548 | FI[E EFM 4,066 4.4 1548 2,763] 51.3% 1| XHE NERE 617 100.0%
1549 | RIRIZ E L) 1,140 44 1549 5455 51.2% X R ERET 1,050 100.0%
1550| FE 2 JB 4,672 4.4 1550 B& 3,661] 51.1% =158 HiE 22,836 100.0%
1551 [ E 8 76| [ BT 936 4.4 1551 800] 50.9% T =T 32,149 100.0%
1552|4212 EEATS WA S 318 4.4 1552 4,286 50.6% S B 13,963 100.0%
1553 | @[t IR JK S HT 1,993 44 1,258] 50.5% HEE FE R 9,270 100.0%
1554 | B FR &R FEX 12,476 4.4 45 | 50.0% =5 E INFRTH 3417 100.0%
1555 |IF 218 ART 7.934 44 548 | 50.0% HEE B [ 5,090 100.0%
1556 |M=)IIE [#Ed 265,135 4.5 248| 50.0% =158 EXohH 1,277 100.0%
1557 | iR 2 Ey - V] 2,712 4.5 60] 50.0% T ZUOH 1,343 100.0%
1558 FEE ZHET 856 45 1558] % 10,314] 49.4% S =0 2,774 100.0%
1559|EIRER [&FEETh 11,711 45 1559 5,041] 49.2% ) FS1EL 663 100.0%
1560| =F B % SHT 896 45 1560 932] 48.4% S BN 1,365 100.0%
1561 [ ZR ik 2 R0k 10,314 45 1561 326| 48.1% T HRHET 653 100.0%
1562 |1 K12 ABABET 9,227 4.5 1562 26,029] 48.1% NEG FSEEL 1,662 100.0%
1563 | FFHE VA=l 847 4.5 1563] &= 1,760 48.0% T =T 1,440 100.0%
1564 1LL 02 Fhih 2,709 4.5 1564 1,208] 47.1% S X B 92 100.0%
1565 | &8 [ 12 EMH 7,600 45 1565]% 1,067[ 46.9% T ARIRET 477 100.0%
1566 | i 12 wEih 4,644 4.5 1566|Z& Fl & F T 4,396] 46.6% S JIIEa AT 1,337 100.0%
1567 [db3E8 | 3= 1SE BT 1,318 45 1567 389| 46.4% T B0 766 100.0%
1568 [t TRl 8,654 4.5 1568 113] 46.2% EEE P91 BT 1,506 100.0%
1569|EIRS IR |5 :RAT 491 45 1569[ = 6,414] 45.9% HEE LTS 182 100.0%
1570| RIGE BEH 3,409 4.6 324] 45.7% S ESL00 269 100.0%
1571|438 BEETH 11,128 4.6 1570 %% 33,210] 45.7% T & T AT 844 100.0%
1572 (LB ;] AL BT 1,290 4.6 1572 101,225] 45.4% =158 EFZ2A 247 100.0%
1573[RIFGE RAE RET 1,241 46 1573 5 4,834] 44.7% 1| =S F / FRET 215 100.0%
1574|EIREE |[SHRHT 531 4.6 157448 FENT 8,608] 44.2% 1EREBE [ERSH 51,005 100.0%
1575| EHRIE A IRET 582 46 1575 847] 44.2% 1EREE |EEH 9,952 100.0%
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OHEBERAIVEL—I1EHT-YDIREEEH R33.1BRE QEBEBHREDEMLANE [FER RIJIRE R F—Fyb (30MbpsLlt) R33IIRTE
G (BB RS [REES RELEH] AE [EL [BEFER [FEs REEREH % | NEf |BRE T IE & (B EE R RELEH|%

IRAET F X FHET 851 46 1576 | R &B J\SCHT 479] 44.1% 1 FE'E%LR LI 1,360 100.0%
1577|BREE [EEM 9,952 4.6 1577[ILFEZ 8 FoE[A:N 1,290] 44.0% 1EESE [MARE 1,313 100.0%
1578 | = HRIZ XAl [ BT 1,979 4.6 1578[AERIE A RSET 585] 43.9% 1 %L%%Lr {EE™ 3478 100.0%
1579 | R &R TR R 2,305 4.6 1579| FEE BT 2933] 43.7% 1EESE |[Azxh 1,174 100.0%
1580 | AR AF #EERT 2,273 4.6 1580[ILICTE TBEi™H 18,407| 43.5% 1EREE [EEINAT 7,949 100.0%
1581 [ILFLIE Em7IIARH 5,748 4.7 1581 | S1RE BHE 794] 43.4% 1EESE |HEM 3,933 100.0%
1582[5F 2 ERHT 1,058 4.7 1582 | 1@ [ 12 /NPTET 401| 42.9% ERBE [NbEBAHM 2,002 100.0%
1583| FEHE R I T 1,044 4.7 1583| FEE XEZEHR 489] 41.9% 1EREBE [BEOFhm 2,292 100.0%
1584[3#1R 12 L 13,510 4.7 1584 |#F A 2 Bt 4,988] 41.0% 1ERBE [SfHsh 2,608 100.0%
1585 B2 HER 33,210 4.7 1585| S %112 mE+H 2,240] 40.2% 1EESE |[ExXh 3,683 100.0%
1586 | IR #B e 19,332 4.7 1586 | S1RIE SEMATT 3,733| 40.2% 1ERSE [EAME 2,352 100.0%
1587 | &R AF &R 6,958 4.7 1587 I B2 12 0 AT 1,178] 40.0% 1EESE |[#Eh 1,646 100.0%
1588 |#1iR IR mAAh 4,353 4.7 1587 [ 412 % A BT 110] 40.0% 1ERBE [=ZBH 77 100.0%
1589 | 53 12 BER 3,890 4.7 1589 | FHEE 10175 BT 273] 38.5% 1EESE |[+5# 98 100.0%
1590|3788 NFATH 2615 4.7 1590[1E S8 EEE 40,503] 37.9% 1ERSE [SDOFEAT 1,474 100.0%
1591 | k3838 XL E oI 1,028 4.7 1501 [fZ=)I1E  |#EET 265,135] 37.9% 1EESE |HEBHE 588 100.0%
1592|375 18 iR BT 455 47 1592[ 1L 12 JHHT 6,825] 37.8% 1ERSE [EAREE 414 100.0%
1593[REAR IR KR 1,727 4.7 1593|FHE ARANET 817] 37.3% 1EESE |FF{R 1,010 100.0%
1594 |HF AR I2 T8h 4,765 4.8 1504|EIRE R [EX 3,683| 36.8% 1ERSE [hiEFH 586 100.0%
1595 | IR 12 Bk h 1,898 4.8 1595 | F 40112 KX OHET 2,157] 36.7% 1EESE |FEiEFEr 464 100.0%
1596 [ REFI2 B 4 1R 2,622 438 1596 | REFI2 EAT 7,658] 36.5% 1EREE | XHH 81 100.0%
1597[RIJIIE tEH 3,437 48 1597|BERIE BEAE 30,682| 36.5% 1EESE |FEHAT 547 100.0%
1598|EIRE R [iEfET 3478 4.8 1598 [#E A #RZE T 1,406 36.5% 1EREE |Z5RET 531 100.0%
1599 |B¥ 12 B F1 BT 839 4.8 159|818 =IEHET 947] 36.4% 1EESE |[#EzER 943 100.0%
1600|152 KERENT 8,608 4.8 1600[LLIZYIE £ 5894] 36.1% 1EREE | XA 490 100.0%
1601 | X912 EARN 1,003 4.8 1601 [ FEHE EFH 84] 35.7% 1EESE |[FART 586 100.0%
1602 [ = IF 12 = HT 1,440 4.8 1602 |FXHIE JEFREATT 1,678| 35.6% 1EESE |[fMZH 520 100.0%
1603[IUFYIE I 2,442 4.8 1603 |FRE mAAh 4,353] 35.3% 1EREEE |5 491 100.0%
1604|FEIREIE  |F|KTT 843 4.8 1603 | =412 = 259| 35.3% 1] hEEE SpHEE 45477 100.0%
1605 1LLZYIE B ffh 12,650 4.8 1605 | RiHE ElE 3 A 2,883] 35.1% 1][h4BE BEHZh 9,458 100.0%
1606| R EFIE B E @ 1,501 4.9 1606 | [# LLI 2 HERT 942| 35.0% 1 hEEE AiEH 4974 100.0%
1607 | %12 EEm 9,867 4.9 1607 | EHE REZET 405 34.8% 1P 4BE R 11,559 100.0%
1608 FE2 A ZEH 489 4.9 1608 | & [ IE I 4,906 34.7% 1] hEEE Z 6,434 100.0%
1609| EE R FEEHT 2,462 4.9 1609|[E B8 pNGAS-T 313] 34.6% 1iBE Ny h 6,540 100.0%
1610[#=)IE [=iEH 2,348 4.9 16104012 T ikFKT 621] 34.5% 1 hEEE PR 14,368 100.0%
1611 E=RIE AHET 2,035 4.9 1611k E 8 LI ET 901] 34.2% 1sBE EREH 7,507 100.0%
1612 | AR AT SHBETE TSRS 257 4.9 1612[dL:EE LiEE 86,509 | 34.1% 1[hfBE =T 5112 100.0%
1613[1FFE T 2,403 5.0 1613| S1RE =X 713] 33.9% AETS BT 4,607 100.0%
1614| b8 B 3315 5.0 1614 5FE iz 6,807] 33.9% METT [EEEED] 379 100.0%
1615| R B R L 6,246 5.0 1615[FEE THEHE 21,396] 33.7% 1P 4BE RERA 220 100.0%
1616 R LR HERT 942 5.0 1616 |FAEHIE EN DT 84[ 33.3% T Bt 126 100.0%
1617[EREE [mEOFh 2,292 5.0 1616| REFE /INF e BT 904] 33.3% HETEES SRCH 872 100.0%
1618 | EIFIE A 13,963 5.0 1616 XBIE REANES 33[ 33.3% T BNt 969 100.0%
1619 |3 2 AT 13,658 5.1 1616482 FBEEH 127] 33.3% HETEES E G 723 100.0%
1620 | = UFIE S ] 9,270 5.1 1620|[L S8 LEE 42,060] 32.2% 1] hEEE Bkl 4,389 100.0%
1621 [#E K E FHEH 40,091 5.1 1621|2508 SEF AT 4,.264] 31.7% 1P 4BE = FHAET 1,391 100.0%
16228 IE & AT 1,180 5.1 1622|dbH3E o F R T 426 | 31.7% 1[hfBE b % BT 3,051 100.0%
1623 |FAEHE PR T 903 5.1 1623 | B L&D R 150,770] 31.5% 1P 4BE Jb At 1,713 100.0%
1624|[LE 2 Pkt 1,745 5.1 1624|#Z%)I| 12 [fRBERT 7171] 31.3% 1] hEEE it 1,889 100.0%
1625|FEIR B8 |[FAzkth 1,174 5.1 1625] ;R 4812 5 3R IR BT 2,160] 31.3% 1P 4BE Fa R AT 3,419 100.0%
1626|FIIIE S EE 1,649 5.1 1626[ L3S Bm7ITRH 5748| 30.7% 1] hEEE 5 IR AT 2,160 100.0%
1627| =B 2 T FHET 1,920 5.1 1627 | ZIEE FHEH 4571] 30.7% 1B 7 [ ] 4,633 100.0%
1628|212 BT 9,593 5.1 1628|FJIIE EEHT 172] 30.0% 1[hiBE EERH 86 100.0%
162915 F 12 =15k 3,887 5.1 1629 FEE A T 10,753] 29.7% 1B JE R kA 98 100.0%
1630 | E 4R I2 EI5Ni 4,288 5.1 1630[{£ % 12 =B 2,019] 29.5% 1] hEEE EAE 22 100.0%
1631|2508 afrsaﬁ 3,479 5.1 1631 EHE = A 814 29.4% AETS 7BE 127 100.0%
1632|135 F 18 JB BT 1,788 5.1 1632|EIRS R [HIGTH 1,360] 29.2% 1] hEEE A XK EHT 677 100.0%
1633| SR 12 ;‘EEEF-T 3,733 5.2 16334818 AFAH 28,334] 28.7% 148E J\ E FART 3,489 100.0%
1634|5F 2 AZEH 2,507 5.2 1634 [3:R 2 FFEHET 7,177] 28.4% 1]iEE EX ) 185 100.0%
1635 | R i% 2 3] P BT 420 5.2 1635|2518 FEE 14,974 28.4% 1635|MEJINE  [)IN&GH 108,810 99.4%
1636 | db 38 BiFH 4,592 5.2 1636 | F 401 /i &8 T 3,479] 28.2% 1636 | &% [ 12 FhhE 2 66,010 99.2%
1637 | EHE EAH 7,658 5.2 1637|{£ %2 FEEH 4,622] 27.6% 1637 [ I B 12 g B2 77 30,458 98.6%
1638 |t |3 LIET 2,596 5.3 1638 |53 2 AT 1,341] 26.9% 1638 RN E RIRE 60,470 98.4%
1639 [ K E EFm 10,045 5.3 1639 | FEHE 5530 ST 782| 26.8% 1639 ;B E MEHT 28,334 98.1%
1640[ k338 2T 2,108 5.3 1640 | fE 1L FREET 3,566] 26.6% 1640 REFIE AT 18,027 98.0%
1641|4212 I 972 5.3 1641 | =RE SIS HT 1,102] 26.1% 1641 [1IIOE AETH 9,450 97.8%
1642|FE 512 el 29,855 5.4 1642 | RABAF J\bET 5,105 26.0% 1642[ 1113412 ET) 16,954 97.7%
1643 | RIR 2 MEET 3,734 5.4 1643|MZ)IE | = 8 2,348] 25.4% 1643 |dt:EE R 7,917 97.2%
1644| FEFHE Lo 3,848 5.4 1644[1E S & LLET 48| 25.0% 1644 | R &R S 150,770 97.2%
1645 FEE Wwg A 2,177 5.5 1644| REF 2 ] T AT 279] 25.0% 164511 OE TEH 18,407 97.0%
1646 [BE AR IR T 943 55 1644| REFIE BHE# 619] 25.0% 1646 ;%% 18 HER 33,210 96.9%
1647|E &2 R 7 BT 858 55 1644 |1E R 2 Ak 4,238] 25.0% 1647|ME)IE [HEEH 265,135 96.7%
1648[ihfE IR R At 1,889 55 1648| = WMIE FE&T 10,121] 24.1% 1648|fBE R EEE 40,503 96.4%
1649[ILFIE hRH 2,398 5.6 1649 | EHE BEISET 1,044] 24.1% 1649 | EIEE EBH 27,938 96.3%
1650 ;P8 IR = 5112 5.6 1650 | X #B AT 5 i Er BT 1,327] 24.1% 1650452 18 EEm 9,867 96.2%
165115 FE =B ET 651 5.6 1651 |dt:EE =4 BT 569 | 23.7% 16515 F 8 i 3,226 96.2%
1652 LI IR KR 5958 5.6 1652 =W J11 s BT 525| 23.3% 1652|[L S8 VN 16,133 96.0%
1653|2012 i 3,268 5.6 1653 |dtiEE A 99 [ 23.1% 1653 | FIFE Bt 3,730 95.8%
1654 R TRX 33,144 5.6 1654 i B 18 ZaRh 7,934] 22.9% 1654 | LR EHH 4,014 95.7%
1655 SR 12 FE % O S BT 983 5.6 1655 b #EE HHEH 9,458] 22.8% 1655|[L B8 TN 101,225 95.3%
1656 [= U2 HeEgm 3,730 5.6 1656|FE RS2 |SFH 531] 22.6% 1656 | FLHIE X IR 21,396 95.3%
1657 | =52 = AT 1,662 5.6 1657 [F L8 [FnZkilih 24915 22.2% 1657| REFE E AT 7,658 95.0%
1658 |4t iE:8 Mg 6,377 5.6 1658|#Z=)I|& [/NERT 13,115] 21.9% 1657[LIOE L1 B5 /N7 R T 4,691 95.0%
1659|512 XEHR 792 5.7 1659|FHE AERIIERT 3,276] 21.1% 1659 |F0FILE  |ABH 5,200 94.9%
1660[ERS R [HKTH 4,792 5.7 1660|FE IR B2 |FISHET 586[ 20.9% 1660 | &% [ IZ EtX=m 10,475 94.3%
1661|&EF 2 E5h 6,807 5.7 1661|[L B8 &Il 36,950] 20.9% 1661 |Jt:EE EEAT 3,886 94.1%
1662 ;h#8 IR 76 [ BT 3.419 5.7 1662 LS E CNiil 15,539 20.9% 1661 |12 2 )il 3,640 94.1%
16634812 SlRIZH 872 5.7 1663[ 1L BN 2,234 20.7% 1663| SR HEM 14,410 94.0%
16645018 —=m 31,683 5.8 1664|FE RS2 |RF{HET 1,010] 20.3% 1664[ILOE [ i T 8,996 92.9%
1665|252 WhEmh 24,372 5.8 1665 | 1= @ 12 STH 1,114] 20.3% 1665|F R E +FEH 4,094 92.0%
1666 [ FZ2 fELLTH 2,933 5.8 1666 | k& FEh 2276 | 20.2% 1666|FEIRSIE [RESHT 855 91.7%
1667|512 SR AT 1,076 5.8 1667|=ZHE R IERET 582] 20.0% N E I E S 2,424 91.3%
1668 [ 112 iR 10,772 5.8 1668 | RIWIE FET 3,896] 19.6% 1668 |4k ) 3315 90.9%
1669|=F 12 HER 2,148 5.9 1669|HE K2 KEd 1,727] 19.4% 1668 |db & X SERT 542 90.9%
1670 | #2312 BRIZE T 9,901 5.9 1670 R &R PR R 13,959 19.2% 1668[ LIS IE FET 2,535 90.9%
1671[ILFZ IR [ITpL:y 1,133 5.9 1671|258 EET 4,644] 19.1% 1668|EEREIE [HAB™ 6,933 90.9%
167235 F 18 SEAT 4,298 5.9 1672[ ;R {82 S5FMm 12,350] 19.0% 1672| 1@ 2 i 2,757 90.0%
1673[1FF 2 =HE 2,197 5.9 16734488 AKX BHT 677] 18.9% 1673 |dt:EE AT 2,240 88.9%
1674|fES 2 £ FHHT 1,914 5.9 1674[ k& EE 614 | 18.8% 1673 | F401E S 10,397 88.9%
1675| R B REEHh 8,008 5.9 1675[Z)1E |1 108,810] 18.6% 1675]dt & L ERAT 2,055 87.5%
1676 |12 kit 3,694 5.9 1676 | = UFE EEG 32,149 18.4% 1675|AIJIIE HINE 22,599 87.5%
1677|ZRE SEEERT 1,189 6.0 1677| EEE FEEHT 2,462] 18.1% 1675 | LR SEETET 972 87.5%
1678 | IR #B B6X 29,231 6.0 1678 RIWE B 1,898| 17.7% 1675|FEIRS 12 |§RITHT 483 87.5%
1679| FEE B ETH 10,753 6.0 1679|MENNE |[EARH 16,932] 17.0% 1679| = iE 2 FEER 2,260 86.7%
1680| Rk 12 EREh 5,368 6.1 1680[ILLICTE i 2,126] 16.8% 1680 % [ \2 FpE 48,042 86.3%
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REHMNRC FRICEITIEDICTIRIEOBMHRE (1)

OHEBERAIVEL—I1EHT-YDIREEEH RISIIRIE QT BEHEDEMLANE R RIJIRE R F—Fyb (30MbpsLlt) R33IIRTE
IEGL |BR BRI [BREER RELEH] AE IEGE [BRBERFE R [REER REEEH % JEGL [FRERFE 4 [FREE S REEEH%

1681 | @[ IR JIT I BT 1,144 6.1 1681 | RABAF TEERT 3,243| 16.8% 1681 |[EEEEE |[EREE 28,704 85.9%
1682 | AR AT J\i& 5,105 6.1 1682| EEE S 7,166] 16.3% 1682[dtiE3E AT 659 85.7%
1683 S EYIZ KFh 11,464 6.2 1683 | 5% I2 =i 1,217 15.9% 1682[ k& iR ZHET 2,108 85.7%
1684 | kIR 12 R T 3,955 6.2 1684| % E EESH 3,734] 15.8% 1682[ILIZIE LHET 1,264 85.7%
1685[ I IE EHm 1,837 6.2 1685 | RIRIE ti@h 10,069] 15.4% 1682| REFIE R 2322 85.7%
1686 | FEE EBth 3,396 6.2 1686 | F %2 SR AT 1,046] 15.3% 1682 | B4 [E 12 FEHH 4,165 85.7%
1687 [ AR AT EE3nd 6,288 6.2 1687 |# {EiET 3,270] 14.7% 1682 | RIFE EENT 10,961 85.7%
1688|=F 12 7 E7 BT 3516 6.2 1688 s 7,415 14.6% 1682|EE R B2 | KIGHET 897 85.7%
1689 |4t ifE ERAR T 15,352 6.3 168918 RigH 8,196] 14.2% 1682[;h{BIE SAFM 12,350 85.7%
1690 &2 ZIERE 2,204 6.3 16903 J\bEETH 2,053] 13.5% 1690| B4R 12 i 2,813 84.6%
1691 | @[ 12 ABXH 26,238 6.3 1691]= ES L 215[ 13.3% 1690|FEREE |EASHE 1,047 84.6%
1692|Z 18 I@m 8,053 6.3 1692 EBET 17,900] 13.2% 1692 | = 5018 M5+ 2,240 84.0%
1693 | HFHE tFHT 929 6.3 1693 MENH 2,442] 12.5% 1692 | 1@ 12 HI 4,906 84.0%
1694 | K2 HAT 11,286 6.3 1694 BRFE T 21,778] 12.3% 1694| EHE T BRET 1,046 83.3%
1695[#Z=)IE [HEES 27,773 6.4 1695 —BgmH 7,808 12.1% 1694 5F 2 ERHET 1,058 83.3%
1696 3% 12 Et=h 10,475 6.4 16963 FE BB AT 1,655 11.5% 1694 |15 [E 2 FAAITAT 2,500 83.3%
1697[FE 2 AT 13,850 6.4 1697 — =1 31,683 11.0% 1697[dLiEE 251 1,851 81.8%
1698 |2 12 BEAh 4,565 6.4 169888 I 3,796] 10.9% 1697 |fAHE [MTEA: 1,537 81.8%
1699 | IR B EEET 3,033 6.4 1699 K AOET 2,589] 10.9% 1699 |k R ERHT 1,336 81.3%
1700| kIR 12 3Lt 11,803 6.4 1700 1110 BT 1,133] 10.9% 1699|EE RS2 [P MET 665 81.3%
17013 E R /MITET 1,602 6.4 1701 STALET 810[ 10.8% 1701 |4k EXLE S0 1,028 80.0%
1702|{E %12 PE[A:] 810 6.5 1702 BEX 46,652] 10.7% 1701|3t383 i 661 80.0%
1703[HEE e 2 BT 1,010 6.5 1703 BEAH 4,565] 10.1% 1701 1,044 80.0%
1704| EER IS 7,166 6.5 1704 BEEh 2377 9.6% 1701 847 80.0%
17055 8 A 6,185 6.6 1705 EXshd 2039] 9.5% 1701 521 80.0%
1706 | IR 2 AR E h 3,915 6.6 170618 hR 2757 9.4% 1701 1,582 80.0%
1707 B3R 2 BHEH 4,165 6.6 1707 & fE i 3887] 9.4% 1701 [FALL 7,878 80.0%
1708|412 BHER 4,622 6.6 1708 Bl 1,565] 8.5% 1701 B % 585 80.0%
1709 | @ fE 12 X2 HM 7,796 6.7 1709 Ik B 71 30,458| 8.5% 1709 [BERIE 3,796 78.6%
1710| R EB IEIIX 49,327 6.8 1710 B o R TH 2,622] 8.0% 1710 253 75.0%
1711|438 Bl T 3,020 6.8 171113 S HHET 1,180 7.0% 1710 182 75.0%
17122 &8 K= 2,536 6.8 1712 5 575]  6.7% 1710 802 75.0%
113 [MENNE [T 108,810 6.8 1713 3 )1 ET 985 6.4% 1710 949 75.0%
17144812 JL A BT 3,051 6.9 1714 " 3,930] 6.2% 1710 1,327 75.0%
17155 F R AT 26,349 6.9 1715 AMiET 2,188] 6.1% 17103 1,180 75.0%
1716 #E 12 = FHRAT 1,391 6.9 1716 Birm 11,803  4.8% 1710/ 436 75.0%
1717[=BE H @ 5,090 6.9 1717 =@ 3482] 4.7% 1717 673 72.7%
1718 | &8 12 AT 4,584 6.9 1718 [N el 1,762]  4.7% 1718 618 71.4%
1719 |43k 2 Hkh 4,238 6.9 1719 =E=11 1,740  4.5% 1718|& 621 71.4%
1720|2508 R 17,096 6.9 1720 Rl R BT 4633  4.2% 1718 4,792 71.4%
1721[5F 8 B T 8,304 6.9 1721 ki 5368 3.8% 17184 BT 1,181 71.4%
1722| FEE BER 2,389 7.0 1722 Eokid 4668 3.3% 1722|dLEE Bl AT 1,313 68.8%
1723 EHE =Rt 3,148 7.0 1723 i 5186 3.2% 1723[3LEE 2 F fFRT 354 66.7%
1724|5F 2 BE [ 21,778 7.0 1724 REHH 7,331  3.0% 1723]dt & IR 395 66.7%
1725|RIRIZ TEH 10,069 7.1 1725 il 3,345] 3.0% 1723 |EE 2 SRR 588 66.7%
1726 &2 ETI:3 1,249 7.1 1726 2 S HT 949] 2.0% 1723 | R #B EET-100 215 66.7%
1727|@=NE  [BEARTH 16,932 7.1 1727 i 21,160] 1.9% 1723 (3R E b BT 713 66.7%
1728|252 BB 6,118 7.4 BT 6,377 | 1.9% 1723|EHE ST 1,264 66.7%
1729|508 BmEM 14,974 7.1 DG 5079] 1.0% 172388 TIET 1,396 66.7%
1730[ KRB R I A 469 7.1 E i 5012 [ 0.0% 1723| EIFE /ME BT 126 66.7%
1731 [ 2182 Etia 5,186 7.2 HILT 12471 [ 0.0% IR EY S H 843 66.7%
1732| &R 2 B 7KET 2,578 7.2 ZRIH 3020 [ 0.0% 17324t Eiki 1,155 63.6%
1733[E5F 2 2RET 2,551 7.2 =R 3,148] 0.0% 1732[RERIE KEMH 1,727 63.6%
1734|fE 52 145 732 BT 1,192 7.2 oW 3,848 0.0% 1734 REE |FEET 11,711 63.3%
1735 = IR 2 RIRET 477 7.2 ZEIHAT 348 0.0% 1735| RIFE il 1,827 63.2%
1736 b8 BREh 5717 7.2 HF-HT 283  0.0% 1736[dbiEE B 499 62.5%
1737|4@ 12 fie] 5 BT 2,691 7.3 IR 4,825] 0.0% 1737[4b3E5E 2RIl BT 395 60.0%
1738| EF B LI FH T 902 7.3 SRIRET 2551]  0.0% 1738[1IIZ4 2 XA 1,208 57.1%
1739 | R #B E2Fh 8,039 7.3 LLI B T 902]  0.0% 1739[ k& PENH 101 50.0%
1740| EHE 3,276 7.3 7 = RERT 750]  0.0% 17394t 8 o i 7l BT 91 50.0%
174133 EF R 15,816 7.4 PNEL) 484 0.0% 17394t 58 {& = T 342 50.0%
1742| L8 1,719 7.4 EXAHH 3,255] 0.0% 17395 HE A ¥ A7 283 50.0%
1743 | #2312 2,500 7.4 |5 BT 1,076  0.0% 1739 | =WE + ~ fERT 61 50.0%
1744|[LE B 101,225 7.5 T 4ERET 335 0.0% 1739|=HE R IERET 582 50.0%
1745| R EB 5,455 7.5 LR 251 0.0% 1739|FAHIE EELN 140 50.0%
1746|EEE 3,128 75 & AT 1,350]  0.0% 1739|EEE /NEFET 699 50.0%
1747|9812 4,633 7.5 KRBT 390] 0.0% 1739 B2 R AT 44 50.0%
1748| FEE 98,487 7.6 FI 4R BT 883 0.0% 1739| FEE B R ] 432 50.0%
1749 I 218 303 7.6 B ET 845 0.0% 1739[1IZYE INEH 48 50.0%
1750 | 53 2 10,555 7.6 R 3694 0.0% 1739 EHE REH 116 50.0%
1751 i #818 12,350 7.6 R HT 1,010[  0.0% 1739| REFE N 266 50.0%
1752| #5128 1,604 7.6 A ISRHET 2,996] 0.0% 1739| RHFE PIES 708 50.0%
1753| L& 8 2,421 7.6 REAT 13,850  0.0% 1739[EHE FoTIES 515 50.0%
1754|4812 4,389 7.7 Pk 7,827 0.0% 1739|212 EFEA 259 50.0%
1755|8512 1,350 78 FEHE 4,295  0.0% 1739 =52 RN 93 50.0%
1756 |JL3fE5E 2,276 78 HMRET 2,149]  0.0% 1739|EIRER  [FRH 113 50.0%
1757[[LER 1,107 7.8 Gl 31,412 0.0% 173944818 BEEH 136 50.0%
1758 | L8 5012 7.9 FEH T 7.674]  0.0% 1758| SR8 Ehn 2,667 45.5%
1759 | HEHE 2,039 7.9 PEESH 4,204] 0.0% 1759 |4k SEET 462 44.4%
1760|EEAE 6,944 7.9 1730| G &R H=BHHH 6,302]  0.0% 1760[{£ % & BT 2,019 38.5%
1761 ILFLIE 5,894 8.0 1730[#z)NE  [FIIH 193] 0.0% 1761 | S1RE &= BT 713 36.4%
1762 | &R IE 3,896 8.0 1730[31 B8 INFART 2615  0.0% 1762|dt:EE SEH 325 33.3%
1763 | @ 12 3,115 8.0 1730[#RE 5 R BT 455 0.0% 1762|db:E:E 7a AR 60 33.3%
1764| FEE 3,365 8.1 1730|8HE ith FH T 116]  0.0% 1762| SR E AR BT 309 33.3%
1765| IR 21,160 8.1 1730| REE EEAS 42| 0.0% 1765|FEIRS 2 [[ZEKHET 581 28.6%
1766|212 1,679 8.1 1730| R E RRAER 147]  0.0% 1766| 5 E NG 380 25.0%
1767 | &R 6,478 8.1 1730| REFE FSE 515] 0.0% 1767 | S8 1 FEET 1,058 14.3%
1768 | Rk 883 8.1 1730[I% 2 12 TEH 2,228 0.0% 1768| = E B 5579 3.1%
1769 | KR AF 743 8.3 1730[ I 2 12 J\EZRT 662] 0.0% 1769 RINE EEXEMH 2,575 0.0%
1770|2502 7,370 8.3 1730[IF B8 B 114]  0.0% 1769| B8 L EF4 63 0.0%
TT1BER 2,149 8.4 1730[IR B2 RN ERRRREFAE 200] 0.0% 1769 | R &R FEH 32 0.0%
1772| RREB 13,959 8.4 1730|2512 ENGH 15,759 0.0% 1769[ILZIE B 4,875 0.0%
1773| BB R 19,430 8.4 1730|412 FRRM 10,772] 0.0% 1769[1LLIZYIE A O PR AR S 546 0.0%
1774| EHE 7,331 8.4 1730|5018 Bigh 10,397] 0.0% 1769| EE 2 N ET 159 0.0%
1775 | 4@ fE 12 8,196 8.5 1730|4018 HEM 7,370[ 0.0% 1769| REFE {E A TERT 745 0.0%
1776 | R &R 8,979 8.5 1730[# B8 EX 6,654]  0.0% 1769| EEFE [BEESH 38 0.0%
1777|RHE 745 8.6 1730[i#% % 2 EEnd 3284] 0.0% 1769| REFIE ER T 725 0.0%
1778 | R ERAT 4,431 8.6 1730[i#Z B8 BT 9593 0.0% 1769 | F5 2 BT 1,429 0.0%
1779 | E#E 12 2715 8.7 1730 | SRABAF f3and 6,288] 0.0% 1769 | F% M 12 H B T 311 0.0%
1780| BB B 2,996 8.7 1730 | S #B AT BT 6,958]  0.0% 1769| REE REM 2,770 0.0%
1781 |4@fE 12 6,421 8.7 1730 | SRABAF B i 4431 0.0% 1769|ZRE EANE] 33 0.0%
1782[IFE R 4,264 8.7 1730 SREBAF FF BT 430 0.0% 1769| SR 2 T 15,839 0.0%
1783|IF 212 356 8.9 1730| KRR AF XHH 6,015] 0.0% 1769| SR X200 392 0.0%
17841 FE 2 8,438 9.0 1730| RER FEEE T 3,033] 0.0% 1769 B8 1 = R AT 485 0.0%
1785| R #B 8,078 9.1 1730[|ZRE S 55| 0.0% 1769 | 1@ 2 DI 5,079 0.0%
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OHEBERAIVEL—I1EHT-YDIREEEH R33.1BRE QEBEBHREDEMLANE [FER RIJIRE R F—Fyb (30MbpsLlt) R33IIRTE
G |BRE R [BREER RELEH] AE | JEf | R ERFIE [BREE R REEREH % | NEfE | B E R (SR EER RELFEH%

1786 E 2 RETH 7,827 9.2 1730| B2 EFHE 1,920]  0.0% 1769 |{@ M 2 RIEH 133 0.0%
1787|=EE 2SS SMRETERAS 405 9.2 1730| LS8 ERd 2298]  0.0% 1769| R A& Pt RS 1,063 0.0%
1788|812 dLhImE 1,713 9.3 1730|LE R ;15 T 2421] 0.0% 1769 [AERIE e 1,383 0.0%
1789 | R XTI 10,820 9.3 1730| LS8 SR AT 1,107]  0.0% 1769 ;i8R FIIH 369 0.0%
1790 | R &R HELHHH 6,302 9.5 1730 iR 2 i din 2813 0.0% 1769 [P {82 EEH 48 0.0%
1791|Z 518 RIRET 4,267 9.5 1730| R AL =R R 387]  0.0% 176944882 FAR 129 0.0%
1792|153 F 12 EX NI 6,567 9.7 1730| 1@ 2 AB XK 26,238] 0.0% 1769 [P {BIE JEXE 51 0.0%
1793|LE R FETG 36,950 9.9 1730|182 AR EH 2,563] 0.0% 1769[;PFBIE 5 RS 113 0.0%
1794| BERIE RFHAEER DR 468 10.0 1730| 1@ 2 JK BT 1,993 0.0% — |5FE bt 7,415 —
1795| R B Pt 4,204 10.0 1730[4E R & SARITHT 2,500]  0.0% — [BFEE [Ghid 10,698 —
1796| REFI2 /N B T 904 10.0 1730 fE 2 )BT 1,679]  0.0% — |ERE# BEX 12,744 —
1797 | R EB INETH 14,155 10.5 1730|182 )11 1% BT 1,144]  0.0% — |HRE# EARX 8,744 —
1798[E5F 2 EiRT 4,825 10.5 1730 |12 [ 12 KAEHET 417[  0.0% — |ERE# 25K 11,484 —
1799| EEE EiEH 17,426 10.5 1730|182 F=Li 1,861] 0.0% — |E=#H S 7,674 —
1800 ;#8128 T 14,368 10.9 1730 |12 12 iy EH BT 3,115] 0.0% — [#HEINNE [HEh 11,260 —
1801 ;44812 HEZH 9,458 11.1 1730|122 ABKTASTEEELEES 235] 0.0% — [EH#HE B LLI AT 1,565 —
1802| FEIE ERsaad 13974 11.7 17304 B8 Bt 6,891 0.0% — |[EHE 7k £ S5 BT 1,438 —
1803 [T H% 13,560 11.8 1730 RIFE HET 10,961 0.0% — |ZxE BT 4,644 —
1804|4012 ENGH 15,759 12.0 1730 RIFE & 2,129]  0.0% — |#EE S=n 3,284 —
1805|{fE %12 Bifith 6,891 12.0 1730 RiFE ETGH 3,184 0.0% — |EEE BHbLh 3,059 —
1806 | 5% ] 12 EBRI5 T 7,371 12.1 1730 RIFE [ ==L 1,063]  0.0% — | EEE Ehb L mNATEE 438 —
1807|4EfE 12 A B 9,372 12.6 1730 ERE XM 61,458 0.0% = =1} K 3,345 —
1808 |42 ] 12 B2 6,176 12.8 1730[RERE ZEIRET 3270]  0.0% — |BRE AB = R ET 387 —
1809[BE B REHT 4,295 12.8 1730| X & Ao 38,540]  0.0% — [RIBE ERES 19,718 —
1810| 4@ 12 A=kl 11,105 13.4 1730| KH 8 EART 1,003] 0.0% — |RIBE AT 1,762 —
1811 FEE GG 31,412 135 1730|EIRE R [Az&M 1,174]  0.0% — |[RIBE SEm 2,129 —
1812[& 508 g 10,397 13.8 1730|FEREE |55 RET 491]  0.0% — |BERE FEM 3910 —
1813 %2 fE 2 HERT 9,059 14.0 1730[ ;R 4812 BT 14,368] 0.0% — [ExE AEIRET 3,270 —
1814[IIZ IR ] O AR R AR AR S 546 144 1730[;h{BIE AEKM 220 0.0% — [EERE R A BT 845 —
1815| FE B [T 2,964 15.8 173048 E EREM 22] 0.0% — XD E Ao 38,540 —
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